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.

it =pf @It 90° G (5T I T LT ST P (T
RSH
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I |

“They are eating mangoes”-change
passive voice

a. Mangoes are being eaten by them

b. Mangoes can be eaten by them

¢. Mangoes are going to be eaten by them
d. They have eaten mangoes

ans. a

IR Passive Fare =, Object as subject +
Auxiliary verb + V3 + By + Sub. as object

They are eating mangoes.

= Mangoes are beging eaten by theM.
Continuous Tense T

Obj as subject + Auxiliary verb + being V3 + By
+ Sub. as Object.

G5 FACHA fIPER THRRET 6° T TSN
(A ERICIEACH

into

3. 48° 9, 42°
1. 40° q. 35°
Te: ¥
T A
B C
SN TS, A+ 2C =900
/B =90° =/C=90%- /A
Z A+ C=90°--(1) - ZC = 90°- 48°
2P, = 420
ZA-/C=600---(2) ..LA=48°
1+ + (@) = /B =900
/A+ /C+ /A-/C= LC=42°
90°+60° e /C = 420
96°
=2/A= —
2
=480

GF0 WA 3/ AT (ATF 5/8 T [T I
Reamere 20 T | TS o2

F. woo <, 80
9. S0 q. o0
Teq: 9

do.

Skl < e = x
X_X_20
3 4

4x —3x
j— =

12

=x=20x12
o X =240
TR AL Y[© T (P62
. (AI-ome <, Sfg-oTTe
of. @ q. Wfa
T ¥
ot fFe
5. IO TR
o, O =L
T ¥
SRl T A (A Ty @ e e
I
TFRCACET QRACET (FIHBeE Pacemaker T2
<. Bundle of His
4, Atrio-Ventricular Node
. Sino-Atrial Node
9. Putkinje fibre
Teq: o
MR Sino-Atrial Node ®F s s ar
W AwEw A3 BOSw T I oy
@AG?

20

o, THRET 2OIF
v, @iV T

3. O @Y I ¥, Tz fen
o, S5 YR e[ T, Tw fqeq
Teq: o

SR S 7R @_ITed 0 @K = @3 iR R
B BT o191 F% =7 |
‘Mr. Sarwaris__ M. A.’ Fill in the blank with

correct one.

a. the b.a
¢.and d. an
ans. D

G IH TS IS LIS (T 470 {fewan w062

F. LA <, fqcarse
o, &f e q. 9y e
Teq: o

Ml fRF e ISR 1776 (C = C) 70, REeH
IRERIRN
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o, ANEE SHF q. gftafes sfiam

e &

NRE <, T7, femw, ffeeT, Ipmm ze@T T
G Al Gifers WL |

TR @ TR (FIAG JRAT FHoT A (72
3. oo <. Spiioae s

1. IR q. eTare

T 9

RN TR ¢ ST AR Few P o7
ZCET-STeTar=

T RS (AT I (I ACF?

. =TT afg . ST

. IO 9. wifgs afyg

Tex: o

RURAIR Tl A oo oot |

“All flowers are nice to look at”- Here ‘nice’ is
a. adjective b. noun

c. adverb d. pronoun

ans. a

Sk Nice flower.

Beautiful bird.

QeTeTl R Adjective.

TTAGER N AGIIC (I (GO F& FCACR?

. AR B <, G

o, FETOT ERA EI RS IR

Tem: ¥

IR SoUs TR R of T = AR g
QI TR R SCHIETT Fol (T S ATTGI |
“Goods” *fbq “iffeifts o @2

F. AT ¥, 47 oI

o, AL q, et

Teq: &

S Good (Adjective) = e

Ex: He is a good artist.

Goods (noun) = A%y

TOTEER- 97 F0SF AT e

<. ferifers <. et

o, featiforer 9. fReaeiiEs

Teq: &

fRCTIEs- TE o

fBemTfae - qeee @
BT A (I (FICT ST AT 2

T, (@ fee TSI (S TEFHOF
o, fomrg q. TP (ST
T T

.

R0,

Q0.

2.

9,

R8.

PR ©fE AFrwt : e

ARl TS TF @R AN rete @I affer @iz
Te dlaer WEFEeT e W EnRe  Tesfa
SfEeEITS 76T W R TF© ¢ TR /TR |

@ a- 6, a7 ves ReaEs Fot AT @AG?

s. (a+2)a-3) 4. (a+2)a+3)
;. (a-2)a+3) 7. (a-2)a-3)
maz—a—G

—a’-3a+2a-6

= aa-3)+2(a-23)

=@+2)@-3)

R T (@I @01 =it (Placentation) =inezt

qRM?

3. AT (Apical) <, 17 (Basal)

. SR (Agile) o, i@ (superficial)
3 of

S NS (Malvaceae) ¢ 51t e (o,
BT, B, (TBI2G, FeToW) AT AP AT

S (Agile)

AR SEETEIFIAT IR SRR LT 7T ({52
. (VRS 4, fFries

. QUFEREs 9, CHNTSR6

T3 9

Ul s At R ey |
CEMASEDSTR febraens Afee = | Greres
e 8 (AR Wl |

Superlative form of the word ‘Easy’ is-

a. more easy b. most easy
C. easiest d. easier
ans. ¢

m Easy (positive) — Easier(Comparative) —
Easiest (Superlative)
GFF BT AR GG SO T=AMC FI4F Swie

ar

T, A 4, gfE

. e RiER T, (oM MRiee
T g

M 5 GNP et feitgrar sramie-82.59%, R
QTeT Swiw 13.47%

[SICIERIEIGE

a. Cycas b. Podocarps
. Zamia d. Pinus
ans. a

M Cycase I =8 G198 QM| e ST
taf*iEy Sifreice fege & Cycaldes @3 e 21w
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<. y09° q, dos.€°
V. dR0° ¥, do8.¢°
T3 9

Sl NHs 37 et = 107°
AR SO SIS 69 (Rt AC2-

%, 4, A5, ¥ 4, oI, A, e
S, IO, 4, A 9, i, oI5, 4«
T T

RURAY TR SIS SSIs- ~fifeite ST S
T * 9T 9RO TOF AT GFT6 FCF QIR AW, PO
ARy foqls Arel R #ATer T At 9t v
O |

T Aved Rpyfe sReeea e

. A ARG
. @R . =M
T o

RIRIE ¥ F0eT SR SRmordy @, o Rpfs = |
8 @ S swnd ¥, o [Rpfe @R @eft
AT SHAd : 380-450 nm

T (ATF T AE - AT TN (ACF (P FEP?

F. QoM 9, IO
. 9 q, 3%
T T

Rl S TR [efed o =, 9 oA
AT 2eTl- el fbr amee 20 / (At Spret @ w4t
R AT |

fqsa @=fG (a2 + ab+ ca+ bc) @3 Seomes fqraaer?

+. (a—b)a+c) 4. (a+b)a-c)
. (a+b)a+c) 7. (a—b)a—c)
Tg o

Sag a° + ab + be + ca
—a(a+b)y+cb+a)
= (a+c)(a+h)

i e A’ @t @I e Snirger?
3. IR T <, ISR AT
o, Ty a1y ¥, %R AT
Ty

RIRIE 7% TR TR B FFTAIC qF(6 TS
S (@) AP IR AfSB AW “iwg Sedq T
Qg5 AT

1 , 1
X+—=3 T X +— 93 I« F9?
X X

F.09 q. 9q
9T v 9. do
Tg o

.

09,

8.

O¢.

O,

09,

PR ©fE AFrwt : e

ﬁ 1
SINIE TR =TE, X+ — =3
X

x2 +i2 = (x+1)2 _oxt
X X
=(3)?-2
=9-2
=7
Past participle form of the word “Cost” is-
a. costen b. costed
C. cost d. coatend
ans. ¢

SRR Present - Past - Past participle
cost - cost - cost

Read - read - read
NG (I AT (SPAfers T2
. ApArAET ¥, @76 WoT
F. IS q. GIFT
T

SRl ~RAE IR RewE @3 e | FEey
QTR TG ST | G GFAC R 8 I (74T
A | O GTF ARI I+ & |

He home night’ Fill in the blank with the correct
one.

a. comes b. came
c. is coming d. was coming
ans. b

RO 2RI (IGT (& S84 1 27 2

F. x¢ forma,R038 4, b ™ 208
. QY T, 09 q. 9o TIET, 039
T

RURE TR &R TGRS STRA I QRNEr (<
QAT Qb TR, 2023, A GFLRCE & 0T (e
T 2» 0T, 2022 |

AIFRA A (I SO AF?

7. G TET oIy 4. 7Y e Tomw
. AR ofeTe B q, Rt T i
T

S TR A R @ 93 S oFa Qe
AT RIETIETTSIC 59 F0e o1 | @b ergfeena
NG GO THAE (FY I MG TS 2 |

AN @B FE So T FACS AT | AT 12 FISHo
3¢ Tt e AR | O/ @I Fe e IS FHCS

MIGISH
TV 4 DO
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d
O GF@ — O e = S e
Y

70y % e
=y ot
. AETITHT TARYS (FHOT T 52
3. (OGNl 4 FoF
5. JRT q. S
T3 o
Ul TR N SRR Y R
Ry | Fgler ahice v e «ft tofa s 2w

) ”» b ”

b, N RS & Tl ThR g7 T ?
=, ferafeT g, oJIPIRGT
. @B LARCIEIIED
T Y
R URRRT SAefi gener  TeRY
(TR 76 T7-ProrE @ wibres [ivwes ki
8O 0T |

80. TSN (T ST HIF fizeedtifEe 4T 20vz (2

F. OINF FCZHI G Frodd

<, SR A ASTE

o+, R o sifgwr ST (o1t

9. SINE 51T AT

T

SR O f teft e @Rk Pt e
FIAET QI IC I |

Sfy ot @I 7T IS 212

., T TIE ARG A, PR A AHZE

T, FETTE THIT T, RGN THARE

Ts o

Il =7 CO, SRATETR FRRAIR FATS AR 0 |
oIz oy &=1&E CO, 9%e =T |

85.

PR ©fE AFrwt : e

83. ¥ &¥fce Sfwe = - Translate into english-
a. Sun rises in east
b. The sin rises in the East
c. The sun rsie in the East
d. The sun rise in east
ans. b
SR T T3 A1 <td The 398 &3 |

89, JIECH QT TF (I AL AT IKG ©rar
qIeET?
F. Ted A q, STAT
. SAtET-Te T, S
T o

SRR I BIGTS SIf5aaTer ST @3k e,
2 ¢ Sy qae TP S 03 ST AT |
AT RSy ANCE Aoy AT e Few (@l
TAGFIA AT I A I feeme?

T, o0 Ife wtmem 4. aFeEd fega

. TGRS ATTGZE T, S AT

T3

SR ST e i IS ST~ ey |
I Sp00 REBITH » TENIR BBACR AT Teaze
AR |

88.

8¢. Which one of the following is countable noun?
a. Honesty b. Milk
c. Tiger d. Rice
ans. c

S @R Noun word & <19 Fa1 I OIF
Countable noun 3w | @%=- Flower, Tiger, Cow,

Book, etc.
8y, “RmIR” ey 76 *od¥ 4 TR @ A2
. 00 4. R0
9. 0 A 0B
Ts of

2RI FIS T 3532 AR b SR ‘e sfasr |

‘The man said, alas I am undone’ Indirect form is-
a. The man said that | am undone

b. The man exclaimed that he is undone

¢. The man said that he is undone

d. The man exclaimed with sorrow that he was
undone

ans. d

SRR ST A Fed @RITT - Direct X3 Indirect
Face exclaimed with joy/ sorrow 73 =3 |

84.

8b. TN AN qeT?
5, pAIIT @ q. AG I
o, 9F ¥, Sfesde
Te Y

IR = e, wfeeder 9=, fifogris for 30 argfe
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e (Bfogos 9 |
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85.

¢o.

@s.

ex.

@9.

8.

ce.

@Y,

T AT AT 02

F. 59 WFRA <A, Sb OBk
. 0 SBRT T, 55 SRS
Tg o

IR <7HT Y @ (I AT Sb OB, 58
ST SRS PR |

TGS *HF TS *7 (F(0?

5. ST <, ST
. TS q, A
T

e, iy |
What is the antonym of the word ‘Knowledge’?

a. cognition b. ability
c. ignorance d. intelligence
ans. ¢

RN Knowledge (=, &) @3 Antonyms ZeeT-
Ignorance (Steest), Illiteracy (=)

Plural form of the world ‘Appendix’ is-

a. Appendices b. Appendixs

c. Appendises d. Appendixess

ans. a

m Appendix (Singular)— Appendices (Plural)
fem difite OH ¢ H™ @3 st qvi@s sig=ire
o2

3.0 4. 107

A7 T 1

Teg

SRR e “nifete [OH] = [H*]
=107M

coEgAe =107:107 =1
> TLFT FIOA @ B AL JRGW AU TSI T2

. dooo ¥, doo

TS q. Yo

Te o

SN ¢ S TSR A = 30000
8 ST I8V AT = (—) vodd

AT = N

fewfe’ wwa 9 fF2

3. afsgy ¥, GeEpfs

. wwed . AN

Te o

RN reavfe o o “Teerfs’ a1 TRy
I YfecaraT (s S W IR (@Y Skige?

EIRIBER ¥, fFriaee
o, G q. o&re@
Ts

3 7 Yferrar wwe gfw eI SeRetes
TATAT SR_BS | b (TP 09 AT
erqETaT (1< 2T @it Srargs S |

(&}

(¢

€S.

Yo,

L.

LR,

YO,

PR ©fE AFrwt : e

. FET NPT TR ORI Feeqers JIZS &
T2
BRI CISE ] . e
. e 9, (Aqeq
Tg o

SRR SeTTed G @56 AP ACe FAT A
FAFSR MRy RSMetTa Te 76e FXhe 2AREEr
T
7 @FGTe FerE SpifEe e
. RN FEART 4, @AEF IR
F. TYIFAR q. oM ey
T3 o
RN ST BATEICS TS AT T |
IR FIT Sl 77 (=62
. T ¥, JAfeeR
o, el q. e
9
. - SIS
‘He is too weak to walk’-change the sentence into
complex.
a. He is so weak that the cannot move.
b. He is not weak to move.
c. He is too weak and can’t move.
d. He is weak but move.
ans. a
RIRAY I TR T 00
T SO ... that T=® =7 |
w7 gg@fercs W | Translate into english-
a. He is at home in English b. He leans English
c. He is in home in English d. He talks in English
ans. a
SIRAg Home in =w=; Good at = 7%
b,53,59,38,@9-----——--- Sifere =S 7S Fw2
F.ro 9. d0d
V. dox q. Lo
Ts
NN b +o=

S+ Y =139

24+ 3R =\

W+ W =@

@9 + 8b = dod
AILFT & ol I AGCR QIR ST AL AN @or

QAR |
Ao Fodre == oot (G2
F, SR AT 4, qF-fam
. ASPE-JRATE 9, SIF-SICAoR
B9
Pk — faedre ==
e - oI
BT - DS

@)w{{-bQQoo)
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L8,

Le.

LY,

L9,

Y,

Us.

qo.

e ACAATGIES e @me 717 52

T, AP ACAAGI A, FACASEI AT
o, SRIOFAR ACAAGE q. STALCFAR AR
Te Y

Ul T TR @ AN SRIeENE

ACHATG GFE ST Mifer FAAIRFETF |
"TERI” AGATACR (I NLCETF (&I T2

5. WIF <, Pt

5. olidey bEA T, AR

T3 g

S TSR AT @F eFR TR RS | J7ed
ETTE ST G [ &bfeT® |

Teifer e e soert wfze e e &g
IECR?

F. W% ¥, 80%

F. % 9. ¢o%

T o

BRI T @S femes focaeeta oFta vo o1y i,
20 O 7FF 8 R0 Ol (AT (BT BT TR |
PRIGEE A4 dfeawiael & feere

¥, shviE @R <, ISR TG

o, AfRAR dre q. M TeTY

T 9

RIRIE FrarerSTate o4 elfeqea fe et Ioea, A
A I& (R0 ©IF QT IEA (@9 |

e Swa @A R e e [F S w4
e ?

F. RN ©7 SrAN@r . B 8 orAEr
9. B q, S@r
T o

SHN@ 37 ABCE, S ST B IRWATS
Afafee = |

What is the complex form of the sentence? | saw
a beautiful bird.

a. | saw a bird which was beautiful.

b. I have seen a beautiful bird.

c. | saw a bird that is so beautiful.

d. The beautiful bird was seen by me.

ans. a

Sl Complex @ @35 Main clause @32 @36 Sub-
ordinate clause 2=¢3 |

I Af e 15 ¢ o wTr (AT 3w Teolifre T2
F. AeT <, SGReEEe

o, e q. &

T

RURE STt @3 @3 TR effim @RI «F
g AN @ TREE @A @F A G IFAE
(ST (T |

aa.

Qo.

q8.

qe.

Qu,

aq.

.

PR ©fE AFrwt : e

.

‘Everyone hates a liar.” Negative form of the

sentence is-

a. No one does not hate a liar.

b. There is no one but hates a liar.

c. Everyone does not hate a liar.

d. No one hates a liar

ans. b

UK T AL Assertive (atF Negative T
20, everyone, everybody @3 #fR&cs No one,
nobody TRRE FACS T |

5, ARE 9, oG

¥, NG 8 FAHF q, rqRe

Tg o

SRR DR T AU RS O R A WG
o7 18 RGN AT |

oy o i’ @ (e SR_fgw?

3. e ¥, Toifer

. ST 9, SEGierr

B3 o

SRl 'Statue of Liberty' I, JSAETE Sbby AT
oz R fcafeer | «ft fMe3aes wafge |

BIK T (I (T I ([ IS =302
5, OR 9. TR

o, oo w, I

Tg of

SRR SO T (f4 3o 7 P ST |
[SERRIRRIEA LY

. b LA EEIRI
. 3fexryy . NS
Tg of

SR &7 - A, TR, TG
e @ @TEET e 3B SHEIIRE
Afzafee w2

<. Diastase <. Invertase
9. Zymase ¥. Maltase
T o

SUNAE 25° — 30°C i greTe qae w5 ffe
T ARG, T O 70 WIS ITSNEET 2SI
YIS FRCIBHT T PR Cofdl 2 |

TS ey ST Toe frSaeT?

. TeAM ¥, offe

o 9. GN-Aifrey
Ty

SRR I Rt Global village 3eT 3T eRfe e
ettt |

FeeI Ay aferiy @G#7 (Entropy) & #fiae =
3. (FABE 7T 4. I A

. I AN q. (I HAfFTST 2 A
T3 9

@)w{{-bQQoo)
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as.

bo.

b,

bR

b9,

RIREE el efgmy «@fie sftees = 0, T fzm
A |
=ferfel '@ il efer e ey T (I orga?

3. TG 4, FoTeg
1. /g ¥, wdeg
T o

SRR ST 31 *IFSTER TS Rt < - Bofarf,
ST, S, *[FRT, *Ffersier, Mmfersiier, 2779 |

JIETITACAT A AEwCerd &l (=52

3, T AR DRk
A, GTG Wow aror T, (2o A
Ty

SRR TETT A AT NAbTas wiwe ey g
T ety @ [y doo - oo FAWER
wrrenfafE fog Aot fac aifde |

T ¢% JATFR F© BT 3 T2 Ff@TeT S:bo B,
2?2
<F. doo
9. b¢o

T
AT N =12 37 T r=5% = > =
\ 2 = SHIE N e o= ——:1=
100

1280 5= ; p="?
100 511 1 9= 97 = ¢ Bl
.. 100 12 "= 5x12=600"
. 9T = 100 + 60 = 160 BT |
AT 160 Bt 2eet, St 100 Brsl
N
160 8
_ 100 x 1280
- 180
= 800 B
If was many years since they to Dhaka Fill
in the blank with the correct one.
a. came b. are coming
c. had come d. have come
ans. ¢
SNl Since 3@ T3, @i Wi Past indefinite 2,
2Ita 91 Past perfect 23 |
AR FHACHDR AL (02

F. Mg,(PO,), 4. Mg,(PO,)

¥, oo
9, dooo

71280 7 "

1. Mg PO,
T 9

9. Mg,(PO, )2

b8.

be.

b,

bra.

bb.

PR ©fE AFrwt : e

SRR RIS TS = (Mg(HoPOu)2)
SIS T 0F6 = Mg3(POa4)2

a+h=3 @z ab=2 7=, a® —ab+b? g7 W Fe?

IRV .o

QR q 5

T

Shag @ + b = 3; ab = 2 =@,
a’?—ab+b?

= {(a? + b?) - ab}

= {(a+b)?>-2ab} —ab

={(8)?-2x2}-2

=(9-4-2

=5-2

=30

‘Hazi Md. Mohsin gave __ all his properties for

mankind’ fill in the blank with the correct one.

a. away b.in
C. up c. out
ans. a

SR Give away 3T feaer ¥ |

IR AT Gl T 2 @ Aifore IR =032

3. AR Afore 4, F9 sifste

%, wfs A7 ofsre 9. 7o aifere

Ts Y

R TToTE SeifiE ofeey ST, IRE SR
SGST T 0T AT 7 2T |

The word ‘refugee’ means-

a. refused person b. disturbed person

c. displaced person d. replaced person

ans.d

S refugee’ = TarE; TR e BN =te ST
SFAOIR I FE |

He said, ‘Long live the president’-the Indirect
form is-

a. He said that the President live long

b. He said that long live the President

c. He prayed that long live the President

d. He prayed that the President might live long
ans.d

SRR ST (@IRATS Pray 3798 28 @32 May AR
Indirect sentence @ might Jc |

@)w{{-bQQoo)
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39,

F. T (@ 8 I YIb12 &I AP

. T (@ P AFE

. IFT @ 8 $IA YIHIZ AT

9. I 999 I AR

€39

N Te JE e e ele @ e} W
AT @R P F AA |

SR STWE 8 Yfem @I Ffa e Ky e
T4y (ATACR?

T, Y YA VAR

<, PG e SHEN

o, AT AT

9, g S SIRER

T3

S ST S SRR R o Ao
GFE GIfETE I | SobrR AN Fof “Ff @ iy 57w’
ar fore |

wEfes T e F0a?

F.58 (T 4 v

LN q. 38 Wb

B3 of

S ST Fifkoem we Florence Nightingle-
OF T (32 () ToF o7 fifere =37 |

s Wity PH dreice @i ame 23

3. Efem A EL

A5 q, TACED

B3 of

M =« Wfbw PH drerts wRas 5T (CaCOs)
(IS T |

S5 I I Srpest Ry sfee e e
JIFNCH T TARTY ¢ TSI AT AF(© (AT 772
5, SIS SIZEW

¥, q G35 G FrRPeET

o, TV & SHEAIT

q, g (1 YRR T

T 9

M T |

8.

¢C.

Y.

dA.

b,

5.

PR ©fE AFrwt : e

AT W =7 20 AGifen iy & o Feaw?

. oo g3 q, GO AW AP
. qEIEr T, WV (TS
T3

IR TP S AR o <ife A Agefen
RIS A F9ET AR, AW R @8
SRV AR G FH! AT =S |

TSR AR B (2
T, T T

o, =

T3

MRl 2Te T Zofs 98 W I WA o
AL oA |

q, 2 WL T
9, WEEE I

AT fFe

T, TG YREGTR U TS YRGS
¥, 5¢% TATT ¥, 80% TANFGRIZT
T

GFF IFF A A O PR NAB @reraretE H
19 /T A AT S SR JeT |
e 39 ( light yeare) o a2

B 9, =&
o, sifetaar 9. W@
©3q

SRR ST e g el =3 |

> SEARAY = 3 x 108 5=
T T=a qrew(Silent killer) ?

%.CO q. KmnQ,
7. NH, €. CO,
T3

SR CO (T TAI-STHZT) ATPTE T {e T
T | [ T SAHCE IZHC P& FACS AN | | W8
Y @R T NS T T *® Z0® A |
What is the synonym of the word ‘Humble’?

a. modest b. arrogant
c. proud d. lordly
ans. a

B Humble (RFe, @) = Modest (&=
Respectful
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TR o AT : T

fSTaraT 37 Ttk Sf$ A= 2033-20

s, AT @I wicfba wrmones @iy s X=5 | =@ - b7
-, A o, e b, 0% IE YA (FIF YL T & T a0 B!
of. T q. IS (A LT F© B
T T F. Lko 9. ¢vo
v [T, . Yoo ¥, 900
ﬁ"%:T ). = S, =
1 V= @ SUNOE T T A = P+ | [ e,
:M?[WHWI f= 3=i=] I P = /L
= + = Sﬂﬂ ZFIQ
T ST FI1F T | ©12 A ST S0 @ | :E(ﬁnrm) ;:m'm
2. ‘English is spoken all over the world’-Active . 720 =
form of the sentence is- 10
a. People speak English all over the world P(“ 1007 2)
b. All over the world.Eninsh is spoken — P=600
c. People speak English q. T AT rerer frae
d. English is spoken by people all over the world %, ST 3 o
ans. a
SNl Passive voice @3 object $&7 AT Active L. BT L. AT
FqF AT AR Subject €@ e T 1 @3, B3 ¥
'People’ <@ TR | Il et fra xR et epfire fem SR
o. R ¢% W, eoo BTN © G I [T F© FCE A | @AT- A7 + 7 = T, T, e Tyl
Brat2 b, oY @ WREE FEA?
T3¢ 3. ¢o 3. AMRCEFTC ¥, feew
. q¢ 1. 5e UACIESHAET . @R
T3 of IcER
R SR S SR e ST SIRenl fAeb Sfewd T sapreder
I =prn [T, e SRS FE |
Cs00x D x3 | = St ATt 5. AEAfS I e
100 P = 71/ JeTee 3, fesferst 9, eferst
=75 r= Y[ TR ot, Teafers q. Fiferst
n =y T
8. PTG oA F© Ot T AMF? SIRAY R ot SiE A0 (A AT = A
F. q0-bo ¥, bro-do @- Agfe, s, rifee Topm |
. Yo-9o 9. ¢o-Y%o do. ‘He is better than any other boy in the class.’
Bg o Negative form of the sentence is-
m TR @ ST 25T o ST T @ a. No other boy in the class is the best than him
b. No other boy in the class is better than he
IR ST COf T ©IR X0 AT | 908 vo-q0 c. No other boy in the class is as good as him
ST R A | d. No boy is better in the class
+3)Yx—3)= : 9 ans. ¢
« a(gx 5%3)()( 3)=16 =, x m:m:@' ANl Comparative sentence <& Negative 0o
: ' 27 'No other' 3f37ear Positive degree @ ifsere Face
7. ¢ w8 =¥ | Degree rules ST |
e ‘T( Y3 e 5Y. TR SO W2
X+ 3)(x — q, X =
=>x°-9=16 3=D 3?,1?11?{ R
— x2=25 - (a+h)@a—h) . 2 T

@swu-waoos
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;)R

29,

°8.

€.

oY,

°4a.

Teq

Rl TP W RFS (A Sefafeen qie
TR CIETAS ST = ¢ | @ g, 7, T9F
oyl |

“The did not allow a drunken man in the
meeting” Here” drunken” is-

a. adverb b. noun
c. verb d. adjective
ans. d

Mg Drunken is used to describe events and

situations that involve people who are drunk. So,
it is an Adjective.

TAETSLE ST LTSI &K G2

. AT 4,39

o, T 9. 3F°

Te o

RURAE TRACRR 241 ¢ SO (T W TR
3=

e @ e (AR shear T

F. ORI <, P
RATIE q, ©IZF0T

T3 o

S cfHfer sfSarafs aret | qorRes STrarEere
ciftifer S =@e  (geme  AfReTRT
GBS 8 (AT T3 (AT CofF T4 =7 |
QI T=AWCT RTH AN SR FoON?

3. faor <, ol
¥, Ay q, ﬁm.
T3 9

RIE € SRAMCT AT Sag o | fastw
SRFIC AR I AR AEFIC SZ[ FCZ 51 | 7 -

wifesieas 4my ¢ i 71g (FAO)
N AT ST (F?

ET @IS <. I W
o, *1CST AT ., SFIG =Eee
T

SR 2Fo=PT SEPIE IET TE eREF R TG
GRS (AW S[FIE e YIS TN €&l T
SE@Y AT (AT |

‘Every mother loves her child’-Negative form
of the sentence is-

a. There is no mother but loves her child

b. No mother loves her child

c¢. No mother does not love her child

d. Every mother do not love her child

ans. a

g Every' 3@ sentence & Negative F9C Z0
"There is no ----- but' F1ITS 21 |

.

.

Q0.

Q0.

Q.

9.

Q8.

PR ©fE AFrwt : e

e Beme FFfa (3PwR) Sieew @ot
IS F© GACTa BT ot =72

.5
.9
T34
S rerTfre Bemm whifer (3FeiR) siesw
e AT Soft B KA o =70 1 v e
T, feoafam, gfor Fif, q@@E, iifers, Tw- 2
oft o= onr =gt |

Choose the correct spelling-

a. Competition b. Competision

g, q
q. S0

¢. Competetion d. Compitition
ans. a

MuE The correct spelling is option ‘a
Competition.

IR BT (IR S e?

35, TG <, Zoifer

oY, =T KACEERE

B3 of

SR SR BreAE SRE - e,
FHifs- FETeT AtewoR
Tl - woo filBR (Sobro FH)

AT IR A @S> 3 @2
3. ARG <, TRFTAC
ONCIDIGRIN g, NS
T3

SRR 1T TSR AT QR 21 TR A
R0 @I A1 ‘SR A AR e |
JEITRCR FTEIRE BT I (@I (e w1 o?

3. P <, ATV
o, AfTSRIeT T, T
Tg of

SR TR SSRGS (S T4 BT Pl
JECZ | GO BT (@IS A TGAEAT GRS
50fG BT I Witz | fad w{ifs qrr 2Rete-0fF |
BT 200 51 e 7R |

TSR LT G (TN T T A2

F. 3¢ B, 559d .5Y @l 35ad

. 59 @2, y5ad . 5 fOrmE, s
©g o

SRAE S>3 T dq @R Sty SIpifeens «
ERANG AIS A TR | ITARTCE GBI @A =7
TR OF BFGCATCG

e et fem wifam &y e

F. TG G 4, W, IMRT 8
THRT

o+ P -7 v, fagre AR

T g
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RE.

V.

RA4.

.

RW.

Vo,

).

SR e i fRgye Fefe=idy |
@o?

T, S 4. ®I
9. ey v, fE=r
Ty

03 oz e qeiEcEs Wy @ft JIeeE v @ AT
[ |

TG @ 2

%, T o, et
%, (oIRF . YO
Tg o

SR Ffeq = wrifes ot (e e *mreferg ot
77 | @N- G () - @eremE, (ofF (Tv)- Sifsre orar
gl |

F, qp I <, A @
o, 999 @ 9. gRarre! @&
s o

SRR T FCS AR GG SR A0 A Al
T FACS AT | Al (ToF 2GS I PR
QBT T | I T A (BT & & =o[ex Y |
PR T ACS (ST AT |

(a+b)’ @@ @2

3. a% —2ab+b? 4. (a+b)a—-b)

A a’+h? 9. a’ +2ab+hb?

€3 q

SR (@ +b)? @71 3@ - a2 + 2ab + b?

‘He is Bangladeshi birth> Fill in the
blank with appropriate preposition.

a. by b.in

c. from d. at

ans. a

RN ST 3@ JRTCE by birth' 367 |

It is a beautiful bird’ Here ‘beautiful’ is-

a. Pronominal adjective b. Quantitative
adjective

c¢. Numeral adjective d.
adjective

ans. d

SRR 94T ‘Beautiful' =% 'Bird' «3 4 3 o1 ot
Modify IR G182 AR ‘e & IEER | iR
'Beautiful' =G Qualitative Adjective.

‘He woke up when it was raining;-Transform
it to simple sentence.

a. He woke up and it was raining

Quialitative

R,

0O,

0¢.

Y,

09,

PR ©fE AFrwt : e

b. He woke up after the rain had stopped

¢. He woke up at the time of raining

d. He woke up after the rain

ans. ¢

SIRAE Simple form of this sentence:

He woke up at the time of raining. Here ‘when' is
replaced by ‘at the time'.

Qe @IF G5 ied NI Afde zae

F. O ¢ @Y <, o 8 B
o, PreTerR ¢ sy v, Prrer ¢ wet
Ts

SINIE I < SRR ST 419 | TS STl 0
fafeg sttt o fif4 e @i ags 41 27 | azier ate
EF W A, WiEiae, e dgfe qros I
T

THFL OFS G (@I SO 72

3. @fis 7 <, Gioe A1y
. A AT 9. i 1587
Te o

SR ¥ 0T @S5 W T T A o1 e
137 | (@A el ©fe 47, 78 O eyl |

. e R weR Qi
3. SpCIfeRe <, FECEG
. TIZIGHID q. T
T

ML €T QA - NHg*, PHg* (FTerifaa) |
B (CO3%), TGS Cr,0727) T (POL>)
QT Al @IS

QY WG 359 AT TATOR AT i FE @I
AGTT?

%, G <, GGl
o, ST 9, @fbe
Ty o

SRR YT T, S59 ICET @RI R0 “Aifwgifey i
T ‘IR STREDT IS FATOR (AT &5
A |

IR oot IrraEE o Fi?

. oo ¥ ¥, fox wpife

oY, ®A 96 q. (M ifzar
Ts

AT AT AICAA (S (IR0

5. SIS <, oA

oY, AGAE q, (ol

T

@)w{{-bQQoo)
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b,

5.

80.

83,

8.

89,

SRR JIFTTAR STACHT ARG (Tl SR @)
TATEET BT |

W TR 97 IR @2

%, I @ A o, Ao T
o, T @ Wy g, W T
Te o

IR TIR-GF JIPRET- T w AR @ Fow
ALY A |

‘They called___ a doctor.” Fill in the blank
with appropriate preposition.

a. of b. for
c.at d.in
ans. d
Mg Call of- 7T =

Call for - wifs =41

Call at- &5 gt s

Call in - (Tt o1
QUSH NF© (A2
3. NaHCO, . CuSO,
7. Na,SO, 9. FeSO,
T

SR SCSF ARTRAAE 7<@® CuSO4(H20)x;3 AT
XQITTO0 QT 5 |

3% w7 Eees (BM) 20T OIts Foreiy RRees fReasat
FARA?

F.>25 g, >20
. >30 g >35
T T

RINEE BM 1 &3 T —> > 25; TSI g e
facam s T |

What is the feminine gender of ‘Drone’?

a. Bee b. Hen
c. Doe d. Ewe
ans. a
S Masculine - Feminine

Drone - Bee

Deer - Doe

Cock - Hen

Sheep - Ewe
WWWWW " @2
5. S© ¥, oI
. JBCeq q. i
T

SR JIFTICE 3593 AT b FSom 9o ¢ ofe
T (e TS (7 | ©CT SRICSH PES TB W
PO AFe e et Ao |

88.

8¢.

8V,

84.

8b.

85.

¢o.

@s.

PR ©fE AFrwt : e

Ffée AR e @Eb?

T, ATS-IEF <, SARA- e

o, I-SToT q, Sysfer-a7sysfer

Tg

SRR (71 9Te *=rperet - SR fRever |

JIETC 2R & Peieicaa 71w e

5. (T ATl GTgET <, T A == Grgdr
. CVCRA SRS T, WS BTgar

Ty

RIRIE ©. e == iy e e T9
o R 2059 A o Gfee ST Trew AW
i o 2 | o3 Si9 797 et 8 9%4 |

I P AT LR 4TS IR (T2

3. NP TFMA 18 4, Gl @t
5. IS BIOIT 9. (eyifeimee 55
T3

SRR T IO AT RO SRS S NIRCHT

TPMA W€ | Shvo AT “LFI*e sMer FoIFa 7

SET T TSNF AL RN W@ T A
|

TP BT SRS I AT T2
F. AN <, A
o, st q. T
T3 9

SRR =, W, TN @rer Sfet SRited A
ST 2 2T |

YS! (I G #1712

<. fqoerger <, QoIS foaray
oY, ST 9, ST

Te

SR Tl W/ WgdRfAE | o aft e
RO | QAT STar I T (AR |
TR TR 8 R T (P SAMIAG v

&, < 4, TR
o, wifirg ¥, fSoiIfSs
Te o

SR ST Srefy 4y reed o1ow, JfeTra, e
I ACE | MEEH [FI0 Tere TS woifezd |

TSR RS (I AN 329 FE?

3. Grifeorgt <, SgeAfasT

o, Frofey v, 3oz

T
Jfegm sives reifera sifeser «fava 92 353 |
TorFe TN I RO Aoy FA W S

FCICRA?

3, ‘Nife 37 <, R

o, <@ s q, (2T I

©3 o

SR STITer SPTIC Repra R R (e oy srer
F PG Torzee] 2N ey @izl I e Frar
I FTS FCACR |
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eR.

@8.

ee.

eA.

(4

3. G A FfW 4T ST

<, SIS e SI=2m

o, T 14 fergw a=A

;.m@?rmﬁrw

3o

3 G (14 YT TR fofeerd o1t oft 98- wpre

SGIAT, PG IS, SR (7l T |

fAwsa e wAifee glge =T

. RPN FREED <, AEFe S QfTe

gcvm%ﬂwm T, fofer

3P

3 FECRIN FE6 CaCO;z @fb parstted e
qfbw @6 o g | o2 @ft snfre g |

T R 1Y R zre e =xmweRe

-, T <, cart

o, SIpICetR ¥, oft e

T w

3 SRS (AF W@ 7o @riE T 9w '@
IR T | @7 9fG 2ee- o =@ (e #19),

TSR |

YR ¥y e 77 @A

¥, WIRoE <, (SFBfBE
o, S Ig T, SArw Tg
Te o

IR ©fee e T8- smfioe
ST AfEy el 7a- Sfeedre 7a
oS T WIG AL - S TG

‘They came home after the rain___. Fill in the
blank from below.

a. stopped b. has stopped

c. had stopped d. stop

ans. c

SRR Simple past + After + Past Pefect 23

(x—y)=2 @R xy=24 T@, (x+y) &7 A F?

F. 0 4, doo

9. 8¢ 9. o

Te Y

IR
(X+y)P= (x-y)y+4xy | @
=22+4.24 (@a+Db)?’=
=4+96 (a—b)? + 4ab
=100
SLoX+y=10

TS I I (Gl (P62

. Qo ¥, oo

o, B8R q. A

T

SRR STRTSTH 050 I (&l Aerifs
ST A (RIG (Sretl- [T
QAR Q@ (Srell- Ol

G (RID (ST IMEA

Yo,

L.

R,

Lo,

L8,

Le.

LY,

PR ©fE AFrwt : e

5.

FRT WG @I @ S_Fe?

3. feafemie <, Pleifgr
. 3 T, SN
B3 of

RRAE TR AT AR a6 *=d | P
*{ta Gt ST RSV *1=T | I GERAT U8, 5 b & |

«ft s a4 afafens &9 |
BN (I O W+?

5. IR <, Agfore
o, TR .

T o

RURAE T TR 9 | FECT S WiHe Tt =
T - AW, @I, TN, ST 395 |

<. Spifefsmr . BRAGT
o, Sea 7, o
B3 of

S Fee REfRTR @ Qe o z@gm 3 orer I
G TGTH AT AT |

A TR s o FeeAfioe

F. b.y¢ fFEeR 4, v.¢o FEfRoE
%, v.5o FENRGR ¥, q.v0 [FENGR
T F

SRl T CTET TE v.se AL (o) WE) @Rk
8575 =y forcar aifors |

T ASHI[OF GFF (FI0?

<. ftera . G

F. AT q, o

T F

SR S SISEI 6 G R g3 Fed 955
G |

“TIIET (A I 3B - Translate into English

a. It is raining cats and dogs from morning

b. It has been raining cats and dogs in the morning
c. It has started raining from morning

d. It has been raining cats and dogs since morning
ans. b

Ml Translation : YT Tre @A I 20=-1t
has been raining cats and dogs in the morning.
AFFT (T @R (OPIfEE Fie

T, FIAE <, YT

o, AT . GFNE

g of

RRAY TR AR (SR FEASIO! Y TS
SRFS T A R «iffoe | @3 i sb [T
FET T o Fpitem e @i ATt
T A2

3. =1 BT @e! FoNeT Afiie &%

<, (@ oIS & Al

@)w{{-bQQoo)
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b9,

Y,

LS.

qo.

®.

a.

Q.

o, =TT o=t et FoweT sifdere =7
T, e fToweT oo Howe e =
Te o

AR 4T~ T BT =T e |
- AT AT e A |

" @F TS *3 T (@AG?

5. Ao SACIES
o, Siferey . oA
Ty

SN T 97 TS Wwet xeE Ao, wifirey,
2STT TIIM |

HRHETS TS IFIIAR IR (@AG?

3. frar 8 ATt <, féT @ i

o, (N @ AT w9, @ ¢ A
ot

SR T ¢ AT R e Te TR
I | PR T TR AARTIE TG TR (A |
Ts g

G FFARCT (@I e wWewifes Mgerar s
R et AR

. fau g3y wegr ¥, ITfeTE
. 3SR T, G GFe
Tg o

RIRIE oo T dq o TSCER AT
ST P @RS “A@eifos e gt
AR I AT =T |

B @ ol T2

3. 3ard <, el

o, fndrered T, sed

Te

S 7= e Fave | @ e, Wi,
Mo |

TS (TISTAIT T TS TSN (T (FIA(0?

5. OO <, Freew

o, AT q, Wreraret

T o

UL TS (TISTAR W0 SRSl Fgew (el
eTRr?! | WETRICAT SRS q1@ b IR, |

N7 @G ST SRR
BNV SRRV
€ . 5/¢e q, 9/
T 9
SN ™ SIRCT R AT GR TF (T OIR eF
e | a2 22 g
R 8 8

He never tells alie’.  Affirmative form of the
sentence is-
a. He always speaks the truth

q8.

q¢.

qu,

qq,

v,

.

PR ©fE AFrwt : e

b. He speaks the truth

c. He tells a lie

d. He never speaks the truth

ans. a

SRl He never tells a lie. The affirmative form of
the sentence is

He always speaks the truth.

el @ JE@d ISAF J[OW TS 510 GIR O
JACT (B Yo I-F | [@F TSI I7H F© IRA?

F.5¢ .55
7. ¢ T 5
T3
m @R TSI R = RO IE X
= VYo X >
R
= 3¢ IRA |
The man died____ over eating. Fill in the
blank with appropriate word.
a. for b. of
c. by d. from
ans. d
ML Die for-tiees ey G et
Die of - cafest =t
Die by - g5 =&

Die from- (I e 3140
‘The man is extremely tired’ Here “extremely” is-

a. adjective b. verb
c. adverb d. noun
ans. ¢

Skl Here 'extremely’ modify the verb 'tired'. So,
it is an adverb.

e oifire RS it T @G

BRI (CERCERCIE] ¥, fifeqy oram 32
o1, fRfeg Soremr q. ATYEE

T F

SRR T STCEeT SR (AR &= ¥l W 0 |
AN PR A T =

3. MR <, Befersa o=

o, ST A q. fepiier e ot
T

T T 2T |
TR T @I (ot Ao (AT AW Tpre
w1fge?

3. & <, fier
5. @l g, Ao
T3 9

@)wii-biQoo)

7 €



bo.

b,

R,

b9,

b8.

be.

b,

R s Ceetif =ersar T Siea oS | T
B (AF TG Op $hE e tlfs va.¢ o= Tp |

What is the synonym of the word ‘refusal’?

a. acceptance b. denial

c. acknowledgement d. consent

ans. b

SIE Acceptance - QeI
Denial - SRR
Acknowledgement - Fgfe
Consent - afs

TG (I AT Q2

. (I NGO <, eYEr P

. CIICAT TFOITH q. e {1 ¢ OTg

RERIGES

T3 9

SIIE TG TGS ~fRRET ¢ (Tg T@AEICRe A
OF T | GF AT T AT SifFer” |

el 1]’ ¥9’-Translate into English-

a. Henesty is better policy b. Honesty is a
noble virtue

c. Honesty is a good virtue d. Honesty is the
best policy

ans. d

m Aowl T2 @ = Honesty is the best policy
THITAT IFF F 0k T FEHF o F©?

3. 5.vN <, 5N
5. 0N T, SouN
Ts g

m

TET GO = OF x AOFG Al

=30 X d.b
=Y N
Ifem fofes vafoa 75 @b
F. (TN 94T G <, ¢oifge
o, SNTTF A=l 9. SRE!
T
SN Sfemiofed befba- Seta »Ref, SRR,
caifaa

JOS ( (I JA JGC A T30 A [Ro@ T2

. i <. 8f6

1. 36 9. 8%

s o

AR JCT CHITAT T JeC T 73f6 Wil o
I |

TArlifETe FETer ST 39S &2

3. TCoA S=RC™ <, Rifigg w2

. YT T 9. = e
T3

ba.

bb.

b,

o,

.

.

39,

PR ©fE AFrwt : e

MRl TS AEer SRR IS R A bR
fefmreTcae Busf o Qe w=fFe |

He is going to buy a car-Passive form of the
sentence is-

a. He has bought a car
be bought by him

c. A care is bought by him d. He is buying a
care

ans. b

SRR Passive form of the sentence is -

A car is going to be bought by him.

b. A car is going to

JrEee AE G St Fo?
F.90°C q, ¢ °C
7. v °C q.R4°C
T ¥

SRR 31 oG STl 20.05°C 3R I BT 200
CIBRGR | AT Sro@r 25° G, 972 Fr=HTAT
SIANEr ©8° (7.

Fill in the blank with appropriate word’

‘Students should be attentive___  their
lessons.

a. over b. at

c.to d.on

ans. ¢

SRR Attentive to- ST

fagrem fo qrem trefx TwiE & e

<. fagrersa <, O

o, Tl q, oAt

©3q

S fretem for Arem teda iR @q sAReT
A |

@ fagres 7o sy @ T ve° 8 ae° T,
PO (bR A T

3. o° g, 0e°

7. ae° ¥, 90°

Ty

SRR TSI CRIST = Sbro® — (RIATACa B
= Sb°— (9€° + a¢°)

= qo0°
T O 8 AT Ay * T @2
3. (=I5 <, BoAwT
. q5F ., FEY
T3 F
SRR T TITRTeT T =T (=IBoIe @3k @bty =
FIET
AT (TP (I 720 (TN IS FECR?
%, IPrig ¢ *qrres <4, IPrig ¢ T
o, BIFT @ *[Te7F T, TARE 8 *[TeF
T3
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8.

S¢.

Y,

.

UL CEOTE PNE (e S/ TeIe),
*AerT @ WA (Efe/ afwer ) & I
PER |

s @b e Fmifee

5. FifT i)

oS, TR . TG0
Ty

SRl T G SRR i | aff EEeT
TSI (7T T |
RIAERTH

<. WgA pEe 4. 7 pEe
oI, &IPes P v, R g
T3

RURIE T TR pACR pae el A1 A1 of SRy
TFF | (59, (SIEE ¢ GrETriieg I3 pRS 97
BN

*efyF AFEITe st 98 Which following phrase
is appropriate?

a. Many cooks spil fodd
spoil the broth

c. Many monks misuse the gas d.
monks destroy the gas

b

Ml f4F TS e w8-Too many cooks
spoil the broth.

fesa e qemafae afteeTe
. S [T QI eTICAT

o, [T A Al >eT

)

b. Too many cooks

Too many

<, IR TR =T
9, 7 Afe qaipe

S,

5.

doo0,

PR ©fE AFrwt : e

Ty
S BT U SR, {9 o, SRl AAifere
Aige ReA-GeTEl (Ofe #AfiFes | (@R W&o e
TR S |
G e e Snreger?
F. (AT
<, IR IS bW (TR
7. oIl Ofe
9. Iif O (40 I
T F
SRl ¥ e 5 (12 ©IE W | Q- 6T A |
TEHATST TS & 2
F. IS0 AAfTe FOw qreAr
. ST AT T TS|
. TG AGIGFI T FCN ST
q. 0% e Az shear
Ty
RIRE 0T ROTCHRET =R ZF7 (ot aeefaret

T (AT |

AR AL T S5 AW T (@I QI
U e zT=Re

5. &l ¥, AR

o, A6 9. A

T3 F

SRR T TGt T SaeR I IIREH (O
GIRR e Ry xR0 |

ﬁww?ﬁwﬁa—%ﬁw 3033-39

S

TEIICHT (I (S B AT CR?

F. MG o, ENERG
. 2IeTT T, e

Ty o

] JIGTCR TGFACHT (ST Jel- AR,
eqr, fraream, Ffeam, AewiEet, Seemf,
JITANG @ ARG | @F WK ARG (ST B Aol
JCACR | GRS IR @ B /1 R
GG (ST |

HG & @ffre?

F. AeFeas afe 4. RIS afre
. MGe ufre o1, A2 afre

T2y

SNl @ 7 @it shifite srpfere Ranfers =1 =
e frfers 2 st gée «fre e | @w-
FAife afre, wifbe ufe, safae ofe Tenf |

AT AFFS AR ST o7 (G2

F. Ol©

<, Bo

. 28T

9. iR

A

BRI TR T AR 2= e POI |
35 AT Y ST oI JIFTAICT TPl (77 |
AT FPro NS @O (7 O |

What is the synonym of the word ‘refusal’?
a. denial b. Acceptance

c. acknowledgment  d. consent

ans. a

m Refusal - S=<=, Denial —» SRS,
Acceptance — aze@@rerel, Acknowledgement —
Agfe, Conset — fe

@)\9{{-%»{Q00)

©
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¢.

do.

Choose the correct spelling-
a. Competation b. Competision

¢. Competition d. Compitition
ans. ¢
Sl Competition — effetaifarer

QY B $5a3 I IAIF FRTOR (el Sifs Fca
I T2

. S ¥, @fGe
. GfecE= . (e
T F

RIRHE Y 6, 5543 T 93T FATSR AN G
FCE SR N | IFIHCS (TSI AT ¥
B e AR SATACTCIH AL AR QP
TSR (I (O | FATSITS {9 [ THIF 1
(S HIAIY FEIFIIG (TS (T (AP @GS FHbIa
FARY |

TN I RN (ST (FIo?
F, TOET <, 53

o, AGATET 9. FIAER
oY

RN JRETCACHE FATRCCI (STl SIS | S
SRR BT (O | 4 TGRS (Sl G |
TEER (G AR | FEAPBTHR (T DI ETIRe
‘He never tells a lie’-Affirmative form of the
sentence is-

a. He speaks the truth b. He always speaks the
truth

c. He tell a lie
truth

ans. b

RIRAE 'He never tells a lie' 9% sentece @
Affirmative form 'He always speaks the truth’
@35 faprem 73 w5y @I WG ve° ¢ e°

d. He never speaks the

T PO (B W T

. q@° ¥, »o°
. q0° q. 0¢°
g ot

RURAE = i, fargters fom ceieets sfE svo® |
el g,

G FIT 0eo®

A (I ae°

N R, oF @0 =F

AT, F + 0¢o + ¢ = Sbo

A, F + ddo = dvo

qM, <+ = dro - ddo

. ¥ =90

fagres o @ q0°

G35 FIE b T @I © W FA0S 2T | S &F @
Q@ GG F© Wi TS A2

T b . 38

7.9 9. Yo

T

.

R,

LR

°8.

5.

Y,

PR ©fE AFrwt : e

Y b O T FRCS A © e

»  bX\© 5
S

SN ” ” ”

=38 T

GG SR/ I (FTICPT e G2 fAeag el e
PO T | GFAT V05 @ (@1F I 7 Gegdt ApeT ©of
faeer oot F90e 2T

SINTAR TR 5102 A (@I ey 7fo® =72

. reH ¥, Ol [T
. T Sy 9. Jfegm
A

SRR TSI el BRI - AN Ifeqrad ST
3o =z | “=foa avfrer @ Mfswr Fremwiz =g
T |

"TEMICTR ARGIRT IROR GTIF &2

5. ORM APTE % . ¥ TR
o, STV CHTRT oI, T AN BN
T

F g6 ST I |

oy = AT % @2

394 4, AR

o, I q. S

T3 9

] ‘oY) =TT AL *[F-ST | Y * T TS
AL * ZCEA- e, I, AR, L, T,

TRy, (5, gomE Tonf |

T IpTed el BIa Ty HREG® F0S A2

3. Pl <, it

o, I

Ts of

RIRAR I STTCet e Bt < T (7 %

T (BE 2 TX GIR AP AAS T OIS FAI

I | W ]2 R Ao qeaie =G i-

q. 0

TR |
IR SR & effma?

3. T o <, g
. 45T q. SO TR
Tg o

SR TSR (St AGTAR & &t | @RI ST
5 (Y ICE | DA 8 FIIST Wo{F Ao=d
Tere e |

e @I o s @f¥re
F.TW 9, (@@
o, e 9,
Te o

SR T ST fereneara Sre fReeet et
ArefG q2 NG AR | @F 0L AICHCT Q¥ SIoHACI
ST T I IR IO N SIHCATH ([T |
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Q0.

Fill in the blank with appropriate word-
‘Students should be attentive ___ their

lessons.

a. over b. on
c.to d. at
ans. ¢

SR Attentive @FF T3 et to 07 | «ft @3 s
Appropriate preposition, Attentive to =<
AT R |

TGRS T 8 IR & (I (I SAMAD
LERIEH

F. (T <, ifary
s, feBIfR . W
T o

SRR TR TR @ I Ty S
TG | =T 8 (T oIy AR AW (AR *If&
AT | e FEBIR Gt @Sty el 3w e |

3. et @ <. Aol @
. g A 9. T @
T3

RN 77 “IfTe SIeT FRe T e Al
e @R | SIfe TR Srera A 3w w10 sfere
R O Al APTCRA WA g (IS T
@3 I ¢ AT | T I9% 2AfFTe O |

‘He is better then any other boy in the class.
Negative form of the sentence is-

a. No other boy in the class is better than he.

b. No other boy in the class is the best than him
¢. No boy is better in the class

d. No other boy in the class is as good as him
ans. d

S Affirmative : He is better than any other
boy in the class.

Negative : No other boy in the class is as good
as him.

Rules: Comparative setnence than any other /
than all other 21=seT positive S fazs: No other
+ than any other &% =Itga 91 + auxiliary verb +
as + comparative degree 4 positive form + as +
sub

eel 7=R ®9-Translate into English-

a. Honesty is the best policy

b. Honesty is a noble virtue

¢. Honesty is a bood virtue.

d. Honesty is a better policy

ans. a

m ol IR wf— Honesty is the best policy.

9,

Q8.

RE.

QY.

PR ©fE AFrwt : e
R

IR @ R o Ao

T, GO g Swile %, I EHT (FH
o, ArFfes M . ARG Y
Ty

RN TR T Ty (Fed & 4T | 99T
S AfeS A 9T 03 [ T T4 =7 |

@fS AR @I SRR &Y |
JAAFPICE AP ARISET Srrge (@G ?
5., R {9 AfRTST <, S AT Afifers
26T oS

o, ¥AF @ IS T T TR 26
Te o

BRI I g 1R ¢ AR #fiaeT =
AT | = ARETSTTIR A= (5) T F AfRTSH
26T () AR 15T ARRET 26 () *F @
T T3 |

A AfRSTTR = : () e T e=iee &qereT
I AN (R) A 7= #AABIT REAR @7eTT |

T @G LTS SIR?
F.9R 4. Mo
QANYCS . 3/e
T

RINAE T BRI 7 G R T (R R OIE NeFS
O b ¢

TYIT AT | @ —, —, — Togifir |
R0 R

(a+b) @7 7@ @B

a. a’—2ab+b? b. a®+2ab+b?

c. a’+b? d. (a+b)a-b)

ans. b

Mg (a+b)?2=a?+2ab + b?
(a—-b)?=a%?-2ab +b?

a?—Db? = (a+h) (a—-D)

‘He is going to buy a car’-passive form of the
sentence.

a. A car is going to be bought by him

b. A car is bought by him

c. He was bought a car

d. He is buying a car

ans. a

Sl May/might/can/could/must/ought to/
going to & J1w5& Passive T faaw:

Object =ta Subject + ©% verb + be + verb ¥z
past participle form + by + subject @< object.
Active : He is going to buy a car.

Passive : A car is going to be bought by him.

@)w{{-bQQoo)
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oR.

TSR AR SR 9 QA SFRE @ AR

ISgETRH

F. O o, FAYET
. 79 g, SAeR
©3 T

RN SR —> S i

6 TYFMTEIRT SR AN | GF FANET FPRICTD
L2 9 AT @2 ATATR 9L QLT O
TLTOACEIN FYRT TN 6T |

"sfeTe SAGICE Nefs rive R wret?

3. Tafbfe ¥, fasty W

o, g 915 q. Nl ARG

T o

RIRE e oRm saifreares a3 Sy
T | @ BATIICT (FRITT (R RS Acs
= g Teer |

Yo T RITE NHF 8% T AT FACET AR T T2

5. €% 4, Yo%

¥, ro% . 90%

Ty

RIRIY 7T TR I908 300 TR 0L FOGH =M1
FACR (T3 ITATE (ART?

Yo G RIG ACLY AT I 8% &

sy n om o» w8,

Yo
300 ” 2 » » » 8IXJ00
Yo
= qo0 G«

TSR AR T 0%
TR T AT I OF FIFAS T FCA?
T, oY [APTR ¥L T, RSN LG
g.w*f%@m q. ST AR
3y

RURHE 1T SRR Q2 I T B NCTNGT 7t
SPRTRING | 2R I R e SRR Iieae
5T R ST AR AT |

TACHR FCECT IG CT (102

. Ml OT9 <. 2fte et

o, IAF CT 9. (IR (T

T T

] TACHR FRC @ (T AWl (7w | Gfb wiEwe
R fasty Ardew ¢Tg | «f6a i v.se
o | refore 82f6 e e 856 i wtztz |
I (TR BN Ale i@l & (b= o%ee) | «ff

TRl ST AT e 2 2 26 G,
033 A |

TR g Y R e e zeme

3. ot W SR CIER

o, Il .

T3

RIRGE %5 < 1€ fata Ao e fosfer zem

RGNS I | R Ay AF Sobro AT R 76

0O,

8.

oY,

09,

b,

5.

PR ©fE AFrwt : e

TS (I e | &f6 e BT Wi sy
T, qOSAG (G |

e @ argfos se?
3. P

V. (T

T

<, AfToE
9. 2w

] oz @3t aFfes o8 | Wit w{ifss «feat

©F ©F | IS PR AIFfoF ©F el WA, (@I,
Te1 oyl | ARTBIE, (T3, WIRE Tonin Fuw ©oF |
I 8 AP TSN INCH @29 | AT I397

¢ 2T E A I F© 84?2
F. M€ g, S0

. ae g, o

T F

RURIE T S, ST 9T S R |
FANCS, € 39 = ¢ 3

a &ox
O 5
1, ¢F = a¢
7= 2
¢

q, =53¢ A

IR, TG T ¢ T2 |

‘He woke up when it was raining’ Transform
it to simple sentence.

a. He woke up after the rain

b. He woke up at the time of raining

c. He woke up and it was raining

d. He woke up after the rain had stopped
ans. b

SRAE Complex : He woke up when it was
raining.

Simple : He woke up at the time of raining.

A N 9 (@2

3, freiEe o, ALHA
o, f@ T, e
T

RURRE T = o - AT, AL, AR | A
SR IRTS ALTRS IFHFF AW A0 AT
AfTe 2eTR A FAE TP I |
A e 27 @I 7% Il e

. 3efemfre 2, @oTfEeeT

o, NCAPTRG q, eI

T o

SR =T frotel = @t 2t | AR 7%
e foer@ a6 G 4TS TR F |

FAEPRT @RIFR A
. 5 <, Wl
QARSI 9. T
T T

BRI ORI @@ S A fegere | fofy
e Ao aifas fotTe | o Wi ¢ ToeIREr SF
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80,

83,

8.

89,

88.

8¢.

«f¥re S Wit ffeg s, f[feg cvea 19 o)

B 3 |

English is spoken all over the world’-Active

form of the sentence is-

a. English is spoken by people all over the world

b. All over the English is spoked

c. People speak English all over the world

d. People speak English

ans. ¢

SRS Active : English is spoken all over the

worlds.

Passive : People speak English all over the
world.

Rules : Object 47 subject + be verb 9t ez
verb @3 present form + sub @< obj.

AT @I TG Fora e FRgeg wiFr

. (R g <, ST
o, Ffqe! T, &%
T o

RURE TTRCST ST T TR | (q- (=,
T, TATA, & TGJIW | G T ABCP AL

Rirweie wiiFe e s |
SARITeE e 52

T, 930 (2 ¥, 35 vefod

o, G306 o q. @36 ZfozrT gy
T o

RN ‘S RTCET IR @3 o | @t B
ffvreTcRd Fereata A w)hiES | «fba goifs

OV @R 'R |

G AT FRFIE 7w 52

., (NZF S <, TR TSI (ST
of, fea BT q. ©: A = Grgdr
T3 g

RURIE ST T PR A1 ©. R e
TR | Fof AR oo R | 2059 AR
wo Ef2E G &2 A P11 g 2 |

T TR (P = Fo?

-, AR <, T
o, S8 9, 5
Ty

RURAE TR e WIMRE B SRS
SRIFS | Sodb AEF R ¢ 6 «@ft Sraree Fa1 =27 |

T aT NS TE1© I8 L Ao =T |

‘P @7 e AtE R @ e

3. Prereem %, Por@--e
o, forager . fro+emem
Ty

8V,

84.

8b.

85.

¢o.

@s.

PR ©fE AFrwt : e

R P @7 fs A fRewew : frg + st | -
39 Q@ -7 @7 79 I-FF F& A-FI9 AT

Ty Tfe o-FF =T |

AL =THI AR (B2

F. 96 @ 7 q, e S 7Y
o, 2tq qre q, qieq o
Ty o

RN T > PRS-~ v | oft w5y
SRERFE T | AET A o e Tt et
R AR SLE A4 | O @ T8 SR AT |
The man is extremely tired’ Here ‘extremely’
is-

a. houn b. verb
c. adjective d. adverb
ans. d

Sdhi The man extremely tired. @< extremely
*mfs adverb | ¥R tried @35 adjective ¥
adjective @ IcsT ArgEere adverb I |

It is a beautiful bird.” Here ‘beautiful’ is-

a. Numeral adjective  b. Quantitative adjective
c. Qualitative adjective d. Pronominal adjective
ans. ¢

SRR "It is a beautiful” @< beautiful ¢
Quialitative adjective. 'beautiful word & ==t bird
& qualify =T zeaee |

QfiR A T (@I A2
F. AT AT <, @ oinedr T
. Fgex A q. {19 ofers Sty

T of
S 2R e’ <)feda FRovt FEew AN | aft
ST AT T |

G Reaf ==re

F. A4 L, 9T
. (AT q. 5iea
T o

BRI R QG ~Igfer S = | Tl S
[IZe e PR GV *31 AT - @I, S,
Tonifir |

Q% IEEIN T T SHeT w41 2h2
5. 38 frme 9. 3¢ T
¥, Sy ferms . QY 5
T

SNk 13w Jfad et oo T =7 383 forTee |
) AR Y03 Trma @F 8% ferma fe
GATIT @ TSI IS AfRsEreed T 6 |
o2 Idfr = aofs qwa 383 ferma «Ew
Ifadfa ey ot Far =23 |
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T3

RIRIE T 01 0 (Y Ao I OF @ J0eT
I 0T | @G Jred IR Sl | T ffels gers uft
St [ew 37 |

They did not allow a drunken man is the
meeting.” Here ‘drunken’ is-

a. adjective b. adverb
c. verb d. noun
ans. a

g ‘They did not allow a durken man is the
meeting' @% 3T durken *«f> Adjective | e
JT noun @3 =eel Adjective I6T | man *=f5 noun
IR man «3 =& S[fge 'durken’ *=fG Adjective.
= gfEw I Fww @Fb?

. SFCNEAHR FPIE ST IS

<, (5ICT (IO (T M (A0G AT

. (BITT IO GRS Mg O ANl

9. (5104 (0 STl el o ~hed

T3 of

RURE TR (5TTe MR ARSI /W | [ (F)
B (4) AR

THICAE (IO QFIIT R SO (0T ST e (8 I |
qr® VIR & (TS AT = | TS (T HHN
T[IRT I GZ AR A & |

fotee ot oraie gl fic wicetoa vz

%, Foog 3. wifeg

of, <y . Aoy

s o

RURAE TR ST @gfe e oA o = 1
[T AR SR FH7 8 ioerghe fefy T

AR T T SICF GIFI 0T |

TR SRy 6w I @b

5. S TF <. SIfeE

o, S q7 9. (SFBHEE

s o

RARAY 4T o oo T wfgedreer 7@ | foe
7 SCed feftaa T @- s

o3 «fimeaw T@- eritE

SRR I (@ R
<, fogmfm

o, fwaiar

T34

RURE TR BN GFE *RA S | S
TR I | fof e FapifEfers, Frwfaw «ae
GFGLES ASF WA RIS ol |

<, %W G
q. THRAHG

(8

€.

Yo,

LY.

L.

Vo,

PR ©fE AFrwt : e

Y@ (I RE @1 FAG?
T, 0¢° 4 3e°
o 53¢ . e’
Ty

RURAIE T4 15 (IR T 5o° T O SHE @ foTE
AR AT (I T | 95 ST (I 96 ve® Jee
7T (50° — ¥E°) = ¢° TR |

"wiereme 1o @ & Sfy oreat zwcR?

3, et <, @R wret

o, Sy st T, TR

T3

SRR 14 FerTetE e g o Tfe
FRACTR & | ol T IoF A0+ (/F SIS AR
IR | ©12 It ‘Iorarel’ THiify o3 =7 |

AW FEF AR @02

T, SPRRCE AR @ 4, Fo6T T GRe (0w
[T (1T

5. R ACH TN AT A 4, -7 e SAie

T

Rl TS wE @ g Rppe, =R, e,
FAF T | @ Fiof T GFRE (ATF AT (ofeT | Qi
fapre @RItz ©iR Gf6 wemi S Tnrgad |

e @EG @A wRLT?

¢, 89 RC)-
.95 q. 9%
T

SRR T RATCE S AT @ TR RIS Y T TR
T O I AW O @A AT AT | vy GF
QAT AT | I S G2 U FTNS © 8 © TR I
BRI E

AT (I AT @ TR 22
. oW/ 4 M

o, Figr AT T, fersfrer
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SNl I T @ I & RIS |
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FIRZ T |

‘Every mother loves her child’-Negative form
of the sentence is-

a. No mother does not lover her child

b. There is no mother but loves her child

¢. No mother loves her child

d. Every mother do not love her child

ans. b

SR Every 3@ Affirmative a5t Negative
419 f@w : Every @3 g1t There is no + noun +
but + T =L |
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L8,

LeE.

LY,

b9,

Y,

Affirmative : Every mother loves her child.
Negative : There is no mother but love her child.
AT HT I GF CTFN I T A2

F. Q€ Wb, 359D 9, 5 @fE, 359
1. 39 @i, 359 . o ferrg, 35y
T of

SRR 59 afereT, S5as AT YRR TR o2 @Rt
I A2 @ T AT FOR T “arelereroar
JETICT CTN 40 T |

FERE &2

. feregm T=Aw <, AR (R
. Te FA[ q, Aol
T3 Y

RURIE TR PRIGE AR =7 S g I i
eI PRISSmIET | 3 beIfbba 7117 bfa Sfemy
PR R @O | FADoaAt JE AT dpyq Al |
What is the feminine gender of ‘Drone’?

a. Doe b. Hen
c. Bee d. Ewe
and. ¢
SRE Masculine Faminine
Drone (wiwifz) - Bee
Duck (#ifeg3) - Hen
Deer () - Doe
Ram (te%n) - Ewe
e AT G oA Fo?
3. 24°C ¥, 9o °C
. 3¢ °C T, Jv°C
©s o

RURAY TFTCCR JE 1T e v.03° C |
APl SHN@ 5° ETERRIFT | AP Sre=1@r
©8° G | A 7Y IBiT® 200 GIFBRGHE |
Fill in the blank with appropriate word. ‘The
man died____ over eating.’

a. for b. of
c. from d. by
ans. c

m The man died from over eating.

1. Tt s ¢oree die of.

2. T WA ot die by
3. W gy e die from
4. Serepiest 797 2o die for

ChN

T, FIG TGP N 2, SISO e SR

o, IF 14 YfF IZAT 9. e e ifm
< ST

©g o

qo.

®.

ax.

Q9.

q8.
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PR ©fE AFrwt : e

TR TR | OF @ e gio Srerrely 32 =0
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. Ty 74 . S

T 9

R ST AT B e o aage SoieR
I T | 9 SR TG ST SFFPIA Sy
e Far 27 |

e’ [FeR 24SIw?

. o ROFR <, o1 {geaR

o, @OTAET 9. ot fadfretaa

T3

RURAY TS ATIRSTE &SI | AT F ST
Y& TN AT AR AR e weifas, qfecarat,
BITAGI @ 31 e vonema 4ea ey @oTiea
TorE Gy B BT TR FACST @A TmiT
A= |

57 At (e w77 @FEG?
-, ot ENGIEY
o+, JeiaE 9. G
T

SRR 15 (X0 ST WeT 4o sid SR | @7 Noag
O, T ey | (FT1R] AP0 TS STZF AN
T | E IR (AT A 2 |

3% 07 2rew (BMI) 7 T ©Its oo fRemed
ot w4 =7

$.>25 ¥, >20
4. >30 q.>35
T

@)w{{-bQQoo)

7 €



Qu,

qq,

av.

.

bo.

RN 3T ZTes (BMI) St geret frefa:

5. BMI (18-24) 2wt wreii @&

3. BMI 18 7 <5 2031 &5 9 |

©. BMI 24 (At &f* 20T BT fReomed e

B
s @b afstres ey axe
3. oifeTe ST AT AR T
<, Ol AR
. fgre Wy
q. *ffce smd
T3 Y
R 215t AfEPTR Ze:
S, oifeTe SRFT I SAfTISTAET
Q. S SRR
©. e ez
8. 25T 77 |

@ IEP?

F. % g, I
. AT T, 3l
Ty

BRI CF 1 R R @ T (F T St A
I FO] FF I |

SRl AR 906 (e T feafeEs 1T g sy F|r
TS FIEE |

“TIF! TN YT W [ ARG JoT R e

3. I TR <, 1 SR

o, *[eAIe 9= S@iR W, FARET TR

Ty

RURE TIFBT SN 4O WAl - oA T R
AT TAHRT 43 THTST 8 IFFE TErwet AT

BIGE

s @t @i =

F. AR <, G
of. % q, T
T T

IR TR @35 e x| S fRg f e
T (P, Y&, F, @, TR, TPE, G197 39517 |

fagre fo Jtex trefa fEes i e
3. wAfet <, T

o, CRaFe 9. fagerea
T3

0 | fagred foq (TR B Sbo° |

b,

.

b8.

be.

PR ©fE AFrwt : e

IR TR (@ID?

=, Tay WieNlRT SRCIE
. G v, ifg!
T

SN ~RSTe b =T SR | Gt = afR,
BT, AT, TGF AR, Wi ST,
ST, QTFBIFOH | FIHT G NRITACHR I
Qf*IT | AT (=I5 TRITATR T SHIBIHOH |

He is Bangladesh ____ birth.’ Fill in the blank
with appropriate preposition.

a. by b. at
c.in d. from
ans. a

RUNAE He is Bangladesh—— birth. @2 ey
Bangladesh a3 #Itst by 3#70 |

RS S IR @FAH?

<. Prawh s arear <, T 717 ST AreT
o, STSIT B (AT ST T, FIE NATHREG ([0S
et

T3 9

SR <R SToIar @ GO | AT AT
THST AT | (A4 THO FIEPTAR (Tl

>, IR Few, TR T2 wH2S, 9y Topfn
T (T ST |

3. STEI BF oy =@ R il A SjfREce i |

e ¥R eReedE = @Hn?

. SIS <, ST

o, S q, B

T3

v Roide =
B0 - S
ST - forees
e - PBIR

TEHATST TECS & A2

. A0S AR FCT IS

<, F0e R sifasre g7 sfrewr

. IS SPiE “Afster ST FheAr

¥, ST AT SO e

T3 4

RURAE 0% (PTG T FRCaReeT wifemer wow
(oITTT TEHATST (74T (A | STTLRTS TR TSI
A (AT TS Tl 2 |

The called__ a doctor,’ Fill in the blank with
appropriate preposition.

a. for b. at
c.in d. of
ans. ¢

Sk They called in a doctor. ©41 called in =t
Tl | aft e=Gappropriate preposition

@)w{{-bQQoo)
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ba.

bb.

b,

do.

).

*w RfereRem Tar @we e o [ 3= =70

3. Spifferr <, G

o, T 9, SR

T3 ¥

RN SUTRET — SCe e st oo e |
TeR — *Nd [feTees Tar @oe e |

fRo — fEBIfiw fE ug st T & e |
TRIGADGT —> = SPfTa #Ifrer T e |

T gy WeeT 12

. Yo e <, 58 «fee
F A 9. q gfer
Ty

R el fog e

s. fr =gy vt q @fers

3. WBEe TPf Ro- 53

©. WREIeF Al 7T- b W6

8. fry ferifeefera sicoomor fWat- sq wfew

¢. Ry oIy M=o - 0y &

IR TS BT st e @i AfRIeas
@ e

3. M fGART (@Rt BT fiTe =7

<, (AT ARRST 271

o, A o= et RIBwIeT s &%

q. et feBaTT #1fet et wifaers &

©3 o

BB BT CoICas 3 ARt Trpee S =is-
R HE A0 A | TEF A0S ST et
fABIT A1 RTBRICT #Ifiere = | @R e SeTe
et 5wt et BT sifqers &3 |

A FRemaae afern w7 @=b?

3. ENET @FRe FaREead

4, AT

. CTIEAN RIZCAGHIRE IIRTFEL

q, sAfagRe

T

R = #If frem sa@ o SEab o
TIRE T | (@qN:

5. TS 3. CETGAN RZAIFEIRE FIREFT 0.
ARTR 8. B oyl

Sfi TPIATe aAte 98°-Which following phrase
is appropriate?

a. Many cooks spoil the food

b. Too many cooks spoil the broth

¢. Too many minks destroy the gas

d. Many monks misuse the gas

ans. b

SRR T4 SIS =i 72 -Too many cooks

spoil the broth.

.

9,

58.

5¢.

Y.

.

PR ©fE AFrwt : e

ST (AP LI B - T ranslate into
English

a. It has been raining cats and dogs morning

b. It has started raining from morning

c. Itis raining cats and dogs from morning

d. It has been raining cats and dogs in the morning
ans. a

RURAY T (AT YR 3B =R It has been
raining cats and dogs morning.

e @Rl Gifere Jeem St 722

5. TQFE I <, fYefFe 7o

o, SIS 9., Tt 791

T3 ¥

Sl T 7 875 | 72 (3) TR 3 (3) wifes
TR T («0) I i 71 (8) vt fefey 7 |
S TGN SAMI (FI0?

5. |/ <, I

o, q,

T3

RN SR FEeT @FF R |

I 85 9T & 966 |

SR RW &1 - I |

SN FF A T R/ |

e @I R e

) <, T

o, G q I

T3 o

SRR T T GO (AT TG 0% RS TS
OF NGENE L I | @- T, TFEE, IS, T,
BT 295 | TTYETE ToRETe S0 TRIE 27 | «fb
G SIS I |

FIFR TANOTS @ bl Feyor v “near
[w?

F. g ¥, (@7 g
F. g 9. g
T

R 5. T swAfers bl (T Terer fvT
/s T |

3. QT TZFACG DT 9g Tere fwpda sihear
A

7 @I v RN QT 2 12

F. AL FHG® ([@F FAF A, @ efey

. @ efsary 9. W fofestn

T F

SR SRCTCHTCo R TR :

s, fafeg o fadfar @ e

3. FRCwE *row fae

©, VY FF FFHC € P-SIf g R FeS

@)w{{-bQQoo)
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st 57 @G aemfEe AffasT?

3. A3 ~{fTe g Qe 4. (FIRE Wb <@l

o1, ST RIAT I &I 9. I et Ay g

Ty o

RURIE ¥~ [T Amieda € ¢ (ore SagR
RS 2 OIF TIPS RS A0 | (@: @R
AT €@ | (@ SRS ey *midd SR RSy =7
5g 407 ARSIt (ST A 96T |
@: ITF AT AT SN, Sl 7T (T A
Topifr |

They came home after the rain____. Fill in
the blank from below.
a. stop

c. had stopped

5.

b. stopped
d. has stopped

PR ©fE AFrwt : e

ans. c
SRl CFICRT AT after AR, after @3 ATEd W
past indefinite @3z after @ #its = past perfect
tense = | (@X: They came home after the rain

had stopped.
300, VI QT COf JRIT TG @ Gy (A2
3, Jifets et <, NI GreF
o1, 3531y o feraif . Bitw vt
B9
SRl 713 At sreTda S @F (s =T ST

TR | @6 N ZTS T AIHT TG Frorey |
@5 W vies.b [FEnieR e Swer ¢-v {57 |

3 TR I, of 2= 038-3%

AT ©IfFR: 20.0€.20%%, FNT: S T, S Soo

e G Ao st

@ TR - FAFE AN

Q@ 9T - TPl T

@ @ - P ST

® [ - R R : @)
M [T IR N A SNGG© ([RCAR Gely
ey €Aa S oFif*e =7 | @=- @ =«
FIEDT FI9-PTFIE AT |

The synonym for *Ambition’ is

@ Purposelessness @ Aimlessness

@ Indifference  ® Desire
M wrgt: Ambition =id- Swiwes, desire-
oIeew, e, Indifference  SwiReTer,
Aimlessness- =&i9el, Purposelessness-
TrTRITS! |

Which is synonym of ‘Modern*'?

@ Fashionable @ Ancient

@ Past ® Outdated : @
M 5r5t: Modern- sigfi=s; Past, Outdated,
Ancient-97 9 IAGCEA- SSIS, GUHE 8
e |

Siftenva 30 @ FAF “r=ifss [f v o
I T2

@ ifeds Q@ Gre

@ o @ (@5

M Rt 736 wifRe 1 sifers w9l A1 g S
LT PR OTF NG G917 (& T ST I
ST SIfCSHRE I 0T | (FoT IR ATHE
I oy @ 79 ST =T |

.

Choose the correct spelling-

@ Assesment @ Asessment

@ Assessment @ Asesment @
M F51a5t: Assessment - SEfaEiRe, foggor |
e R <Rt afte =1 =7

@ fFaize syiftIes @ @R Syeae

@ e @ wyIfieAT qafer

M r01: : (@wece FRbee afte” F@ g3 «afe
@B SICATABE @ |

ABCD wiwerwted w5 a, 2% b, ¥f d
HASTHRADT (FAT FO?

@ bd @ ad

@ 2ab @ ab

V] 51T: SIS S, SR s CRawe
= (7 x &%) T 95

=ax b3t ez

= ab 3 3<%

@I FOBIf T%eire 35 T3 AT FCA?
@ fooifi & @ febifa f&

@ fEBifiT « ® febif & G: Q)
V] 351251: FBIRNE (F a7IT® I% 0o AR I |
AT @ efStarg e e fBINe @ | fShifie
T AW (AT T T AE Sy 0 | AAET
oIS f© |

JENTACT TReoT T (02
@ «fger @ SqERI
@ TR ® ws" 5:®

@)wii-kaoo)
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Y0,

.

R

29,

38,

[ IRT: IR SRS (AL AR
ST G- T AT ZCT SRS | 9T SIoar
36°-40° 7 AFCS AR | €T T Y9 I TR
SRR e I | ARE TR et
TS TR T |

SATHAAE FE (FIAG?

@ qF =1 Q@ e 7o

@ wfowd = ® ¥ T ©: 3
03135 B G i M s B S R S R DI RS
AT SO I |

@ >o «fyer Q@ o @feper

@ 3¢ e @ ¢ @foE @
M 35=0t: e sicefa et elfedwm afers sem
3¢ ST e [0y AT a1 G0 AooTO T
=T |
Pret-stas I[WEE B ¢o = | Prow [/ Jraw
TR 5 &7 A @ I I IA?

@ 17 @ 10

® 15 ®5
M pRt: 419, 2ad I X T=A

. Tore1g %7 9X T=F

2¥wce, X + 9x = 50

= 10x =50

S X=5

> (AT ¢o TS YT @PIF Fo?

@ yoco @ vae

@ 3350 @ 531¢
M <5t
nwawmmﬁ?ﬁmwmw:m%ll

.1 @t 50 # Freifke MR @i =
50(50 + 1)

2

=1275
T/ACH F$F q NI SFAE “ SAEH THEIIA
=Rw I Ry AT afer” ReTE NS 2
AN F-

@ 05 AT @ 05y AT

@ 055 AT ® 059 AT

M 1<5T: >59d> AR q MCHS STl AT Sifoz
Ifeqra TRz @99 8 MfEa THT| Y054
AT o AFRT FTSECH q VT SNF
eI o=y Wyl €A 9 Rghe e |

o).

oY,

oA.

o,

.

Q0.

Q).

PR ©fE AFrwt : e

e @9 T IO IS A LIS IZIBA
QR

@ AT IOV T AT e T |

@ QA G S0e AR |

@ NITE TR FHOR W O e Fare |
@ T T BT |

M 51t: TS NI weRe e fefy sitagen
FARA-ANEF] I/ GJIZ© I A8 I2I0
(QRATTEZ | AIFAC RTNET I ALNICH F7ATS (et
APICHF TARC 0T 54 | I69 93 &I | T
A5 8 JYI5 |

@ wifGeee @ Bfw
& wpfBafe @ “AjreiTe

M 10t: @ &7 @i g wea o sfCaCe
¢ |
HIRCEG & AT NIRRT (I K AF?

@ ST Q@ I=

@ = @ A E:®
7 1155 RS ETG IR S C T EEEY e RS R4
ST AT |

e @l 7o wnife?

@ H,S04 @ HNO,

@ CHsCOOH ® HCI spelled word
M I0t: CH3COOH 31 siitifos «wfre «sfo
e afre s «ft sfiface sifeene [Ruifers
EXN

e A & AR 2

@ wizes o @ @A @R

@ TIARA IV © R ©: D)
V] 103t Sl feai S2etes F50e Sbrd@ AT
Ig I SR FEw ) ot Hfeer Ko
[IAFSCT (I T |

"May you live long.”"- Which kind of
sentence is this?

@ Optative @ Assertive

@ Interrogative  ® Imperative @
B =51_5: ¢ 1<y i BT, WA, AT, AT,
©ite Optative sentence 3=t 1 May you live
long- fs A& =8 |

FCACRA? -
@ wierreeR @R @ 2 AR
@ T3 TS ® GTETS (&I @

@)wii-biQoo)

7 €@



RR.

.

8.

R¢E.

R,

M pt: T =TS AR TS AT
ofer R I TEEasE @R
cAfafifem/afBas, 92 AR ARGIRCEHT @I
GTSHTE (SR PTSA 51T NTFF I |

Fill in the blank with appropriate word:
Slow and steady...the race.

@ has won @ win

@ won @ wins
M r5t: 9w gsww g6 singular subject, ‘and’
wit & =0 verb & singular =20 | GTest@ sieme
(¥)-2 A0 |

raTsifae ereraT « R fRtse @G Ao w2
@ wifeseras I=Efba

Q@ WL e =R [T Tomer

@ NI AR Lqar

@ fry gy TeF KA
M 5 wifsoeees Iou T2Hb @Trcaﬁe
ST i Sifeerad *Relif Raws gEfma
fters | o srgotem Mws gl | g fofd
TR A1y TR (AT AT T 7 |
fea ceiafs et Irr?

@ ~AfeeSiRT QI 7T 27 |

@ T 9T GTETT IR T AGT |

@ @ e, o oreg = |

® o @ ged GFANC A |

a =3TTa’> + 1/a FTITFS?
@6 @7

@9 ® 11

1
V] <5t m@mw,a+5:3

1)\2 1
a) —2.a.a

1
aﬂﬂ,a2+?=(a+

=7

“TIRAIER IR (@I G GRS (et
@ BEA @ TIARIE

@ 7 @ If=ier

M it SRIERE T 9T R @7 31
(AT | SO STeAmar I 2feq=g 33 T
e 2| SRR ke o atE ¥
TEANCLAT JCET G (LT AHATAF AP I T

29,

b,

W.

Vo,

).

o,

PR ©fE AFrwt : e

FE | S0 AT HRATTH IS Qe L6y
AT SRV SR AR 9 et era o=
FCEN | O YR AN G (WG AL A
“Afafbfe «re w5 |

Which one is the correct spelling?

@ Redius @ Radius

@ Redious ® Radious @
M =5<51: Radius- 35m1€, @ singular 1 Plural
Ze=T- Radii |

faese 1S G ferara Saraet?
® e Tl @ W e
@ I =1 ® wTesT “Meq E: @)

M 510t @36 ST et 8 sl spmifor
o I «t@ «So e A1 sTpTifie oid e
IR O O @A T 0T | @We- (@ T,
AR (@S GO |

AT AT P PR REEHEE e
(HCI) = 332

@ R_TG & Q@ eI (FF &FF

@ fow e @ ATRIZBTT T
M F51t: 4wy A= ST SIS gar 2o A7ifge
afgg w1 e =@ amy SAfasie s | e
afgetess 936 =T ~rRIR0E @ A zre HCI
[REGIECETE

“oTRr @3 T S T o IR AR
Tiow= e

@ @ AN (N ZEwE

@ ST AT @ AT R ©: Q)
M o1t Afoa Msw cnfaw gemie | e,
R FAFIF AT TN |

i eqqramar by oig @Ab?

@ fRTwew I VY CoRl QST &y @Al

@ I YOI FIAC ot RET TGl

@ ST ROFIF TFAl

® SI® A L & @Al

M prt: Seifeqgrawar =G e S @
Y- wife o FoliE, I9-ToF IR @aI-TFel |
o TWIRSIHTAmT *% 6 WL AT TSFI= Tl |
In a nutshell means -

@ large description® elaborately
@ briefly @ in details

@)wii-biQoo)
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0o,

8.

O¢.

Y,

09,

M =5r<5t: In a nutshell si<- seeseer, briefly-
e, elaborately-femer |

orIEr 40° EREARTIRT R0 FIERIUL FO7
@ 104°F @ 72°F

& 40°F ® 213°F

f-32
7 C 3

=8= 9

= f-32=9x8

= f=72+32

= f=104°
7t TG TR T @ o+ Bl =7, ufb @
¥ Afee
® FmoAR efe @ ereyet afear
@ werere efemm @ AR Al
M 5t @ alfewar ST 16 A7 Kooy
T LIS FAC #AICF 71, OIF Sereye! lfewa
0 | 5 IR T S B STt elfew |

William Shakespeare was -
@ Philosopher @ Scientist
@ Politician ®@ Playwriter

M F5r5t: William Shakespeare fet=e 55
(Playwriter) | SItz e 230 3afE SiER K
ifefers | fof Teemites wre 37 |

Choose the correct sentence-

@ Smoking is injurious with health.

@ Smoking is injurious on health.

@ Smoking is injurious to health.

® Smoking is injurious for health. @
M =51 injurious to-=f$sw | injurious-9s
Aty appropriate preposition ‘to’  FAIEANT
I |

The correct translation of “af<aw 23te 3B
2grefed” is -

@ It rained since Sunday.

@ It was raining from Sunday.

@ It had been raining since Sunday.

® It has been raining from Sunday.

M 515t AT I Sreredle M IR 3R
<= et e TR (@RITR, GTeeg since 20 |
= present perfect continuous i =6 past

b,

0.

8o,

8J.

8.

89,

88.

PR ©fE AFrwt : e

perfect continuous =1 oA T Teq
A ()

AT IR IR (F?
@ foiter™ wot Q@ S SIHF
@ Y @ @ ST A Sy

M F5145t: e F e <o ave IRy
‘TeolE o) e wWRe P FREE- W @3
(55¢0), ISR (y5¢o0), TSI (S5ew), TTSHT

(S5)) |

It e i Al Reidre =1 77 @b

@ Tuw fige @ o oe

@ Rosw - @ faw o C:@
JIETATR 2R TR GG AR 2

@ i e @ fopire e

@ s @ exeTF TEEE ey

M Jp0t: feire SepmiE &2 JiEoe et
203% R 6 G *IfNQI7 ABIeT A6 wo T
SICIT *% G A |

fReea et @fest (Aedes) =it 3ifze et w32
@ ©% QR GIEE]

@ fogmefar @ et

M IR e @R @[ 2ol &
SICAIRERrT = | SeRfves heaefa, & 8 e
«fes sRIfES G |

Choose the correctly

@ Nominee @ Nominy

@ Nomeeni ® Nomini

M 5t5t: Nominee- St w5fes, @ verb =
nominate - ScAIH® F4T |

AT S Jface @ R gl
TR A2

@ «IEGRPT SH2 @ IR ©E AT
@ fes
® SyE 2ZEEze ©:Q

M 3rat: K (At [KFS st =908 S A
T TR-UAIRT | T AN SNl Jface
FIE - IHZT R ! T @R |

(@0 =Y SEIATGIET SATT 72
@ coieeT Aifer @ @
@ oz ® wrar

M 01 “GeE RT (Spow), INGAR T
Afb® e AfRTeR AT Twifegs SATIT | M2y,
e, e, e @ e Sy
Sl

@)wii-biQoo)
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8¢.

8Y,

84.

8b.

85.

¢o.

Ferees A 3 Feae
@ FAfers @ @
@ RCAET @ g

M 5t g JCE SR ST (Y Rl
TeAifre (512T 2T [ FToroE AR EeE
(S0 S PLACE AT I e |

RIS todite @ iF At Jaze 272

@ FIZGICFTET QEIEEET]

@ RGIfeEfRE @ GG

M =514: feiis wsfs s a G,
AT IR CHEREE e tofq |

T G AT (FI0?

@ SoIFe @ oI
@B @I eteT @ TENACIET LR
M < Shige T @i g 9 q@eiite
GRS F9 93 77 | 121°C o=@l 8 15
Ib/rg.inch ®itof 20 B E @ gws @
GRS F4 | AN SHGEs GRS

TR & ST R0 SABIF |

@G Fefre e

@ s @ (TS

@ et @ i

[ G10T: @< -SRI T S (I AIFro
e eOlT §- B PEIFR -0 BT *TT
Q3R TSIl 8 BT~ S T e Ry wifdere
T A1 FASRS P | A1135 (A0 QAR5 9,
[T (AF SHIRFRERS, FAFI20 (AF AT,
QRUET (AT (FIAGSILG, FMIARE AT T (AT
(25, TN (ATF TS | ST A T (AT
AFIRG 2Gfs Zeell wogfars fore |

I3 A 8 Bfere Afex et -

@ SFHOET AT Q@ e Y

@ wirepfers @ @ o

M 515t: Q0 Ty @ Bfere Aifea et ezevaret
M1 JCET | e AR Bfere Afex wwE, 79T 8
2 R &M (I |

fee @ @RS swid T3

@ St Q@ FRF

@ @ ® facet

M IR @l G s GrReeRE 7R
TOFFOOIR {8 T et 7ae ~AfRere xeet

@).

@R,

@8.

ce.

PR ©fE AFrwt : e

SIF RS Wi T | [, @RS, @R
Tonfr e Wi |

@I ARfOTe LITTa Q¥ (ATF (ST (o [T T4t
7

@ PO ofrew

@ F5s FEEE

@ eI (FCGIAE
M j51: @ ~Mwfors @I QRS RAge a3IEF
oo faer (2t NS S g qwr W
7S e (A0S 53 90 A OF qIee TEH
0T | @ ARG LT G (AP (SIS (ST TSI
FAT |
m&wmmm%@%wm

@ I siree

@ (6 TN oI5 TR KA

@ GFreEd Wmefr- wwET 3T

@ QTG TIES (@A FfEA FILA

@ aareET B e =
M it e BF ssay e A ,
Ifegm vaee T @ vut B «sfe
TP | SRR SLIAF ATCw I SI=aw (Rt
S ARETR Torife |

. Y @3 AfeRw T e
@ W& QIKIEINIES
@ T @ wefa ©:@

M i Ty < Afe3r S TRe | ST ims-
T R g afenmonem, g, wfq, a9,
SR, SR, AT |

e @i TS Glifers ey w72
@v @ 3
D 3 Qs

M [T 1 @7 (5T I@ (T FFeT T 1 e @
T O T (FIAT TAWSF (73 Sl Qe
ST 0T | QAT 4 =2 % 2 | 9die, 18 4 (e
CIfeT<s AT 4 |

e @ Smigy s
@ 3= @ feferam
@ corgiferarsT @ fem ©: Q)

M it @ A 2Wied e 40T N OIwd Sy
wid T @ o, e, FIE, S, W,
&%mw,ma—;m |

“o™” a3 fo?
@ WfEg @ «ita 7
& sifaer I @ e I : D)

@)wii-biQoo)
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eA.

(4

€>.

Yo,

L),

.

M <=5t Sitowaese HAifRey awe Qe i
G JeT A | SArE A el FoS dfe
WO R @R Y9 ©Ifaed «ft ewifre 2z o0 7=
(AT | O A FTed Fire @ Al
Ty Trore AeEINs, (e, B ¢ FArefes faw
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Choose the correct sentence —

@ The train is running by time.

@ The train is running in time.

@ The train is running on time.

@ The train is running with time. @
M J51=t: 319% ST (ARITS “on time” = |
SEIAIRGT B I37e 'HTTP' @7 et
1534

@ Hyper Text Transition Protocol

@ Hyper Text Transmission Protocol

@ High Texture Transcription Protocol

® HyperText Transfer Protocol
M 1: HTTP «@<fG e, ar HTML
THCACT T T Tl ST MO 8 FIEG G WK
O M-I &f GRS Al 7 |

53 I SRABT ST I (@2
CRNGIES) @ s

D @@= ®@ wferaef ©: @
M IO (@OIF S FF AT I GR
SIS A @ | SRS AT AHE o=
TR @ G SHART IR I |

CoT (I TrRe SIRRIbS fReeEe qeae:
CRIEERIS @ @ 9 B
@ < 5 78 @ o affe )

M [t @ 7w [{erw 8 &4 fog o=y smes
fireifre 0 o2 oF f[eaae | @99- 37 I7a 21 |
Full form of CGPA is —

@ Certificate Grade Point Average

@ Current Grade Point Average

@ Complete Grade Point Average

® Cumulative Grade Point Average
F& Terrer 2o e sifast @A

@ AP @ gmFg

@ srartoe wofer ® i@ G 9)
[ p11: TG wereet ST e gy @3
G-I P! | 97 QAT TR (505 AT
QY HR) TEFCETE TS YACPY AFIS T | 9%
TP TR AFAT Sp0 AR AG T
2o Frafee |
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Choose the correct sentence from the
following:

@ One should obey once parents.

@ One should obey their parents.

@ One should obey one's parents.

® One should obey the parents.

M <511: one-a3 possessive form o
one’s s his/her = |

GIAE 8 (St (T i ey SRfFe?

@ IWEA @ TeTEIART

@ BT 8 FeA™

& TG 8 Ferm © FIRITH S RS
M [T 5o Rt SHAeE (@eld 936
oo 2 G | aft AT R STt
TRFe NRME AW ALeQd  TI(FS
cogferl oG wyE et ee e
3% |

The correct translation of “Gafb siwt ™ is -
@ The train is leaving for Dhak®

@ The train went to Dhaka.

@ The train is going to Dhak®

@ The train is bound for Dhak®
M IRT: (e @ e, AN (JR/ITS
bound for 37 |
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""Don't judge a book by its cover." =B
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(a + b)? = 2ab =7

@a+b @a—->b

® a? — b? ® a? + b?

M =5m5t: (@ + b)2 — 2ab
=a’+2ab + b%—2ab
:a2+b2
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FAR FeRRe T o A7BiRweT b
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Which one is the correct sentence?

@ The lady died from cancer.

@ The lady died due to cancer.

@ The lady died of cancer.

® The lady died by cancer. @
M gt: et Wik qed @R[ die of =%
accident-@ == ¢o1tT die by =7, G FRCA

q8.

q¢.

qu.

aa.

v,

.

PR ©fE AFrwt : e
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TG TET AT (F) |

SR AMIER SItd RigE Fere” I @ FITe?
@ YR oS Q@ oI oIS

@ spefe qeaw @ fiey ot
M 51t: IS ey Sreresited |ﬁW\ow &)
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v>. Noun form of the word 'long’ =- TfiERs ¢ e G2 @2 «3 ot TeRe
@ longer @ lengthen FET
@ longest ® length va. Fill in the blank with appropriate word:
M 3t long- @€ (adj), noun form zei- I'read ......... Daily Star every day.
length- %<f, lengthen (verb)- @ifre <, ® the D of
long-43 comparative ¢ superlative form ®a ® an . @
Tar@ longer, longest | M it At s et definite article
bR, G e 1R TE R @3] 0 & o ‘the” <CT |
2 vb. The word ‘ecological’ is related to.
@ @ e @ environment @ demography
& @t @ o @ @ pollution ® atmosphere
M R0 o e g3 aR @9 e o 3gt0t: Ecology argfmy, o fwy Afcaem
fafere 2ot wdie w36 AR aRf™ «v =T @ AL AIAEEICeT A ATADS T | AR
T T | ecological (IRgfm MEFEG)  *W
vo. GPFEDE (Apiculture) IeTe & TR environment @3 e =iFe | demography-
@ TN A @ @ B gpRAreg,  Pollution  w=e, atmosphere-
& T BT @ GnfE e :@ e |
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M 3o wrew S L Glirram 391w AT 2033 IATE S FEERT WA (<ITT 2032 A
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TR AT FAIEAT € SO (FHOA 9L
CBEA I8 T QT IR FACS 07 2FFo AASI
AT I IS FAIF AP 77 FAMCH2 @fifere
e | @feifere I RIGCT S |

Fill in the blank with appropriate word: He
has been ill... last Friday

@ for @ to

@ since @ with @
M 55t "B T @RIt since I9F® =
e, Friday == fAfwe fmag @R

»0. R @i == A e @it Afer

@ =gt @ e

@ =T @ <R ©:®
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@ .o (& @ 2.0 &
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G I W o7 oies LBW (Low Birth Weight)
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@ write world web
& written word web
@ world wide web
@ word wide web @
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@ vlererg @ vt

@ e ® BeTeT

[ 51251 vfere =1, TR’ @R SgAIfeR ferarem
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35 3% Y00 BIFIW T A T | (R I3 0%

it R waca IR Rerwygewy F© biat 32
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M IRt *=, 35 @ FHT AFE AT FACS
(IS T AT | (@I- 2, o<, A, T A3
et 2= |
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"'AAS yOU SOW SO you reap' I<sfba s et
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@ JF M A8 O & NS

Q@ @I I (oIAF e

@ T© NS OO K

® TS 2N A T

M re5t: @ft @3 eam a7 | @3 9 @ I
CONT T | (SIS AT, *M1eot Jy-Greed leads to
sin and sin to death | IR 9 WS Ol @ “rs-
Never fall out with your bread and butter |
o ote we ¥ F-A barking dog seldom
bites.

The correct translation of "@F @ 3@
R " —

@ It is raining since morning.

@ It has been raining from morning.

@ It has been raining for morning.

® It has been raining since morning.
B J51=5T: A ST 40 (PICAT FIer Zevz AT T
WP R IS beICr I ([ I/ present
perfect continuous tense @ o SR 2 |
R o @ AfST e |

Fill in the blank with appropriate word:
I congratulate you ............. your success.
@ of @ on

@ for @ at @
M 5r<5t: Congratulate on- Sfes™ e &= |
“SIAR EIE T S COIT S AT
IR TELE?

@ Trotea @ I ¢ FIZA
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M it 59eiB I S157 IMw A ey
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R @I =T IS FATE ST T TR
@ «rorwEfe (Entomology)

@ wWigearie (Mycology)
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RV,
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R,

WD,

@ wyeieEe (Anthropology)

@ erePTEcsEre (Parasitology)
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T A1 [FEHFAR 2T 7 |
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Y,

A4,

b,

.

80,

85.

Which of the following sentence is
correct?

@ The Padma is largest river in the Bangladesh.
@ Padma is longest river in Bangladesh.
@ The Padma is the longest river in Bangladesh.
® The Padma is longest river in Bangladesh.

M et @ @ AN S the 0T, SRE
superlative degree- Sitore the I67 1 TodiR
oI (o1)-2 A5F TR |

F ORI *77 T2

@ IS W M @ W RO

@ IR SR @ wigE wes Sy
M [T AETem Simm, SI9e /e €32
T SR S5ER @ O SACwEe Re
AfRw | et W @O e I R
A =S *E7 |
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GO et g 2

@ SFoR IR @ TrmM VR @O
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M 5145t: @iy Yfowiy BieE Ml S
SRIBS | b8 UFT SR 897 s ¢ Jw®7
Folfe TR @ | aft iR Were @ w8a
THS! S¢o FB |

(a + b) (a — b) 47 7T T2

@ (a + b)? @ a? — b?

@ (a — b)? @ a? + b? @
M 3rt: (a+ b) (a—b) =a(@a—b) +b (a—b)
=a’—ab+ab—b?

=a’—b?

TGS T AN 77 FIA0?

@ fafy QI

@ =y @ IPTY

M [0 Ssbe A q ferma M afde =)
AFgE ¥ Lo | FMEETEE W AT
AN AT 77 | NS ANz
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(FI ST (ATF T SN &2

@ fifer @ e

@ e @ WFS
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M M0 T JAfSKAE SO 8 T
RRIPT TCo WA eIF© (AT AE AT &
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RS TR G Rge s =1 <7 -
@ fRewifeferar @ e

@ e @ wfbew @
b 1t: Sifber ZeeTr iy fRerrefers e «
RES T | “GRIEHRT q0ed @RS 7% FOFE
9T TASIRE AIFSS @A N |

What is the antonym of *Apex"*?
@ Pinnacle @ Peak
® Top ® Base

M < Apex, Top, Pinnacle, Peak -
THetE wd- e, gen Swee base fofs,

e

ST A FAIF ST (FIG?
@ ffom @ o[
@ AT ®@ T

M RT: TerT w6 Ao ok | @
TRe 5y AT *7- I, TS, TN, THIR |

Roy s Aot @b
@ =4z @ ity
@ B ® ©=Fe

M 0 o oot efestavns st oy
GETRTT AR B | T ¢ o SR IRNR
TGN OIS 8 T J&1F |

e @ weEe

@ T @ 7

@ eiZArT @ R

M 1Y SIRACE (MR SR A (FEAT | G
(TR (PICT FTOIFaT @ ARIBI2E™ A = |

Verb of the word "apology’ is
@ apologize @ apological
@ enapology ® apologify

M 515t Apology- #1, 784 e<i; a3 verb
form zzeTr apologize- w3 &M 54 |

o7 (@IE @I =S AmR oA ke
® ThrmuETe @ wwhE e
@ T e ® WA S

M [0 SRt Ky AIAE SAN 000
ATE, AL AN > Sodd AT G2 INME AAFS
S558 I (ST FTHI 1S A |
GRS FEw @I [
@ WWo == Q@ T I+
@ foreem g ® foream g
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3 IHCO AT AEHR T |

The antonym of *Honorary" is

@ Salaried @ Official

@ Literary ®@ Honorable @
M F5151: Honorary- stasf@ | @3 [=drs *=-
salaried - (@o7gS |

e %5 i #I1e T R G @RI Sl
& @ RSt =@

@ LA @ wdx Tfe

@ wderE @ W ©: D)

] <5t5t: “Sreeet” *=fs 1SR 21w =7 R  @atir’
@RI weda 9 & =

What kind of noun is ‘man'?

@ Material @ Proper

@ Common @ Collective @
M [101: @< noun &IRT ARSI ANSTSI
TRiFRE @RI, M2 I@ ICE @
GIGTEICE COMMON Noun I | (@X=-man, boy,
girl, student Zerifnr |

. g fre w2

@ ERI0 FZPo1RT @ T AT #

@ o @ freofitaroa
TMEON | NRME  ROMEFGH- b =S
ofewrs, WITo1RF-REA ¢ TE qe™ Z0o=e
Zfert BT |

oI *3t G SR 2

® fegids Q@ Ao

@ smide @ sl
M 101 Rode @ 9@ SR SRS | vy
e Refeds *w- Tae-ufks, Tge-fge,
A3, -, SI-FI |

What is the full form of BSTI ?

@ Bangladesh Standard and Testing Intelligence
@ Bangladesh Standard and Testing Institute
@ Bangladesh Standard and Test Institute
® Bangladesh Standard and Testing It%
Which of the following sentence is
correct?

@ She found the boy cried.

@ She found the boy cries.
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@ She found the boy cry.

® She found the boy crying.
M =51t: See, Find, notice geiift verb-«3 ==
object AT IR ORAT AT verb A A
verb-6 31t ing =7 |

ISR (oTe fofers < =31

@ WREGEA @ (B

@ fefFam ® @
M Srt: <enifen (Ste fefers e <

T | [SfFIPTE I W (FI0ET IRF A AT
G2 NRGIFGANE I T (FICIT “ANeTR S’ |

IS TN @I Bt [re e
@ coifere @ BT
@ wEE @ =W ©: Q)

M gt SISFE TR (TR (AF ABCS
e B eat =7 | 7w =it @ ieat BT (e
2T, O TSI AIB FATEIR e 27 |

G BIl AAGFAC M0bR (PG I 41 22
@ SGrEAEs-AR @ -ty
@ wrTE-Af ® awm-afy ©: Q)
M 5101: ST DIl *(Ieace SeBATOICAICEs ]
JARE A | qF-AN Fofesn [T @
e QR AN FAR ey aze
el

e S IR TR et ok w4t
q?

@ GI-geNR
@ gE-ga

@ GEE-g

@ wqEI-ferma

M 0t AT N 2@ AN &
T T OF J2E GETE T Z0O RS T2CE G
T S |

0.k 47 If Fo?
@ o0.008

@ 0.8

M =515t: (0.2)2 =
=0.04

@ P (& RgE P @ e
@ wiared PHgelfe

Q@ e AgAfe

@ NS 4T
@ wfFicT sragfasear

& o0.08
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M [t @fie IRE SR SRS SYON
TS fota | o spoy AET s¢ WMIRT
SRR T R R05¢ AT 9 GelIR Tt
FE |

e et ife ==
@ < @ IWI
@ Wl ® feet

M T Ghiferss = 1 g agfod A ot 1
*a | (- T |

Fill in the blank with appropriate word:
One should be careful about......... duty.
@ his @ one's

@ the @ her ©: Q)
M 51t One-«3 Possessive form f&eiea sidmr
one’s I |

s G cfe =it

@ o @ =Frer

Q@ = @ fmSiger RS
M 510t Gferss Fif#r (2t e Afetes @i
M A wF AR Q| @A TR, @A, THS!
Zogif |

AT I Jeod (AT I 7?2

@ >a e s5ad @ Qb 559

@ so «fer 5 @ v TB 359

M 05T: S5q IR So GfeeT e g=i
TR TR AT T | @B = dq @ @3
TP *AL A= I | 9T *AL TII e
‘ofclefeTe ! JIETTA* A CAIRelT T & |
SeCE ©: YR AR e ey G -
@ ffers Q@ mrffam

@ sifre Reram ® wmifieT
M 1401: Seacs ©, J2um *RMEIR R Seres
R SRR | O Mo (TS AFS (AT AT
*S[AICS I SR TS #® FERCR |
Choose the correct sentence

@ He speaks English like the English.
@ He speaks the English like English.
@ He speaks English as English.

® He speaks English like English
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PR ©fE AFrwt : e

T o @ @3 9 fof Serzrerma et 3l
0 |

Gi?

@ [OF % I [GIEACEE

@ sfters o @ fes o7
M 15T ST 10 S[eR Sgfs Sqw e
T |

e @ R
@ -Gy @ fEE
@ (e ® TG g

M 1Y 3CERG, (25T @ NG AR Fgew
FIFT | TR T SCERGT TS By, (@5
A PERe R GG BiE fReTE ar
PSRRI |

Topret i fve i Amfs Al e

@ T TV CoF! FA TN P |

Q@ I SR *SIfF T AT |

@ Tl %t WL AT 7 |

@ T ey wig A1 |

M 01 T2 o i TN TR FIS-AH 6
ASF T | (@ AFA ST AGF TS 0T TG *
N P CIYEIE TR 0 | (F) TOTS AeT
g SoTreta (AT |

The ""Merchant of Venice™ is written by
@ William Wordsworth

@ Percy Bysshe Shelly

@ John Milton

® William Shakespeare
M 515t The Merchant of Venice-«3 asiret
William Shakespeare | Shylock =< @
35 AT TS 0 T AR AOF |

Fill in the blank with appropriate word:
She has beenill................ last Friday.

@ in @ from

@ on @ since

M g WmE s ovea since J0T 1 oAk
Af5s Tea (%) |
Synonym for ‘Legendary" is

. @ Fabricated @ Intelligent
M 5t oriE FicwE e article 36T 9 T & Eamous ® Legitimate
T 4T T SIS WIRSTE R | S ReCET g
@)wii-bikoo) TéT@
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qq,
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M w5r5t: Legendary @3z famous- &<f s,
TAfifoe | Fabricated- f=yl, =<1, @
Legitimate - Sgrs, (34 |

The word 'lunar’ is related to
@ Earth & Mars
@ Moon ® Sun

M e Lunar- 5w wifFe, @ moon-¢g=
latin adjective.

Fill in the blank with appropriate word:
| saw a blindman ......... I was walking
along the roawd.

@ while @ when

@ at the time ® before ©: @
M prt: while-wi<- 2w, @ 35 | 217 while
et Ataw clause & sig=ers past continuous
tense =¥ | v while-43 subject =1 AFeT o1
verb-f5= 77t ey ing T% =7 |

3% @7 T Fo?

® 81 ® 9

@ 27 ® 72 ©: )
Mt 32 =32"1=32x31=9%x3=27

et @ oftas e B 45 =3 | e 7T
[ETF B 25 2T @ | & T F© A2
@5 @ 10
® 20 ® 15 ©: @)
M 511 «f9, 2t@d T X =T
;. PremImx + 2533
AT,
X+ X+25=45
= 2X+45-25
:>2X:20

x=10
Wﬁwmwﬁwwmﬁ?

Q@ YIFEe IS e

@ WWW ® Tt

M I SR W TR 2R ,
WA gR 9498 SE AC (R .
Jeqrared s @ | SeRMeE  wee
Jfeyafefes veftoa 77 |

The word *'Genocide’ means
@ Mass grave @ Mass attendance
@ Mass killing ® Mass gatheriﬁ

M =51t: “Genocide’ =@t A mass killing.
“WE @S AAfferer, aft @IN @ 92

® wiber Iy Q@ if A1

@ fireg <1y ® I AFT

.
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M F510t: @ AT @ TG Sy (FST) @ @
W Reew (e @) AT eI W6 19y
I | (@N- GO @S Aforey |

e @ SiRarEe @
@ (a7 @ e
@ TIRTEe @ T

M 51<5T: SizarTeiee @e T | a=rer E:
RIS @, SIRTwEe ¢ (27 JFoRA 9o
G |

. “ T TIY W T I & cATEiREE?

@ @ aRbeE @ YmE ST

@ A @ferea ® @emm
M 515t Sigfae FFRk ERIF ware, @RE 93R
ARPRATNW ISt FRGeor ar feg Ay =i
T3 7y T i Ao |

Fill in the blank with appropriate word:

There is a newspaper shop......... my way
to the office.

@ in @ of

@ on ® through @)

M R NS 0 ANy AT @R_ItS ‘on’

T

@ Tee wofer Q@ e wofer
@ ree ol ® Twmem )
7 T ST wefel (BRIAT (AR, R (AR

(TR ARHT S (I et
@ (TR FAA Q@ WZES o
@ TN 5 ® @ @ Y

M <Rt: et e+ IJED NI (AT |
(ETFET NEHR FE @@ w57 37 |

X (ACF (B I I MRS T =~

@ AArgF A @ IFAGF AR

@ e T ® wHifiF o TR

M IRI: 5 (T (RT RAIGENE @1 F
AOTGF AT IR X (ATF TG TAATSTANST a?ﬂ
T GG AT | GG TR, T FRA

X[y 2 IR NI T |

@ M ECH IS ‘(o Ngerar
far” Rge =2

@ oo AT @ Sodb AT

@ Sove A ® ssvae RS

M [0 S56s ANAT 3q TCoFT JGCCH D
AR wewifes Meerar et Rera Tgfe
WWIQQOOW% TR TEER
Sobf5 T A8 MeIT et Sret lifere =3 |
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Fill in the blank with appropriate word:

Fruits are wonderful ........... digestion.
@ on @ in
@ for ® to

E: Q)
M 51=51: @ity swewR/aeE el wonderful
for T59%e 2T |

fargre for (@it e F© AT 2
@ o @ >
@ 8 @ 3

M ot fagred fom @& ieia =R svo° A1 g3
IACH |

GfewT ST 3@ &

@ WA ACFETT

@ TSI ARV (&

® TSR T

@ wIERETER @R G @)
M 0 e QIR @@ Sb-ay A
Gt e I | 991 e [Reeg a2y
pfeaaes  ‘eifitifem  wifkse w@Ew
ANEAFSISE FF |

FETH JIENAA TSI T FCICRA?

@ ¢cod @ voq

@ oo ®@ g&q

M F512T: 2033 T S ¢ TF IAIENTAT QOIEH
T FEACRT | AT AN RREONT oias &F
FEF I 2JIRA (0d0 AR 0 () qIR AT
TR RETT GOIEEE Ty @A e wgmR
(205 IER 5 ) |

CIGITER A Genar IR @i S cpetieat
EUE

@ (AT @ G

@ firateweT @ Bl

I T (oG A Geney s ey sy
e NIRRT (orGeTeTe giefag R S
IR | (T8 A A FACIR ARONG FC |

Fill in the blank with appropriate word:

Call........... a doctor.
@ at @ in
@ for ® by ©:9)

M rat: Call in w-cez =1, Call by-=tg
A &+ (it 41, Call on-fica orat =1, Call
for -si=i7 293 | Call in a doctor -wreR (Tt
e |
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® s @ <fer
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M [T e aFIce SyEE e SfeqE
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e 2 7Rk G ge NosHRFR of6 49w 3030-2)

S

TR ZATeT AT Fa6?
@ 4 ® 3
® 5 ® 6 ©:®)

M F5tt: STaeveeR Tefre b1 ety (2 esitam
frtea vt wifew «3e e e gfo e v
TRIG &TFD AE | FBA T @ AEFHAIeE foafd
TS =R |

M ret: asifea Fonfast arere ‘o et g
T T AW 97w @ rifEe [t
AT AL brd (D) T SR Sregdl ST |

TFICCRA &9 pH @3 TreIfRT T F97
® 35 @ 94
@ 74 ® 15

M F51451: TNEa (A0 &R (6 9% TS AR |
OFCH SfTE RS \CE A0S AR ¢-v
BT | sReCR 0 pH 7.2 7.4 |

‘qF I IR I *qrerz’- Translate into

. YRR TS Fo? .
) @ 5976 2055 - Q4 B 030 English,
) @ |Itis raining for one hour.
& 56 Form 2030 - 3 O 202 @ It is raining since one hour.
@ 3¢ SAPIT 2020 - 3¢ PG 033 @ It has been raining for one hour.
@ a6 2020 - 05 TEHT 2023 @ It rains for one hours. @
M vt s =T o< MWW M ot et Qe present  perfect
TSR A T (@ifve 39| W continuous tense-9d | (FIT AFT ST (AT
(T T =T 055 IER S TG | Jfewacwa OF T ISAES beR O (IR present
IS 59 T 00 WO 0 A R perfect continuous = | iff8 =3 =i for
O, I T =eq S S=Revea @& e 301, fAfeE I @RITTS since I67 |
@ Irom @ =y v. fon @n wiftifee apfeelm areel @
@ T ® =y | e
M 1t: =11 9 ST S % AN BT &y @ T e ANEETF @ Wye ¢ T9
SO ST T | *CH (7 T~ FT @ wf ¢ TS @ wferm
G, ST O (50 I AR I *Mied T M TN @ g Refre et W
ﬁ'ﬂﬁmm o L | TG e Afof I ST ST SE® < |
8. AL s 6‘“'?@\8 ARREE: @ vggred [HEre IRt TN @
SISl T T I 45 T | PO IO T | o er g (oo e ST 71 OIG NG
Fo?
A |
® 20 @ 25 oof: Segre BIAfG A1 T @ 2ifefs (ICAT ST
g 45 o ® 30 20 OIS I A0 |
mw“"m h T PYYISE BRI g AN FE @A @R
?,'ch X A ST =TT ZC ST 937 0T |
. TP 207 6X = Wi, qrERTE 3 ¢ WS 773 e S |
ermee, (X +5) + (6x +5) =45 5. I 7 AR
= X +5+6x+5=45 @+ @ T +B
an {
z;§:gg 10 @ @+ @ i+ @
S x=5 M =it: 99 + o = 3 | e w@iva oFw 399
. Frare e 01 = 6 § = 30 e AR b S
¢. AT Fofet o Teor Tt T T ' : RRNGRNNN
o Reto ) So. IR SRATSCR Tt A=ia 77 G2
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o8.
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M 0t iee7 SRR ARy T9 [
TG AACHCT @l 8 =g aife i Far
| @ SFECE Al W@l 2@ v (A
500 oI |
a+b=5«3Rab =12z a? + b%se?
@ 2 @ 3

® 4 ® 1

M 51451 (e e, a+ b =5; ab =12
@4, a2 + b?= (a + b) — 2ab

=(5)?-2x12

=25-24

=1

WHO 97 7% 7eq (FRIw?

@ (eeer @ e

@ fiezas ® @ ©:®)

M 5rt: sy 18t (WHO) afsfoe =3 y581
AT 9 @fHeT | S8y AR do TEIE AeFIH
Tifeserad Reag AR Wl &fe 3T | @7 W
Ve JITREICST (STCTS! *1FE S_AIFS |
G AT AN 2 @A I ©of 12, 18 '8 247t
Rerey 232
@ 89
@ 70
M <5t
S[53, b, 38
2o, », 53

O, 5 Y

@ 170
® 142

O, S8 W UIFANY, =X I X IIXOX9=193
s fqefE e = a3 — 2 = Q0

TET I WNAF T TS TR (F?

@ WEFE TPMIve @ FIG Fewzpel TN
@ T I @ IR

M gt e HifReey wiNarss ww e s
YIET AT TP W& (Sb-28-d0-90) | fofii o
‘TS FAHE AT 9 BV AW TR | SF
JRT | RISl AT Mo @Ay MEE qoH
«ffor gk AE FEET ABT  FHIANT
BRISTS AZCFT TLMA 718 |

“You will be helped by me” change into
active form.

@ | shall help you

o,

o4,

o,

.
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PR ©fE AFrwt : e

@ | shall have helped you

@ | should help you

® | must help you @
M 51t: Passive & active €t ® G«
object 53 subject form, tense ST
auxiliary verb + I verb + (passive
sentence @) subject 55 object form =13 |
By «=sta =11 Future indefinite tense
passive ste Shall be/will be 37| s
passive & active st shall/will =1t | Fe<R
o @ AlST Ted |

@5 Feres T e
@ AR @ @R
® Rare ® =a E:9)

V] o o7 S *w SR, 9F @Al
FRIF *177 (12 | WS FCAR 7707 FaADF *1¥-
CHRIEA |

‘e fiee ol e @ IR @i efe?

@ TeE AL Q@ FeIAS b

@ W I T @ FeIEeE @S
M < ‘WW@W’WW?
T FONE T Y FEPAS | (AN~ A 1S
|

Which one of the following is correct
sentence?

@ Wewritebyink & We write under
ink

@ We write in ink

®@ We write with ink @
M J51<5t: Sfrrers Sifer ey Te= ¢Fea ‘in’ 907
5€ 7@ @RI ‘with® 3071 1 @S- with pen,

with pencil 2e7ifw |

QAT AR AR LTS 2

@ NaHCO3 & KCI

® NaCl ® CaCl, o)

M [0 ARE AR IS N ETIfeH
@13 | @3 e 2z NaCl |
JENANT T B-20 fFF6 weew wf¥mmea
=i f?

@ i A Q@ I I Tt

@)wii-biQoo)
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@ s e e @ WeER K ey
M 512t TR I8 T-20 @3 (535 fatb
TR SR AP S P | AocE saece
&5 WIETa IO AFITE ST ZFA1 |
“foat a=a” @ “foAB’ @I w2

@ fowme Q@ o

@ S_ @ fer

M 51t @ et feaifers oimwg sien o s
OF MATRIGF [eewer 0T | @=- “foqfs =
QT {Teer =7 |

TS ARFS AT WS PTG (PRI
_Fe?

@ wiel 9 TeF
@ wme ® fowm G ®)

M [T IS AT ATIICHCER AT
fB | FEIT R0 AT WG ICFa’ xeet
FICeTCha el | By I RS PTG
foomT |

JENTCR ISR TMIET & AE® (o7
IG?

® I aSF @ 7 Tew

D s ICERSE I ©
M 1t IETRR Ifeg0a SR &= 0K
(ST AT (9T) | T, OF € 8¢ (O eI-
JqTe  (Vy), IR@E (vq¢) R IJweAfow
(8RY) |

FEATOICE o1 (ewifa eofs = s e
@ Af5s Q@ sy
@ e @ e

Select the correct sentence.

@ He reads Ittefaq regularly.

@ He regularly reads Ittefaq.

@ He reads the Ittefaq regularly.

® He read the Ittefaq regularly.

M <5r0t: Simple present tense 47 (R@I¥
subject 3rd person singular Ze verb @ ATy
sles =¥ | oISl “fas e Sl ‘The’ I6T |
Toqr qoH @ Al |

AT CTeR ST 7% 52

@ T ¢ @ (g @ IR (T

@ TS A oTg @ T IR (g
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% 3 ) E L e s S B i i R v SR
T’ | O3 OTd idf b, d¢ .. @ &7 sb.50 . |
2033 R ¢ G U7 (T SAI4 41 2 |
Fill in the blank with appropriate wor®
He — here yesterday.
@ was coming @ had come
@ came ® has come
V] 5151 et Srere o= == yesterday AR
3 past indefinite tense-93 =63 | GTF@
o (1) 9% | Brgmey, AT yesterday, last,
ago Teyifm AreeeT A6 past indefinite 220 1
1%@?{ 1%«3@1@% @A5?
@ 8:3 @ 9:2
@ 4:3 ® 7:4
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1
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X
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=4:3
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I 2
@ = Q@ @
@ 5 RoT @ &
M [ oo Gifes Sfe™iE T smE
(AR TSAE (T 5>0) | 2038 AT wo ©F
e 2T FIOE R |
‘T @7 ederdE =% @i
@ SEeE Q@ ST
@ @ e ©: D)
M IRt @ @7 Redreids =5 69 | Ji9s
fag wEpd RedTeids *w- Sem-fed, s[re-
A, ARG, *RH-Ne |
e TR @I el (eite R s e
@ IFATESETAY @ [Gs
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M w1t v 5F @R sofb 7 e svua
AN b 995 AfSfre 27 wnsfers witafes @i
IS5k OB i I s et e L O BT
I Sreefers e (ARF)-99 9997 |

IE?
@ TS wWifTe @ wHifers wifre
O i aite @ e wite J

M IR Peer s wie e (H-
COOH) fig7pe =% 19 S0 T Gt |
O7F fRERE fres 71 27 |

@1 e Reaeas Rese e

@ GG Fehr @ @1 e[

® FE e @ (%l 49 7 5T gy
M 0t (ST 4T T B @ A [ROeRed
RO FRR | T (@ Fges [/ 2 3@ ot I
e | feEe egiee g2 o [Row | q 4 9%
eeer @ oiF ReeEe |

[ M W 9T FAW I-
@ W @ e
@ wge Q@ wIE )

M rt: ‘1 FeT - | e g ewesd
GTFYR AT [T T AR S, A A e
Q9T (\(3-goed, [ T TW-GEE, TEE -

et |

ANET IS AT AFT AT F2

@ 6 @ 9

@ 7 ® 8

M ret: Wi afe siefers steraifet s1egt
TEF Sobe R b e aft sy o e
T efefe 2 | «3 I8N W o b5 @
T AT (TS LT FIOYGTS |

What is the plural form of the word
'louse’?

@ Louses @ Licess

@ Lices ® Lice
M 5145t: Louse (8F+), €9 I=a5+ =@ Lice |
Mouse (27F) €3 I2J5 ZCAT mice |

Q-TH (P €7 o7 50 e 0T view T
® 50 kg @ 980 kg
@ 9.8 kg ® 98 kg ©:@

M T (ST IGF ©F IS (@R @ TG (o
TR AR | TGT S I SR AR AT | -
o1, YRR (W, SYPY TG (AT G O G
R |

b,

0.

80.

8.

8.

89,

PR ©fE AFrwt : e

What is the antonym of ‘gentle’?
@ Rude @ Harsh
@ Modest ® Clever ©: @

M o Gentle- wwifiss, ¥g, =€ @«
antonym Zeei- rude |

@35 7% 150 B s Tt 25% =i =@ |
feln Ty For

@ 200 @ 175

@ 250 ® 220

[ 1R5T: T Soo DIl REA, ¢ % Fore [awm

T
= (00 — ) = q¢
a¢ DIl et 0T ST Soo BIF
” ” ” ” )OO 2
> e
200 X d¢o
Q¢
= 00 ﬁm
IR I (I 4T e e ot 31 72
® foe Q@ o
@ @ For ©:9)
M I Qe A IR 9T SFIER DA 4N |
FAR A O (Ae-50%) G2 BF (:¢-50%) et
Qe toft =7 |

e @A e @ e efetar FE?
@ et @ gE
@ wyifBrae ® wif5afe

M 01 THRMCE. LI G A I
wqifes Jfeamre Ml WEw s oW
T Tery fow O gaee @if5aR e
o7if5afe |

‘wifv of8 o fafir’- Translate
English.

@ | am taking part in the admission test

@ | have been appearing at the admission
test

@ | shall appear at the admission test

® | took part in the admission text

M =5101: A6 present continuous tense @s
28T AGT Te A7 (F) | Take part-oieiazer
4 |

into

® @[ @ SGICAETRE
O T SRIEC N ©)

@)wii-biQoo)
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84q.

8b.

85.

M MG GAIPNRE 9T QR AR RR A
YITS FEBEIN TG 7= A5 | i o,
TG, Fire, [, 6 Tejifn tefite garemeE
3T T |

@I At s tref 5 o et sl cvaeee T2
@ 25 hoE @ 5 foE

@ 10 =i ® 125 <o SR
M 0t SN S, IR crase = (I
)R 3o 9FF

. fuefa afoweas ovawa = (5)% IfGR

= 25 3+ o

O HATo @TeNE FRT =L Fi?

@ @S @ oo

@ e et ® v wE  hay
M [RGT: ORISR ETeiE-Sfo*w 7de | el
oy wwpsd ALY TEI-corTTmEE, R
RGN oM, *7res HifRR-prEe 39 |
AR IR IR 1 AR 40 22

@ w Q@ 7=e

@ @ @ Ao

[ 1R5T: %[BT G IR AT A 9
GF AT T | WA = A A Y
AR @3, T W TdRes  epifewn

THfES e WA = |
SRR ST (I T ZA?

@ reFEr @ @t

Q sfre @ ATl

M 101 SR e Sy A e
AT (AT | QTS (@Y 2fStary =Fare! FeT 07 |

‘(T T RO (FING?
@ AT @ «raifefery st
@ frSrere T @ «feet

M o oy SiEapEEe EiRe 9wt
TG @ | GfS T Fce [eow 0 afest
ofe5iz  aeifed T @Bl B NS |
QTAIRFfeToT ST*I1F PINCT WICHRAT Mol =7 |
agfes ifeq St @i g o A2

@ wfae @ «IRGIET

@ TR ® st

¢o.

@S.

eR.

@8.

ce.

PR ©fE AFrwt : e

M IR0 Epfes dfeq s amTR@eiE
RGIeE I W A s e | ey S

I JETCS AFF TEI 20 A |

Synonym of the word 'depressed’ is-

@ sad @ happy

@ cry @ angry
AT TreIx e ot Fca?

® = @ wFRE

@ g @ :®

M rt: wifes frel <oy o e 0w
S50 IAMTEA $q Wb GRS T | ©F Gfce
wdfie, yq WHE e féw s e sieea
(AT 4T - S5V AT |

TSN IS (2AfFTes @7 7% b2

@ (oG Q@ (o AR

@ T e @ = e R
M I T AT 8ueY @R I8N
@fTTeS (el A120eA | fofT 202 AT 20 T
o1 G FCE |

AT ST A T2
® 273°C @ -273°F
@ -100°C ® 0°C

M 51 - 299°C 91 Ok SMHi@es 2Ry
oMY@l e |

YETa SATEAT AFTTE FAG GT3CF OFf F4T
TrafeeT?

@ 12 @ 9

® 10 ® 11
M F[0e5t: Jeqrad ART & T ST
3> 13t W32 usfh TR-CT3eE o 41 =7 |

a™ +a" =?

@ am+n @ amn

@ gm " @ qrm @
m

M rat: 8™ + a" :aa—n:am‘”

A2

@ 1914 @ 1915

@ 1913 ® 1813

7] <101 AT SR RIS FI Y “Mrefer
(55d0) €I T FIAF g FaoR TS

@)wii-biQoo)
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eA.

(4

€.

Yo,

L.

J@m &% ‘Song offering’ (355)-4F &5
Sod0 AT Ff AfETeT @It SFFI e 6 |
23fba ofit foreew 3= + W.B yeats.

“We can do the work" interrogative
formis —

@ Can we not do the work?

& Do we can the work?

@ Cannot we do the work?
® Can we do the work?

M < Affirmative
interrogative <1 I-

(i) auxiliary verb + not-a3 7FFe FA [
subject @t &I 901 | @S- Cannot/Can't do
not/don’t

(ii) auxiliary verb + subject + not ItTG | 5
RIS @A S 712 | [7g oM (F)-co
= G Spye TR | GTE A (F)-2 A6F
Ted |

‘Both are honest’-Transform
sentence into negative.

@ Both are dishonest

@ Neither is honest

@ Neither is dishonest

® Both are not honest

M it Sentence transformation-¢ =i
@ 1o “Ifses Fare =W | Both are honest
o¢f- T3 R ((FT-2 SR W) | qeAre Neither
is dishonest 5% e | Sy, affirmative
e adjective AT negative FAF ANT

auxiliary verb @= #ta not 957 W3R adjective
ox fe1are *=1 707 |

2SI

RIRZISE

the

FIf> TS =7?
® 1966 @ 1968
® 1969 ® 1962 ©: @)

M [T svvy AER ¢ (@FRIE AfRSia
AN oY ¥ T 720 @fszbe © vt
T carelt e | @ft SpIfRFeE e w4
T oYY AT O TG |

@ AT @fexife ‘= wE Change the verb
'lose’ into noun.

@ Lost & Loss

@ Loose ® Losing ©: @)
M F5151: Lose =R Getl, 97 2@ | 93 noun
form == loss -=fs, So53, 7 |

7 @R e iR

@ T IS @ =

.

Vo,

L8,

Le.

LY,

b9,

PR ©fE AFrwt : e

@ @37 BT @ TG

M o5t T G0 RGNS I A e
S S |

‘TSI (I SO A2

® IRy @ Toy

@ w5 Q gy

M IRt IqHe ST e e wivw

TEHAA (SpRY) | OFF Abw WS g SrELwy

ACF-ARMEE (S505), TFTF (S53%), SR @

(5590), IGATST (S53), (IFIF AT (3b-59),

foarsmr (Su52) |

‘Ol g e e
@ ciites Rewwge @ ved
® iz ® Pt

M F513t: “(oiT (ISR AR - ST | s
fog eweyd IvE- PR Afam TEre-gFg
AR, 2[5 COR-NET TS|, EIF EIRN-wa
fileT, =IebIF-5fR Srepi |

@D 5 =712
@ WrmTs Q@ wemaEe
® SIS ® AT

M i wiemses a5 w@me oy
el wm IAE- STSIRiE, woET, Moreh,
Ferarcay, MR, I |

e @IfeT-3s’ @3 @I BT &I et
FARA?

@ wREE Q@ foeenf

@ o ® fefte

I 1gt: QIO * (FIST- 3’ - 47 A LAFS
o e, I T FAOGET  (S=EeT
s Y |

TR IR LTS A2
@ 38 forme @ v forme
@ >aF @ so Tl

M 515t wifes forer Iy i fegm a=w
592 AR b ST ATTFBCTT IR (AT &
T R do TR THF IGTCH eofiae
FE |

‘T W=D (@I O (AT STS?
® o @ @y
@ wAfy @ Br

M Tt = =S wonfsr | sne fog st ==

@)wii-biQoo)
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PR ©fE AFrwt : e

Yo, ISR TR QAN IR (I HZ? @ Tl Q@ iEfEr
@ BRTA & BRTC @ BIETEe @ =%
@ BSTI ® BTRC M 51: @ T @0 SR 2R T =
M < BRTA-Bangladesh  Road oima AlfeRIfRe @ Jee 1 @ SRR,
Transport Authority| JisETaees 7es At SIRTrE, wies T |
AT T O3 G TOAC IS FACR | 3 AL | U, G (T AT FIF TR
GIRfoR AREH emiT 36 | @ Ta B @ I AR
Y. ‘B 4T TS ¥ (A2 D o e W © Wi AR
® fufzm @ faaa M 514t FRE 8 veftea ~AfvEs afkd qRRe
® =1 @ = sIfapifere ST SITwEHefes beftha ‘G (AT
118 B I R K G A T VA’ (5590) | ©IF RIS Py Srgmcarey
g T =, e, Areres, Y, G, beIbb@- oA (AR, IR, SRR, TR
faerrer, 397 | PTG |
qo0. ‘PG’ *MBF AALF *1%t FH(G? 14, No man can — alone.
@ «fx@ar @ fafa @ live @ lived
@ T @ T @ lives ®@ living @
M F5t: fs =omm o <@ | 7 wie g M <r51: 3t model auxiliary ‘can’ AR
AN *- q@T, WR, e, gl S, AR | verb «% base form == |
Q). ‘BTRIH QeI & @I G Sk wide ar. One third of our work — finishe®
@ SO @ CO @ had @ has been
@ NO; @ CO @ were @ have been @
M rgt: @RI spetete 7eT- CO2, CHa, M u1=01: ©3i*r 3@ (one third, two fourth)
CFC, w@irar, eteie 2o | @ete 7ty CO; AT ALK LIGE noun o
SIfee A uncountable/sigular == verb f&'s singular
W, SIS FCO TN FO AT e e (o e 2w | =R noun & plural =e verb  plural
® o3 ces D 20 GFS 27 | &ty ‘work’ noun T singular 2e3¥ ‘has
® o¢ GTFE ® vooIT ) been’ T |
m%ﬁ?«m % E@ cw :'l a5. Which is the superlative degree of 'bad'?
SIS A0S TS 20 IS A T 2T© @ Worst @ Baddest
Qo T @ Most bad ® Worse
@e. This is — unique case. M =5151: Bad-9w comparative ¢ superlative
@ the Q@ 0n|y JATECT WOrse 8 worst.
® an ® a vo. (PIN XANICT WBfoT Siacd T e
M <1t TraEers vowel @ et ‘an’ 90T 5w @ AE Q@ (ARTIFHT
vowel 7 SHEE ‘BT A1 ‘@A’ @ W (A ‘a’ @ A ® Ffer
T | @9- a unique, a university, a ewe, a M [rt: ©IRICIG 91 Q@ =0 BN JNS
one taka note w5 | IR TGS @ |
98, & QI (FRAME (AT HNIAS I AR O |1y, 4ty o o Wi @2 @ e
Tty = ERE @2
®@ 9.2 [Tt @ 5.8 el @ Ay @ Q@ FE TerEeT SHET
@ 32 frErmE © 4.2 e Ry & TR T S R
M 30 93 am aremd @ AR 5.9 M 1t ShRe #fehe @ e a7 |
AT ©1& Teoiy 2 | SAICE- AT FPTRCST F5RST FIGT TeraPeT
a¢. (P AR etz SR 9 T TRTeR Fofe] TRNTA I |
@)wii-biQoo) 7 @
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b8.

be.

bq.

bb.

Rahim has been ill — Saturday last.
@ since @ on
@ from @ in @

M pron: [wE 9T @RITS since W9Ee W
&ty ‘Saturday’ =R W e @RI |

Which one is the correct spelling?

@ Pnumonia & Newmonia

@ Pneumonia ® Numonia

M ;g o *itr first letter Swiwee Sy
QqCF | @WF- Tsunami (3FIf¥), Pnnow penh

(oM, FeHfeam  dreaEr),  Psychology
Zogi |

TN ol F© O e QACF?

@ 8% @ 40%

D 52% ® 20% G: 9|

M <I0: FENEeR3ed 80% SO BRHE
TN 0T | AZTIE GTS do-5¢% AT AT |

@ @ArifoR efetags D eiehm Tae
@ et @ foorcafamm
@ BEam @ TPrRITT ©:®)

M prapt: S Bt feafs caror @ fewafaa,
g Ff ¢ (PR W7 dfstaes R e
X

AT

@ Foag @ e
@ Wifer @ Jifewr

M F51t: SRR AE0 o=y SIS @A
SRS 20 0y 11 Jgy RearR Wi TEE |
gy, BT 2= SR G @A - AR 2020
AR 5 TG |

1,4,09, 16,
@ 35

@ 20
M 11 =1
22=4

3¥=9

4%=16

52 =25

0.01 &7 e T2
@ 0.1

@ 0.2

96

b,

do.

).

.

9,

8.

PR ©fE AFrwt : e

1 1
M <g1=t: /0.01 = A\ /m—E—O.l

CIICET “ANSTIT YT &l A 2

@ UGN Q@ faefFam

@ TR ® Rt
M IR (FI0Ea ¥ ToAWEE Y TGS F5eT
P NRCBIFIGAR A fF® 7 0T AT (I
‘oIS QS I = |

@ AETCR WO TITMA SCIHT ST
ICEN?

® wgafs Q@ fowr g3

@ erTar @ =N

M [ AT SO AT ST
T FET QN B | e FAHe
TSI ZCET T | AT QTN ET T TSI
AT (T |

T ARPRAT FPET w0 AEE JEAFT

G SR AL MRS NG Y FS?
® 78.2 7= @ 72.8 7=
® 68.2 e ® 7687w

M uragt: e wiferen ear 8 wdtafes
TAF-203 SR, IENWCR NIRRT TG =R
Qb =7 |
e Bt Feofieaies Tt Feibe
@ » @ v
D v ® >o
M ot JreEToaest 1 Feeficasicaa e 33 |
syox Ff% Fesfica zeeT sz |
T N R = W @S @I T
@ IR T @ T AP
M 51T: S 19 = W | @ft 3@ iR e |
@ FAACR *F7 8 A7 ATa @67 o 7 JRCT
S GO ImE oY AR O T, OIF
J2IIR T AT | @AV~ e F9 A = NS |
@MW @ [Reemr 2021 A e
AT YTFI A A2
@ ©. Il Imar @ T, AT FAR AR
@ T, SINE TP AT

5:

® T. (M GFT 2N
M <GT: G WIACTET JFFF-208 7O FCaw
TR G . (et Fmar | BTEer 203

@)wii-biQoo)
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8¢,

L

9.

feraiizs @ IR 8 &= i |

TR e e eafe?

@ cnfE @ T

@ i ® com ©:®)
[ J5tt: TRy = Tt 7eeT K (GTeIE)
Y, W @re TG |

feoe i ee TR el ST @fe
@ ot @ e
@ vw ® 3 @

M pit: TR CH@EA (@IA! R 97 o7
OF Y JroF FAE, TGO T TAPL T Ngo]
I, ©F & CFEF v @ [{ga T Sige
TG AT | NG AL Ny JI6 ez

[T TRIFY M TR @R |

JFIR THON 4TS (@02

@ |« @ 3f

Q foz @ ==
ST @ AT o e

® wyEE T @ ST

@ carer e ® foree wif

M F51t: Sty @ st i e wifes
e SItawe | SFWE S e
S ‘QART T APMRR L TAGEH ST T,
TAREY 8 oS IF |

Which one is correct spelling?

@ Tubercolosis & Tubarculosis

@ Tuberculosis ® Tuberculisis

M Jma: w= I =@ Tuberculosis, 9 o
R T |

. @ o FwmE 12% B, 58% (=
@R w{*8 3,00,000 B e e | o

TS (G T FO?
® 20,00000 & 10,00,000
@ 6,00,000 ® 9,00,000 ©: Q)

M it S 9, W, @@ @i m X B
BNE WG 799 = (X 9 12%)1‘3‘1?5T

12x

1001‘3‘m %RFT
(REECE &WE 1 = (X aaSS%)W

b,

5.

Yoo,

PR ©fE AFrwt : e

V] F51451: IR TN AFB *H | WS SN
6T S @I, @i forfiie Feiee qe1 =7 3¢ |
IFANABICT TS (I Mot TS AR |

@ pIfery qwivege @ ==Y

® RFFTTEN @ STEEW
M [151: ST SFeeIcTs Fuel wee S
2033 AR S¢ ST G GF2 IRER 9 FIHRA
ST FEF 215 A |

Which one is the correct spelling?

@ Synonymous

@ Sienonimous

@ Synonimous

@ Sinonymous @

M F5131: Synonymous - <t |

He died — hunger.
@ for

@ of

& at
® on

V] =51451: e 4 W= et die of 907 |

Tf 8 fweRF SfimeEs Reaht 39 TR @0 f$ A= 2020-2)

58x

29x
=100 S %m

..mﬁ?ﬂwmmwﬁw

= (x-

B (50x —6x—-29
- 50

3x
= 101‘51@

x)%1qu

ei‘:jﬂ'c_,i—O:f%OOOOO

.. X =10,00,000

WW— OF AT TIA?

@ IR A @ IUBA N3G

@ FTAAAEE @ iR e
M <51t: 22t (CH3CHLOH) «<f5 tera it
TR SR AT FAZE SECHIZE | W (SRITS, Gt
e Ot 9z W @R IREE-9
95.6% 3 A |

Reoa @ AWy et TS T

@ @few ® cm%mwmﬁw@ﬁmﬁ‘
@ BN @ e @S
M [0 CTIfSTN ([ECSICAs AWy eI eel et
RS W | @b Tretfas, e, SceE rr,

@)\9{{-%»{Q00)

gl ¢



TSI GR (GRICS IJRZ© T | AR FeFHH RGeS
aft «f% Eeifs e3¢ ¢ TfpiR e Tze
BT

Y TS AT A8 U A-
@ SPTGRDE Q@ faET e
@ wrTY @ TR

M [rt: T TCe RAER AS- SPTHIRNIG |
RS FEP0 ST QP I AT (A WA
TB-AAEEF, 4F (AT &F I(F GUS-
aFifec, T A ~AoR- (WAINE, T IG IS
TR~ (AT |

JIETACIR (TGS SFCEI AL ARSI Ot
&o?

® b Q@ wiFe
@ aiférar ® i

M 501 GIGTese I MRT Line-6 ity <45ie @
BT G (R AR (XN ATEFLTAR WKy
SRS | Tl (ATF SRS 20 AefET S @
@ M 0. 0 wEeT" JICA-93
RO Cofd R0 (NG |

‘gFFhe @ FY e IHH TR A7 FO
AT S TR T4 LS A2

@ 103 @ 23=7

@ 6 M7 @ 13z

M 15t: “gIrgite @0 ey qere @ e
TR AR (AF b AN R (FENE I 94
PG | @ T (3 9 Jere o AR_E
e g ol elfistay el udel 27 99 E

29 Jf 0 T |

anrfiE 3 77 @A

@ e Q@ &

@ =T ® @ef
B <16t T eI el ek el 3T 1y

7 foulo | @ foafS 3 sifqmeams [if* e o= e
ANSAT T | ©IZ QT (feT<F T TSE e | 70T, Ny
8 IS e AR 3 | adie @efF arifie 3
T

So. TREER (off e F Fifde ~iRswiw

e
® gffes @ “Aareds
@ e @ PP

M 51=01: TTIEce AR ST Rl (9797S)
eFol BT fAfife ~iReWia (=T, T e

.

;R

29,

°8.

€.

o,

PR ©fE AFrwt : e

TS T |

‘o o Rosar s+ @eB?

@ 3 @ &f

@ A1y @ e

b 51=51: =1 ST =, A ey we SRt |
TS (@I FT AT = i 27

@ e @ IR

@ SRS @ ferrea

B B10T: 0% AT S RPN wfEee 517 a@f¥ra
7 TR G SIgrie 961 71 iz e
(SRS o O 73R | o7 ORI WieTd 2L
i A A @R AFATS TIT o @weld I
A e A |

Fill in the blank with appropriate word.
The Headmaster and the secretary —
present at the last meeting.

@ is @ are

@ were @ was @
M <501 @ws sentence-«@ headmaster @<
secretary-43 7[t< the Witz | oAk 4T HSTH
@RI 2030R | S12 *=7<er verbf plural =63 |
ferrie fasa e afeiefs THifge s

@ «fifos efre @ TR ufte

Q @i afe @ e afre Y
M s o affe 3 ucaits afe
(CH3COOH)-93 6-10% ®eiiw g9t feria
0 | AT Cofte, v ARG @it Tz &7 |

“SIF 47 R P vt (% AW @iW @i
@ fi @ @ffs
@ =& @ wfoe

1)) B B R E AR R A b ER S R B ST
firr ey fiifere 2 @36 s/t AT 19 A
oI @ I/ A | @fNF I TSNS
SaerT IretE S, \le, 8, 994, @, /R
Ff® ST T IS A TS ACF | TN- Ol
« e 8 1 (@2 | o7 91 TR 5% 3w
|

g w=&er Translate into English-
@ Men Are mortals

& The Man is mortal

@ The man are mortal

® Man is Mortal

@)wii-biQoo)
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oA,

o,

.

0.

Q0.

QR

M 51451: Common noun ‘man’ J#CS QR
TN NAISISCS (AT RACR @3 Af6 singular
subject | @5 =TT ©IE (@A article IE =63 A
@3 verb singular 23 |

I St B Qe FE e
@ ToATS @ e
@ efevra ® effowar

M R *cwn efet R que F=e =t
efowers | =twa fe@ IFE & TS @R
feTTT TGS FTOT TP A A SO
o= |

FE TG (Y Frooy F© 7y A The?
@ o GBRGR @ >Tb
@ & fom ® 3 fibm
M It ST RGN (Y PO © F6 Al D
ERERGICE EIEE MR ROl

‘COINITE MNSTR &, (R TR’ I 76417

@ *rPEARTE @ GRAEW A

@ IE Toee I

® 17 SR ©:®)
M [ CONTE AMSAT T, (R IR
FfoE el WgE RN | @ FRell o
Jfegaiofes FGAE I T (AF-9T TWLS |
Q@ FGACIT SE@APT ARS8 IRIG  Fol-
el ¥, TYfe, Tee A, ifeT |

YIpd 30 I I& W {7 e =72
@ e Q@ fyefe
@ el @ Topref G 9)

M 10T: w2 e o1 St 96 =7 4 |
qIgd K %Y ¢ IS oS J& =0 [
sifée 777 |

Fill in the blank with appropriate wor®
The thief broke __ the house.

@ into @ in

@ up @ at @
M 51at: ‘Break into’ w¢ (St &3 41 | &G
ey wdrts e ‘broke into’ IS A |
TR TG IR qfoer

@ IE ToFe PANQD T NG

@ FrECERm ® G SeT
M R TN TSR FECFRIGET P TR
TR (Sn08) | FIBa @fszifre Abefr g
AT PO @ (davd) | @ Fa TREFHAT

V.

R8.

RE.

Y,

RA4.

PR ©fE AFrwt : e

SRIGH QIR ST *TR FAWAR [erd 39671 567
ey | TR0 foafb 4te TorgreT w1 2R | @9
LT @I 08 o T, WS e 18 o GR g
QT& q T ACEACR |

SN *TH FIRA (1 Afere @ =7

® i difs @ 1y e

@ wrfers Hife @ wfere Sifs

M j5t: oy dife, Afdifee wrwwce s
PR BCE B AR QT MR FfeafEe
ATE | @ S eFEIT ¢ TP *wqeT | o
AT ¢ TGO @ S LA | Bfere i weq
I |

5 (AT 300 AT TR AT T2

@ gogo @ oo

@ ecod ®© 855s ©:9)
M F5101: > (AF Soo 7S FRATPTART @1FeT
So00 X (00 +3)

3
=€o X Y0

= gogo

Which one is the correct spelling?

@ Occasion @ Occassion

@ Ocasssion @ Ocesion ©: Q)

M 51451: wm <11 20 Occasion’ | Occasion
L ST |

Ay m eTen bR e e ofie
AT NG T2

@7 @ 9

@ 3 ® 5

B =pt: fNSmser omr ores o = =y Wil
BT CFET | 9l b W@ gfi=itee ¢ ¢Tg
TS A |

725 7T “AdwT 16 WWT@?W{WWE

A T, ©F (RG TRT T2
@ 24 @ 30
@ 33 ® 18
I =1=T: 4f7, I@ IRAT X @R (=RIT ARATY
(i)

ﬂﬁwﬁ(i)may=gxaﬁmﬁﬁ,x—gx:16

@)wii-biQoo)

7 @



5x — 3x
=~ 5

2X
= =16

16 x5
=X = 2

. X=40
aw\@ri‘vrm%y——mo 24

=16

QY. AN 8 ST T0YT ATy A et Fofo?

W.

Vo,

).

@ 48 @ 44

® 50 ® 54
M It @3 WeeiT qeiafed AN ey
B CPICAT AT A S (HC ST I IR0 (T2
TACE AGHANE 0T | ASTR ¢qfe
TBSNAE Al AFCTE OFced A Sy it
@8fo |

AN ST AR IR QAT Tt T2
® 0.1-04ppm & 0.01-0.04 ppm

@ 0.01-0.05 ppm ® 1.05-0.1 ppm

M it < See S A ARy
W@ 0.01 — 0.05 ppm &2 0.01 — 0.05 mg
/L.

73 AT @ 12 @3 @4TA 32 A, I
TG Fo?

@5 @ 8

@ 6 ® 10

M 51 0w 3, @ MG X @3 (75 Ml y
ST ¥eTe, X +y =12 ()

T *[EWTS, Xy = 32

SR &, (X — Y)?

= (x +y)* —4xy
=(12)>- 4 x 32

=144 - 125

=16

SX=Y T i, (iii)
A (i) 8 (i) T TC© AT,
x+y=12

X-y=4

Q@ 3, 2X = 16

SoX=8

TS *4 B I ST (AT GTTR?
@ eTwe Q@ fas
@ =l @ s

O,

09,

8.

O¢.

oY,

09,

PR ©fE AFrwt : e

M R SIS FE0T W% | WS FEF6 PO
SR, AR, (@S, SmIfe, el |

AT I SRACE BT A= 7w =orer
Saniiny

@ @ gy oW

D @SH @

[ 1R0t: AT S 8 @G egfE
TEFIRE ey wgRaie e waer Sgem
BT QZeer S T | @S STAINRT I
www.surokkha.gov.bd

BV I RACEIER G E R s R L
@ woe @ T
@ T @ e

[ =51t: TSt TS (reTeRs e @i
BT | Sovs AT 85 o @ T T W |
Ao G smr, e ey Wi
4l |

o @afe w—es w3 ey qie?

@ fPrrem @ i

@ (s @ o ©:9)
M =5101: s ezl Fifsee Ag > Pt > Au

. 3 AT @rg s =<l (Aurum) |

The synonym of the word ‘encounter’ is-
@ harmony @ battle

@ concord @ part

M <5t ‘Encounter’ o1 =AW A FwIR |
SoFeTeT Wiea battle =€ =Twr2, harmony =<
fiet 2t s, concord =i @3, part i< 4e I
oI | eIk encounter synonym battle.

Fill in the blank with appropriate word.
I have no appretite--food.

@ for @ at

® in ® abut ©:9)
M rt: Appetite for’ =g =4 | w<pwEETS
Fwcd  appropriate  preposition &R
‘appetite for’ I |

2021 wiw Reww s o o e
AT RPN TS FA (I A2

@ ©Ke @ @A

@ B @ i o)

@)wii-kaoo)

gl cc



b,

5.

8o,

8.

8.

89,

M [t 203 A [eew fesi o R
THALTR TFASIL TZIFHA SIS FAT B |
‘foxiface fomt mre” @ IR @i Refe?

@ e 84t Q@ 0 8t

® weme sd  © womysd  ERay
M [T T A9 ST I W, ST, AR
Toifn S =, OF (RFS [ SN
M FIEE A | @qAN- o % are |
wfafere dmr wie | @3 g2 Ay foufas s
e Y wIffers’ afft fasfe |

(CHGA (A A0S (T SAMAIG AT ST T2
@ Srpias! Q@ ifee o

@ e ® wfErem ©:®
M 5101 (TG =0 q0eA AMBCED A Sl
FCN T | NG P T TG T4 ARAT A |

MR JCE 1R o Fefear (o cleera it eteire
® fiferea @ wifge
@ TR @ forr ©: D)

M =5=ot: MRI =esit (Magnetic Resonance
Imaging) “Higfe e R o[, "
AT >R ey Sord =18 =i (73 =7 |
OF AT ST GIRPTFg 1R @GS ST IR
9 T | YIGIT TH TREAADGE AAITS
@3B ===t 1eFe 17 oIz MRI-9-93 I92=
|

fwee et == [l
@ s Q@ AT SISt
@ N7 @ wuf

M t: @R A Glifes ifm 8o fada 3@
SRl o A Gifers qif¥ ot | 7=r- W, e,
I, S, WAg5Tes 2R, Ao SIFel ¢ *miedd
AT |

Fill in the blank with appropriate wor®
He has given--smoking.

® by @ up

@ against @ away @
M 5451: ‘Give up’ phrasal verb 53 =< =g
e A ARSI T | ©IF AT Teq T o

(d)
1 X
X+—=4 T, 5——— TAAFFO?
X X =-3x+1
® 1 @%
® 1 ® 0

88.

8¢.

8V,

84.

8b,

PR ©fE AFrwt : e

1
V1 51 CWG?ITW,X+;:4

X2+ 1

=" =4

X2+ 1 =4X e, (i)

X _ X XX
X2—3x+17 x*+1-3x" 4x—3x" X

Which one of the following is the correct
sentence?

@ Open 10 page ® Open at page 10

@ Openpageat10 ® Open page 10

M S51451: (I I3 BT Srgrd FH0O 0pen-aF
*[Td preposition ‘at’ I | YR AFF AWH 2@
Open at page 10.

GFR Ba TN (AR AT AT Fo?
@ 2012-2022 @ 2010-2030
@ 2016-2030 ® 2010-2025 @
M 515t: wifesieres (e G318 SFae wersial
(9ET&)-9F TFIET 50-2000 | GF FTFHFI@!
95, FRWE 77 sus |

The antonym of the word ‘transparent’ is —
@ Opaque @ Lucid

@ Clean ® Crystalline g
M 5rt: ‘Transparent’ *=twd =g =R |
et i clean @ sifgww, lucid =g
7%, opique ¢ SrA%R, crystallite =g =,

R ORERTIE | Year  transparent-@3
antonym w3 opague.

CRITEAITT ST FOUTAT ARG AT

@ 15 @5

@ 10 ® 11 )

M 0t enfeaeT (FoNa) Toga s 357

T GG SR (3o Na+) ZwET e

(55 - 3) A vfb |

Fill in the blank with appropriate word.
Millions of People across the world —
Corona.

@ died by @ die for

® died of ® died from g
M ROT: @I @ SR e die-«@q e
preposition of’ ICT | @RG &WE AT (e T
Theat Segre Witz @Ry died of’ A Tew 71 |

@)wii-biQoo)

gl co



85.

¢o.

@S,

@R,

e8.

4(a+ b),10(a — b)«xR 12(a®? — b? @7
AR FO?

@ a+b @ a-»b

@ 2 ® 12 (a®-b?) : D)
M =t sw i =4(a+b)=2x2x (a+h)
A =10(a—h)=2x5x (a—h)

o Afd = 12(a® -b?) =2x2x3x (a+h) (a—h)
o e e, =2

R IIfE 9ot Fe 9@ 8 e Face AT | 4T
& a3t FEH 32 e Fae i | &S e @

FIEH I FOMN FACS ACL?

@ 30 fir @ 24 firy

@ 20 fm @ 10 fm ©:9)
M <51t

fﬁﬂﬁ%lmww:(%—l—lz)ﬂw
3-2

:(W) SRl
1

:ﬂﬂ‘m

- fesiz 35fe Fralt ol T 24 e |

AR @ 8 HIFIF T TGS (Y F6?

@ 90° & 180°

@ 360° ® 0°

M FHrt: =< TR GE @R [ekice @

5T, CPE de w9 99t NIt 0%
Troifns SR Stro fOfY (Fiter A4t e 364 |

@I TG BF?
@ e Q@ e
@ ey ® e

M 1t: wm A e | WS IR0 syt
o - S, Sifefd, fifonits, o, g,
@I, S, T, 7EaR, I497 |

2Nfre Gt oI @wib?
@ feoifw & Q@ feoifiw ¢
@ feoifaw fe @ feofw &

M 5t=t: fEBifs 7 @ fobife fr «nfacs g o1
fSBIfe 7 g& Te1 FBF 2= 7 | s ora
7@ | feBiftT A, D, E 8 K &2 Gt 531w |
Which one is Abstract Noun?

@ Honesty @ Public

ce.

eA.

(8

&>,

PR ©fE AFrwt : e

® Tiger ® Milk G:®
M ;@ P noun =R (MY, o S[E Al
FICEE TN (@RIT @2 T 213G 74 *e F1
T T Gt abstract noun | YIS @A
word-g3 (+ItT ty, ness, ment, sion s I&
T | AGF Tea 27 (b) |

afegfie 07 W6 g o WEifRe F©
fRfaGe feeere

@ 19 fafaea @ 10 fafesa

@ 30 fifsa ® 5 fufsa 5:®
M 10t: 35 o) e q=ee @fegfe q
B O &F AR [ 0.20 [fEG, q=
TR et o5 ffeE |

TR e o e

@ o™ Q@ M

@ w ® w@m ©:9)
M 5t o g xRy sm e o
o, Y, 799 |

IS IS T
@ fffert @ =
@ frofEferm ® et E: 9

V] 51t ferea sTearaiceist SNpes forer-aret (s
TG FICZ IS RO O IS (A T |
@: Ay, fReifelrr Tontv | T e
BRIl RGN @, ifele @R @nr g3k
TICARRT T FINCE 78 @M |

Which one is the correct spelling?

@ Committe @ Committee

@ Comittee ®@ Commitee @
M it s = Committee, @9 wid Al
Jr AW |

T @7 [eReide = @i
@ et Q@ =¥
® W @ Tieeer ©:®

M IR0 Tne-a3 [Red@e = wedef | wes
FEIO el [Adre o wpIRITR, WwifkE-
I, SpeT-2PTRe, TfRSR-feareR, Wres-
TR |

@)wii-biQoo)

7 @



PR ©fE AFrwt : e

Yo. - THatRT WIS F? M 5t5t: @ REE T RS IR FAONS
@ 24 9% @ 30 forT OF TRFBE AT | (T FAOR GFF TRDH |
& 365 fort @ 12 w5 @ mg—fewawwlwemﬁw
B Tt e S Afen W AT |y, et ot e et A A
TR G- ToAR 0T | I ARSI R @ B wofer Q@ wfim wsiel
RS AN T 38 g% | @ @ (S @ wEm
vy, Passive form of the sentence-“You must M 10t: & i qeue e Qe s
do the work” is — RN HRAWG ‘T S AR @fes ST
. IS = | SR AW Sbrdbr IR T T
2 'I\{rcl)elzJ vv\yyrlkdv(\)/iw%:v ggﬁe by you TACH AT At ® | T AT
2 T ifre o (Iten” (davo) Tl
@ The work must be done by you e SRS ST HATG | R S
® The work has been done by you (svoe) AGTE THME IEEW @ S
M <55t: ewe a5 Modal auxiliary amr e SR W S R (I A5 715 |
Qe subject-97 =7 15416 763, modal + verb- |va, IR IS SRTST  SFNET @
@3 base form + main verb-past participle + fereT?
by + object. @ BT o Q@ cerifeay
Y. Who is the author of ‘Man and @ GERIEA (2
Supermen’? @ woe A o
@ G.B Shaw ®@ Thomas Hardy M 0t dieEnmes Yfegem S/wie ) 9F
® Charles Dickens PN T, R SPIAI ©iHCed AqiwE Ewar
® Ernest Hemingway ©:®) oA | QGO ST AR SAfReee &y T
M 5<51: “Man and Superman’ (G four act T AT FHTOS TAFA AT FCI
drama, T author zwzw George Bernard WW' o o
Shaw €32 «f5 2R T 3500 AT | . Which one _of the following is Adjective?
wo. TR RS T IR (T @ Beaut!fylng @ Beauty
® <z @ @ Beautiful . ’@) Beautification ©: @
o ® s M 15t: ‘Beautiful” *=fo adjectl_ve, RIERCR
7 Wﬁif : ks S— " - p— E,[::;; ?:zzﬂr?r)|lwfﬁw beautyfying (verb);
FIHACRET BT (FIF (AP o7 = | ST TR €9k FERZS
v8. F T IR RO e o gm_wo o g{ 000 e
@ G A @ 3 wEwCE & _4a0° @ _10° Q)
@ I T I @WW%@ C F_-32
O it woRT <o o Rona e S | 0 MW g =g
wH | qRele SItE Meme 31, fofim & Jf« X X—32
¢ preE o Rewa wfeke w0 @ wwits| = 5= g [C=F=x ()]
TANGAANCE N AW G (AT — 9x = 5x — 160
RBFCF N FT AT | TP WS — 160
Tofify TR 9 TN ‘9 @B | =>X=", =-40°
b, (R FAOR GFF (@62 0. GNIfer *1% FIG?
® SRDE Q@ 7l @ W1 @ Hrew
@ <y 7w @ et e Y| @ crmet @ el G:®
@wag-bqaoos 7 @D




O.

Q.

Qo,

q8.

q¢.

Qu.

M 10t @R = R[{eswe s Q9 A S0
A T AT A, CIOTEE GIE W |
QN (AT, 1, e, fiowy, 7T, e, oz Twyifi |
TNWCE T, AT 8 (NTI-S *I7 |

I It IRFNTAC LT IR =22

@ 26 v, 1972 @ 17 @feer, 1971

@ 16 fewm, 1972 @ 26 w5, 1973 N9
B J1<0: AT TR 8 TCSH 359% 7
T IR SR AR dY o™ FEFa =7 |

“FIY AR 97 GF(H CTAT T T9-

@ 16263 @ 333

@ 111 @ 16060 ©:®)
M [IR0T: S GRT wob, FE ©U SuIRO, T
AR SULY, BT (T 009 |

P TERF MR W5 toft F=?
@ fCFEmRs Q@ oSBT
@ TR@EIE @ Wi ©:®

M j045t: eeR AR AT 7 RITweEs 9w
oo ZACT T=AMT I AT |

‘g T R P T8 Translate into
English-
@ The rice are not always happy
@ Rice is not always happy
@ The rice is not always happy
® Rice are not always happy
M w5rat: Adjcetive-93 7td “the’ 3R plural
COMMON NOUN 13+ FTS T U AT verbs
plural == | Jodre AfSF T&a T (a) |
UNHCR 99 59 7ed (e
@ e @ (TSt
@ fiezss ® @ ©:9)
M =r5: UNHCR (United Nations High
Commissioner for Refugees)-a3 sma wed
TERNIGT (SR O[(ge | W@
RN e Fw T @ afevm afsfos =
S50 T | OF AT RIZH1 feferca Qife |
R0RR AT xoF Rt Rt T3t wfore =@
(FRIE?
@ Fifewt @ I
@ Toifer @ v (i
M o1t Reeeter FHI0ER 239W SR SfPe &
2033 AT RS TCOHA (A Sbr [CEHT Flol=a
mreR ey = |

aq,

v.

.

bo.

b.

.

b9,

PR ©fE AFrwt : e

YRETER WiEe R Fog e 9w st
]|

® NH,CI @ Cu

® Mno, ® Zn

M 101 QIR FIET 78 GIgF AT G2 TS
IO AITgF e RENT Iz | QRO
SIS RO ZNn 3207 347 27 |
QAT TSI ST Fof6?

@ 478 @ 495

@ 462 ® 415

M [0 AR 8T SATEET 856 |
AT, TG TGS |

fReea @ sAfaics b o1 e =2
@ Fs Q@ IeF oife
@ i e @ e

M 5r5t: Sfeer Siget AR Face [eGR
(% AT R | ARG Gorad o AT T
AT |

‘@ TP NAPIT I GFFRIT PI-
@ SFow @ Fog
@ ooy @ Fows! ©: Q)

M T GFFAT ST (T SASAT FAFIT -
FoF | TATHE TR FIR I (F-FOE |
AT TAT AS A A (T-AFOE |

IR AT TCTF AW

® WifoR @ THfGR

Q@ =@t © JE
I RT: IRRGIA AR TG HIAGHE, AT
B SN T WICAIGE, AIRGR 2T
Sioi@r AfRIeRE TF | HEEINGR TFT IS

2T 8 fyefee ofasirsiss 7 |

o7 @G e T Are

@ e @ fofir

@ =fe ® 3w
M et @ el e B AN
GRS I SIHAE ST 2 0T | @
fefw, fe, W Tonfm| wommes Svw =t
YA @l |

AT (I DI ‘IARF GAT FT IE?
@ v e @ e GRS
@ e wvEd

@)wii-biQoo)

gl o>



b 8.

© T (FTI<F STy efarseel ey
M i1t wifsw forer Iorag (i feg@ T=NCTR
GAMSIIAST ST AT T ST elférer
@y (Rfafhn) Ty oI Few Fa0 2|
LIS BT ¢ T Afefors @Il @
> 5 (ATF 9o G 0% (AW IHIF (R R
Ty <1 = |

‘o v SR 4T Tt

@ M ATE R @ T TRm

@ 3ifers S

@ I RfRFeE TR
M IR w@e sl SieE ool zee
TGP | W g Ao Ffqel- @ETeifer
FIfw, foor, ETF-ETFRT | Prm =W 2%

bb.

b,

PR ©fE AFrwt : e

M it et s e Sretr 309 I 3,
I @efw, Foi17 Metre g @ @R 7qge
ef (FIT |

e @ e Al rEmet s@fge?
@ NAM @ SAARC
® BIMSTEC  ® OIC S: @)

M <: BIMSTEC-93 “wd wed GBI
o3Be | SAARC-93 "mMa WeT (@R

FoMErs, OIC-97 TV Wed (Six S_fEe @R
NAM-&3 5wg 7 7 |

TR = iR [R-12 @7 9i5fe <= Fr <2
@ fat Q@ =S
@ el ® Twaesl  ERa)

M 1=01: B <-52 @91 9i5fe 7ot @f-fmr
FereT (7T (77 | FEBIR-F1 @7 wrerea IS @3

foe e Ffer we «faew’ | 3fFE SEme OB fo-aa SroIe [ese @ 27 |
By FR1- R AN S, T | 50, ey T TS @TRIET @ AG?
ve¢. Fill in the blank with appropriate word. S
He said that he- be unable to come. % - At ® ok ?g;
® should @ shall S-S T A IR e
@ will ® would ARTATCS  ARITST A | ﬁ%ﬂiﬁwgm UER
M st <ica principal clause (he said) FTRC EE'_C@' woé _C PIeTe
@=g past tense-a =z FAR subordinate | > %ABC 424 =70° 4B =20° %1 fagel
clause & ===72 past tense-a =@ will-a3 T
past form would | ©2 #f5<s T (1) =@ | @ Sy Q@ sFrar
vy, AR fRed FACS TR (IR G FO @t @ g ® mfedig 5@
FACO AA? M 5t St i, fagres foq (@it i@
@ 4 @ 3 180° 1
@ 5 ® 2 | @2, AABC GLA = 70°, /B = 20°
1 . 99g @ 7@ = 180° — 70° — 20° = 90°
Mt T =2 o
n\ﬁ Toaik AABC @5 saiat fages |
B:\/T_Z 53, W (S T 25% Jfa A O (S I
T2 l1 MEI F© FAN (S W T Y AT
:l:\f_z @ 20% @ 16%
2T I, D 24% ® 25%
:%::_j 4 <ra: mﬂ?w%%qmﬂm;rfww
— |, = 4l, mwwg@mmwm:ﬁxloo%
W 4 @ FCE 7 ?J/il. P ﬁ@‘Tm | =20%
bra. RIS Fiar =rdreer e 3 erdr . T TS T IR TS 7 52
® =t ® T ® REER @ Raran
® - ® s @ faraw ® fifew ©:9)
@wu-waow 7




8.

€.

V.

9.

[ 51=5T: AT ST T AIRSG T6Aq A1
f§f&f@ ar Border Guard Bangladesh | si&eras
N foeT AIG (TR FBIeRE-9F o= e
@R RITST | Q005 AT T “Afaqes T [fef
T =Y | T IV VRS BB PETIT S_fge |
oy ez Toapt e

® TR ARG @ TS A

® @ =PI ©: @)
M [T Y S 2w dbe Jfeaietes
TAGR CoEer | Jfeyafefed WS IR
Tyt Rfa TR, TeT v (R * T 29);
TR, (TG SR, SR 2300 (WY (NeF©
SIN) | AT GO I0ad TR AT A>©
FIAIAOT | AR W STRAGFIR IS IS
ST SAFIIT |

T (ST @I 78 00 7

@ Wi-Max @ Wif-Fi

@ Cellular Network

® Bluetooth
M =5r45t: Blutooth Personal Area Network
PAN & %3 | @9 @& 10-100 fSbieas sy |
e it =ra?

® NaCl @ HCI

® H,S04 ® NaOH
M w5 NaOH af sF6s oier @ 19 |
H2SO4 € HCI $iF «fite w3z NaCl =t #_e |
Fill in the blank with appropriate wor®
Slow and steady — the race.

@ has won @ won

@ win ® wins
M 515t: ‘Slow and steady wins the race’
@G proverb @3k @ty ‘slow and steady’

b,

5.

Yoo,

PR ©fE AFrwt : e

singular subject & foa= =1 verb singular
A
I T fgrer sfewe 13 G e ot 5 Gy
=, fagaba craws Fo?
@ 40 fefy @ 60 FTBRoE
® 30 I ® 20 3T : @)
M rt: T i,
T&wwmw:&
CINIER
T fagrae owe, (SfFgE)t = (BT +
(Twen)
Qe o = 13 G

o =5 @,
. (13)? = (5)% + (Twon)r
= (Twel) = 169 — 25 = 144 = 122
= Tl = 12 @1.f. |
=%>< 5 x 12 F5efT |
‘i’ =it Ao @b ?
@ i + @ @ 4+ %
@ 7% + o @ ﬁ§+w @
M [0 5, 5, B, ©, o-49 °td TR AT
T TG °, T, ', G, T | A< 7o
ST AR T TF 2T | @ 7 + %
fere, fig + w1 = fiers, 77 + of% = @ e |

x B x m) Tfass

The Plural form of ‘knife’ is —.
@ Knifes ® Knives
® Kniphe ® Knief ©: Q)

M 1it: Singular noun-«a3 ¢<ica f 1 fe A=see
plural == 17 f ¥ fe-aa T V' IGT @R
FAISICS ‘es’ @M 7@ plural F9Te =7 | ToAR
‘knife’-«3 plural form =T “knives’ |

STt 37 TR M & ResH3FIF of$ A7 2035-20

o).

YA T IATNE ALFS (FAG?
NaCI ®@HCI
@ CaS0, @NGQSO4

T TR ZCET AT RS OF I Wamia =
R Y& Somi 2o enfea @rige NaCl | et
TS AN [ G AT |

oR.

G TS AT 5T (F2
@& w @S TerEeT TN
@ e A @2 1w

JRTRAIFNTCT ST MRATed ISl 8 TN
gt AT P | ST G A e
AT Sofb AG AT TS 7 it R =

@)\9{{-%»{Q00)

7 &



0V,

08,

oe.

oy,

oAq.

ob.

od.

do.

SO TR 55 ((IF® T © TF 354)) | ©RTST
TSI TeANTET BTSN TAHAY IIFT |
ASF @7 =T (I FEBifeTa wreita?

® feBiftm-2 ®) feBifie- &

@) fesifir- @ @ febifim Br

Y FEBIRE -9 eI FreF I+ @ 27 | feoifie
-7 JorE QEEE @ 27 ) fobifNT 1-93 SeiE
IS @t =7 | fEBINT 247 ToiT goe =Nl TS

B

WEE (P oE@q w2

@ wrreT Q@ cirem
@ == ® awew

[T IRE T TREOCET N | TROCET GFFRET
%3 | WS @vTetEs TR (@5 Fler 770y TF
R YPTSCE AT AT LRI F& g 27 |

foreet (1l (A 7o =3
Okiaz @ s
@ = afy ® “rET

H: foreeT :97e & 3T (A0 | NP (/7 e
foferar ot ferararel<eial zane 2egferey | et aifyg

(AT :7]© QTSR T DS |

G S (@ @ror 272

@ srRES AT
(QEERUE @fw=s
70° IR TR (@I (@FAG?
@210° ®20°

@110° @200°

[ oA S, RS @ 1800 1 e 70°
TR 7S 1t 1800 — 700 = 110°

I (AF fRAATS @I A FAT oI =eT?
@) ffewet ® v
@ ~rfezer @ cicae

Y (AF AREITS ot ST [ safors | @
AR(STe SIf TG AT AR T2 T & (AP

Moot TGCS AKfers 27 St [0 90 |
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The word ‘genocide’ means-
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@ mass killing ® mass attendance
g Genocide *@foa wig oreizer | =Mty =g
&« mass Killing == |

FST (AF @2

@ 7w S ® fifry @
@ﬁwﬂvwm @ Gt TeREeT TN
FIGEERATT AR FHT AT IGACER WA
s f sfem g2y vad- SRE wihR few
RIEHT Sia-u2 e ” o afoe JNEFt f[Tars
59 AR ¥ WY @iy, oiF wf & wer
{fece T T =7 1

eym fofes TaAm ‘uaremd Maelr-«a e
2

@ *nzfame sf<a Q) W erEEE Gy
@) *rsF© @I [@rrzrmrat Zam

[ Yfeyaieies ol ‘yarersd el avg
ST *fen T FRERT TN | 97 AT AN

@)\3{{-%»{»{00)

7 &



5.

Q0.

0|

22

Q9 .,

Q8.

R¢.

Y,

/Y Ifeyren g Ryes zmw  IfeyEd
“PfoFAETe Sl 7o &Y ‘aFreca St (e
FET) 8 S e R’ (9 7 SeR 33F9) |
QETR GFAG AN KR TeAme (@7 (@RI TAFe?
@ wsferar @ Sifaaere
@rerz @ TargME
[IAT: AR aF0g AN sy e
FIYEF A TR 89T dpu A FifHre =7 |
‘e« At osw @G
@ fmt + wemw ® e + S

AT + =Ty ® @ + =
S G- R - A7 &I FeqT -7
AT T T WS =, - A4S e
T IE | @- [y + o = e, & o+
STy = e, Ry + S = R 2ol |
Which one is the superlative form of ‘Easy’?
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@ He never goes to school

He hardly goes to school

@ He often goes to school

® He goes to school regularly
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The passive form of “Open the door” is-

@ Do the door be opened

® The door is opened

@ The door has opened

@)L et the door be opned
SINuBImperative  IwiGe passive  voice-ad

structure =eTllet + ob @ sub + be + verb «x
p.p | qe4: IR passive voice: Let the door
be opened.
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Which one is the negative form of ‘I always
support him.’

@ | never support him

@ | never against him

I am never against him

® | do not support him
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It ---- since morning.

@has been raining @ had been raining
@) is raining ® is rained
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Which one is the English form of ‘stz stéte’?

[@] National anthem @ National lyric
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“w1 = A1 1" Which translation is correct?
@He eats fruits ® He is eating fruits
@ He will eat fruits @ Heate fruits
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Find out the synonym of the word ‘brittle’.

@ Strong ® Soft

@ Hard @)Fragile
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All are common gender except-
® orphan ® child
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The Passive form of “He teaches us English”
is-
® English was taught us by him
® English was teaching us by him
@ English is teaching us by him
@JEnglish is taught us by him

E 76 object 3= present indefinite tensefbs
passive voice @3 structure: €= ob 5 sub +
am/ is/ are + verb @3 p.p+ Jf&AHF ob+by+sub
> ob | 3eAR AFHA passive voice: English is
taught us by him.
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Does she go to school? The affirmative form is-
@ She does go to school
® She go to school
@ She has gone to school
[@]She goes to school

E Interrogative I=fBa affirmative form
ZESub+verb (ame ICEE tense SRAT)  +
extension rPrearR e affirmative form e
She goes to school.
What is the antonym of ‘gentle’?
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a.  The antonym of the word ‘Active’-
@ alive ® industrious

@)inactive ® working

MMIEACtive (e, fame)-ag fofe =
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RIRIEROSS T fates Reieer Jreton weera
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SRS SIS ATIT TS (F2
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RIRAEC¢ ST TRACT TSP Srer&RAr
*TESI QT T QIS T Sb GeT 05 |
eSS < X0 WGP, T TRF 8 ~geizes
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SUENESTE 8 BF N Qg 31 ST o 6 27 |
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Nobody believes a liar. Make the sentence
interrogative.

@ Who doesn’t believe a lair?

Who believes a liar?

@ Doeshe believe a liar?

® Who believed a liar?

SN obody 3% ae nagative s nobody-
@3 BT Who+ i Sl + &[taixs o2 07 | Jodne
B9 interrogative &+ =e; Who believes a
lair?

He has been ill ---- Friday last. Fill in the gap
with an appropriate preposition.

® for ® with

@)since ® to

O,

0O,

08,

O¢.

oY,

09,

PR ©fE AFrwt : e

SN 72 ST 7 since 39 = | Sincewet
T 9 TS ST (AT T 9T |
------ your shoes before entering the mosque.

@ Put out Blput off

@ Put away ® Put on

S © o = emis srput off (YT
) 9 | Put off @reer awfoa g sifew e
T AR ot {0 A4 | sirreiput out =g et
&=T; put away o< (®TS A W put onifFEE
AT

TR Q@ QS W Sewaia! S (@62

@ vrrer frg @ et B

@ T ® arfes o
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FRCHTH TG ILTLI FFArS | 2006 T &Fifre w2y
SR A S & bd% Sere 2 @ fegm
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AP 90 I | QAT AN @ IR @
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What kind of noun is ‘Hoinesty’?

@ Proper ® Common
@]Abstract ® Material

SIS FFETNOUNTRT (AT, @cl, S<g @ FICae I
@ReE simacE  abstract noun w1 Nounfo

TS ee, th, ty, ness Tenf @ITel o =Y [oaR
honesty =t abstract noun<s Gwzee |
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Choose the synonym of the word “beautiful’.
@ ugly ®) interesting

@ dull @)pretty
M Beautiful (7@)-a7 @2 SdEIeE

ZeIpretty (G 9*0) | s ugly =i Fefre,
interesting =< sterg =t dullsi<f fost |

B @ P
@ == @

BRI T T3 TSR T A4S SHCS T
TS FAG (AT M (A0R XS A O G I |
SRS AR R e wweEg COE 7%
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@) o ® sof6
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JACT FCRFFR AT I v 27 |
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Independence is synonymous with the word-
@ Management ® Slavery
%eedom ® Interest

S Independence =i freedom =€ =idiwet |
TeaR 1w ¥ LF | eiwel management =<
g, slavery =€ wiTg, interestsidf wia |
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@ Fsew
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I was glad to hear your success. Make the
sentence complex
@ Hearing your success, | was glad
® | was glad and heard your success
@ 1 was glad to hear that you will succeed
@]l was glad to hear that you had succeeded
Complex 9197 197 Face that, who, which
Zesifn relative pronoun ReR IREE =
That=%3St clause fote was =¥ ==asf clause f&
past perfect-4 23 |
ftea @ Yfegafefes aitw?
@ tfex o ®) gsreEe e
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R @Ha i F5 006 AT oF TR A
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@ fem @ 7
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RIRIECT 0aa TR “iige Swiedars s feot 3
fim o Tw e wefe s I S
GETEINR AT | SifTe (GRS R Bo7 fofe st

ST LTS R AF |
TR AT I [Faqor?
@ =T ® =

@ @ =

SINEF SR A1 FEfeF AT A1 Qe «@F
o IAME @r | @3 IRMEE FHECUSOy |
TR SERISTAT FRCE 3R A el F AF | FAR
TS ATBRIZGE G ZAFAE |

@ fra ® =

@ wr @58
RIRIETIET O I ¥R oFE | [ 4F9D 8
IGIG | (N TS LIRS (AT IZIBH RS =7
ZE- I, o1, IW, Nt 2gfe | [ 7R, TE e
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@ =% ® fferew
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One should not lament ----- the past.

® with Bfor

@ to ® of

@)\3{{-%»{»{00)

7 €



L8,
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Ly,

L9,

Y,

ChN

ShaEL ament for something i< wFie foge &
@@t a1 1 Forgamer qrmfoe et wrere foe et
feeTrer a1 Tfow 71 |
TG (T 2

Bzt

@ =@ s @
foreeT

RIRIEPR "Ml pFe war wigE A PR = 9w
T | (@- @A, e, (@RS, Tire To5in |
SR TN GFF (FI0?

@)

@ =f

@ = 7

R Es == Swifte wd@e @f@ SRy

T N O} SN MGIE S 0T | A

FHeN @FF @i | @i ffie w9 A Ao bz

7 e | IR WHSW T Twifve @ A
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The synonym of the word ‘competent’ is-

® Circumspect ® Discrete

Capable ® Prudent

Competent (8+g®; T%%)-9q TALF *

capable (<) | e@l circumsect S IR,

discrete wi¢ 7= =@ prudent =g v |

If were a king-

@ | healped the poor

I would help the poor

@ I whould hel the poor

® | would have helped the poor

SRAR!f clasu 5 2" conditional-aafra wpaer

Faw result clause fbts sub+would+verb- @3

base form I& @ qITe Q| FedAlR FAGE

expression 5 ze: | would help the poor.

He is ---- L.LB. Put a suitable article in the

gap.
@an ® the
@ a ® no article is

equired
ﬁh TFY *Wwd AN SEwAvowel- «@F Tt
TIf® 20T O 4 an IT | TSR *FTEITT anIA |

You and | ----- good friends. Fill in the gap
with the appropriate verb.

®@ is Blare

@ was ® has

MM @8 AR sub zem you and | oA

plural =<2 you and | & PR T XTI
plural verb “are’33 |

qo.

.

aq,

Q9.

q8.

qe.

Qu.

PR ©fE AFrwt : e

.00 X $07° FRT f&F FRM?
Elwiewim st @ st e
@ w9 sTex @ wifers st

T, Y HRVER PO (& fReeiae

@@W @ Aifzrera 2fezt Fofire!
@) T Qo @ e ERS
UNIEeRIRY . JrIm RER  (Shhe-daud)
APEIRCIR BIR AT (ST Srefiel FCI | ©fF AMb®
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ST MR A0S R ARG TS S
SfSq’ |

I might ---- to the movies yesterday.

@have gone ® will gone

@ gone ® be gone

SINIE STSTS T8R! 2 Facemight + perfective
TS T | FoAR IS have + verbas I& s
BIRCH

TOHHT SO QFF-
@ Qs
@) e ® wieny

MR e @ @ (1852-1908)
(SETETe! NAHT FE | (T AT Gl (ATF (ST
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Find out the singular number from the below
options.

® Mice BlTooth

@ Agenda ® Oxen

ey Option et@s ==t singular number
zratitooth = plural teeth rererer option-«s 31
*wratel xee plural e singular form  zeet

AT mouse, agendum«dz Oxen |
TATINT TP NP IR @~ 9T 9F FAT -
Blre= @ g

@ ey ® o1

RN AR 2T TAFRT o TR I -
FoE; TASRI TASR WIE S A (T- TP,
T N (FGHA-STON; TAFIN NF I (-
oy |
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I fas ot Kot Fgpfs ez @i oz
@ wzsRrs ® wIwE
@ 0 ererew @5 frem
RRIEEfooed =ifesre) it qretrof =feaediom
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wifErt e e fenae |
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S @vm
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PR ©fE AFrwt : e

o7l | S v, Y, 4N-O9TF * |
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@ @ v
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The word "Dangerous’ is a/an-

® Noun ® Pronoun
%Jectlve ® Verb

SeNEOUs, al, ive, ate, edgerw suffix I& ==
gRers adjective =@ ATE | J@diR dangerous
*[fs adjective |

What is the passive form of the sentence, ‘I
know him’?

@ He was known to me

® He is known by me

@ He is known with me

@)He is known to me
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It happened long ago.
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'Everyone Likes Flower'. &3 Interrogative
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@ Does everyone like flower?

Did everyone like flower?
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O Do they like flower
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Antonym of ‘Wholesale’ is
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“I have done my homework” 4% Nagative
Form J?

@ 1am not doing my homework.

I have not done my homework.

© 1did not have done my homework.
O | shall not do my homework
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»q. He is poor ___ honest.
@ but because
© or ® so
Ans: A

WO ¥=rEeT  co-ordinating  conjunction
R but =3 |

vb. She has a good soul. Here ‘soul’ is-

@® Adverb Noun
© Adjective © Pronoun
Ans: B
mTAT: Soul @t noun w19 adjective @ 79
@351 word fReTtE TeTR |
b>. Q B (@I 787 97 50 & T, BT Fe?
@ 980 kg 0 kg
© 98kg © 50kg
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B3I 7 X (8 +X) =63

8+Xx=63+7
8+x=9.x=9-8=1
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English

Which of the following spelling is correct?

Bureaucracy ® Berucracy

@ Beuraucracy ® Bueracracy

SNAE 11 <@ word f5 zemBureaucracy, T

¢ SEreE; WA #Ifbifere eximfeE 59 |

The man sitting beside the window on the

plane was very nervous. He ----- before.

® no flown ®) not flow

@ not flying ® hadn’t flown

3 Ity epast indefininte tense- @

RS 7R I/ tense-a R | T @R GT #d

I veR Sfess! Sew FE | (R /6 past

perfect tense-4 27 |

Istillfeelveryweak ------- in the morning.

@when Iwakeup @ as | wake up

@ when | will wake up ® while | wake up

Sk When conjunction s ¢ 5 7 (2t |

Main clause & present indefinite tense-«a =t

=7 clause f5 present indefinite tense-a =@ |

syeare A5 Option when | wake up.

The fruit is sweet ------ the taste.

® for ®) of

@ on @lto

SN Sween to the taste =i wiw &2 | ware
*HFTFIC to I |

Another word for ‘trait’ is-

@ complication feature

@ course ® lazy

M Trait (oififas  wRED)-ax few ww
Zrifeature (G3M85) | er=rer complication =<
wiberer, course =< o= @ |azy=id o= |

The opposite of ‘leap’ is-

@ Jump ®) soar

@plunge ® rocket
SINNEL eap (FF N)-937 e == plunge

(Frafeere =) | SISl jump =< &/e o, soar =g
g @ot e rocket st (Verb fZo1) 764 wrst
wFooifere Sota @dt |

This book is aimed ----- the general reader.
® for ® by

@ to ® at

@)w{{-bQQoo)
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10.

11.

12.

13.

Al Be aimed at somebody &€ ItaT e e
@I o e @ wfe’ Gio % I 9
2ol T | TEAR A at I |

The universe we live is immensely

complex.
@)in which ® in what
@ over which ® when

SAMURelative pronoun @t 3w gW ot <
SIEE @ relative pronoun @3 < in IR | oA
=gy in which 731 In which It s
JIeET: TR AR TG A IO I ETT oS
GO |

Only after watering the saplings----.

@ Mina could have a magnificent garden

® Could Mina had a magnificent garden

@) Mina could had a magnificent garden
uId Mina have a magnificent garden
SRHE Only == 9167 @3F 2e7™ sub-43 =td modal
auxiliary verb & =931 =® modal auxilary
verb-a3 #= verb-a3 present form 3IGT | el
#f5&  expression z@could Mina have a
magnificient garden.

Her half-brother had her ----- the improtant

assignment.
@ to do Bldo
@ to be done ® did

SINEHad verb «zem Ifeams object ST
verb-«a3 object b« == verb-« simple form @7 |

ToHIR XATEICT dOFCT |

The synonym of ‘arduous’ is ------ .

@ easy ® simple
difficult ® magnanimous
S Ardous  (¥FTE)-9F TS %

zeedifficult (f) | Easy @€ s/z&, simple st
AR @ magnanimous =g &wi |

The singular form of “baceria’ is ----- .

@ bacteriam bacterium

@ bacterian ®) bacteriem

Hinits: Bacteria (I5e=am)-9= singular form
T bacteriu.

Gradully I am getting used to ----.

@ speaks English @ speak English

@ speak English speaking

Hinits: Get/ be used to-43 == verb+ing I¢7 |
wiF SR AN capital letter My v =71 eAR
=gt speaking English =7t | eme wioa
JieeTr; Qiea diea Wi Becafee FU w0 o5 2t |

15.

16.

17.

18.

19.

20.

21.

PR ©fE AFrwt : e
14.

Which of the following spelling is corect?

® Gauranttee ® Gurantee

@ Gurrantee [@)Guarantee

Hinits: #f5¢ a=mg® word z@ guar-an-tee
(I foga &y feifre Sroia emie <) |
Synonym of the word ‘Depressed’ is ----- .

@ Happy @ Cry

@ Angry [@)sad
Hinits: Depressed (Rag)-«3 st1<fss =7 zgat sad

(=g | el Happy =€ 73, cry =< smi =@
angry =g aaiifae |
Full in the blaks with appropriate words (16-20)
Four and four ---- eight.
@makes ® make
@ is ® as
Hinits: -nfafes foees ¢vta verb singular
form-« =z | ea1e makes ZeT A5 option.
He made his children ----- their homework
before every afternoon.
@o ® todo
® minded

@ to study
Hinits: Make-«3 s complement s @a=9

verb-a= simple form <9z® 27 |

Bread is tastefully made ----- wheat.

® in ® at

@)from ® of

Hinits: *7gea from =31 Made from =<
THMI T0o IF Cofd I wde @A g tofE oF
49 SRR e 0T 1 Bread o (TF SRefy
T8 bread-tF oIv @ HAST WS 7 |

Fifty miles ------ a long distance.
@ are is
@ bad ® were

Hinits: s, =@ plural z=re ™3 verb
RN singular 23 | SR AT T is | Is w@er
TR AT el TIZeT Ao |

His birthday is ------ December.

@in ® on

@ at ® by

Hinits: sow Jiei® =g in 3071 In 3B e
ogf; O T ST |

The phrase ‘A slip of the tongue’ means-

@ Wrongly by choice {@) Un-intentionally
@ To hit another person ® Delibarately
Hinits: ‘A slip of the tongue’ phrase 5% qI<
w¢ wfsRIgeelta fg 90T =T A unintentionally

(SERIFOSICT) BT AT AT |

@)wii-biQoo)
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22.

23.

24.

25.

Which one is singular?
® Foci ® Media

[@Hypothesis ® Syllabi
Hinits: Option e Sca 713 singular noun

e hypothesis (@<%) I plural form =z
hypothesises. st=rer =y word-wt= plural, I
singular form @t ze=m focus, medium <

syllabus.

Feminine gender of ‘Wizard’ is -
® Wizardess Witch
@& Female wizard ® Acrobate

Hinits: Wizard (sgee)-as feminie gender
s F forr 2 witch (@Y ©izfa) |

What is the synonym for the word
‘FIDELITY”?

@ Inquest ® Repent

@) Praise [@)Loyalty

Hinits: Fidelity *tww =id foger; ey |
Fidelity *twa <= =« 2w loyalty = widfe
iy | SeE inquest wi¢ JereReE, repent g
ST S praise =g e |
The antony for ‘INGENIOUS’ is-
@ Crafty Inane
@ Incompeent ® Skilful
Hinits: Ingenious (Sermg=; faewe)-«3 fi=idrs
*% inane (&%) | sr=rer crafty =€ e
incompetent =< sv =g skillful =i v |
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English
‘Merchant of Venice’ is a play written by-
© George Bernard Shaw
@ William Shakespeare
®© Wiliam Somerset Maugham

@® O Henry

‘The Merchant of Venice’ comedyf®
@eew Bard of Avon #itw efdfoe William
Shakespeare | SiF =8 TG comedy-ad =i
Zeett The Comedy of Errors, Much Ado About
Nothing. As You Like It. The Tempest Ze5ifw |
The poem ‘The Schoolboy’ is written by-

@® William Shakespeare @ Anne Frank
William Blake @ Samuel Taylory

The Schoolboy %It Romantic Age-
@3 {7 William Blake-«= 72t | William Blake-
3 TG fRCSy AT S 91 27 |
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30.

31.

32.

33.

34.

PR ©fE AFrwt : e
28.

We submitted our proposal in ----.
@ blue and red [b) black and white
@© black and blue @® black and red
‘In black and white’ phrasefba =<
ferfreitz | Black and white @it arssfoa e
ST FfRSItE ST 2RI (o S |
Find out the correct sentence-
@ He ended up in jail after stealing goods
from his neighbour’s house
® He played football across the year
© He bored others through his acts
@® He is a guy with plentiful noise
End up-oif @5 @3 A 9T SREH
fecercs e siheat 3t ofil ereymi Faf | Option et
ey Ao 9167 He ended up in jail after stealing
goods from his neighbour’s house. (&fsta=
Jf%a (e &g pfaa 9 s 39 (eEiETe
RCET) |
Active from of the sentence ‘The ship was
burnt’s is -
® Burn a ship @ Fire burnt the ship
© Burnt the ship @ Burning a ship
IRmfoa Pasive voice-«3 structure: Fire
+ verb- @3 past form + sub & obj | TR IFTT
#f5& Passive voice: Fire burnt the ship.
Some of the boys ----- did not come.
[@) I invited ® Whom | invited
them
® Whose | invited @ | invited them
AT G ASF expression T |
invited. | invited e Ir6a e S SwfEe
A (TG (FC AP ] |
The verb from of Population is ----- .
@ Popular ® Popularity
Populae @® Popularize
Population (=m1eam)-@3 verb form =t
populate T w¢ G=if 41 Wy =4 |
The antonym of the word ‘Transparent’ is --.
© Clear ® Lucid
@® Crystalline [d) Opaque
Transparent (¥%)-97 f#ide ==
opaque I =< SIS, ST% | Sies clear
i< 7%, lucid =< =12 @ crystalline =1 =ifs 7%= |
QETT G *THF AL |
Which of the following words is not the
synonym of ‘Vulnerability’?
® Susceptibility @® Weakness
Resistace @® Exposure
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36.

37.
38.

39.

40.

42.

43.

Vulnerabiity (Steren; rrsreifrer)-
a3 TdE *w W@ odiR fode = resistance
(eifstary == Frel) | Sigel option-«s A feafs
*= vulnerability-«@3 sTds =7 |

Which one is correct?

® What kind of a man is he?

@ What kind of man is he?

@® What kind of man he is?

® What kind of the man is he?

T 4o WeEs Fxare What kind of
man | e @k AfSF a1 =z What kind of
man is he? (77 (9 «=ea WE?)

People belive that honey is a panacea ---- all
diseases.

e to [o) for
© against ® upon
‘Swamp’ never means-
® Marshy ® Boggy
Dry ® Muddy
Which of following is the correct spelling?
@ excessive @ excesive
© excesive © exccessive
One-third of our work----finished.
© have been @ had

has been ® were

35 present perfect tense sense TR
work uncountable noun 2ex ST F&G HICT
AT TPl ReT A(5F expression 5 2= has been.
The correct spelling is ----- .

[@) voraciously @ ecanomical
© extrayagant @) close-fiated
Frugal (Rreai)-«aq fRe@e == =
extravagant (7581 | eiwrel  economic &<
wqtafes, economical =< firearat, close-fisted
EREGL
My mother forbad me ----- :

to keep association with bad boys.
® to not keep association with bad boys.
@ not to kept association with bad boys.
@® not to keep association with bad boys.
Forbid ¢ et <, foce <1t | e @
*7 negative word no 3 not eTE 2 | AR
#f5& expression z@ To keep associatiation
with bad boys.
In linguistics, ‘Collocation’ means-
© word that have the same root
@ words that go together

44,

45.

46.

47,

48.

PR ©fE AFrwt : e

®© words that do not go together
@ words that give the same meaning
wRIRkeE collocation &4 *wifie q@e
T qremeit s=gW w4 words that go
together.
Although it cannot he proven, the
expansion of the universe will slow down as it
approaches a critical radius.

presunmably ® presumption
© presumed @® presumable
Although 3@ faw clause @v w&ts
adverb #wem I=FHBE modify I &y | ol
w5 adverbial form =z presumably = =g
T |
My half-brother visited Cox’s Bazar a couple
of weeks ago, and ----.
® so I did @ so I was
® so | had [d) so did I
Affirmative < ageement <9 ¢¥@
and ===t clause 57 structure =t so+positive
auxiliary+sub. e »t& past indefinite tense
IR A< optionf® 2@ so did I.
The Taj is ----.
@ so a majestic building that we simply
marvel at it
® soi majestic a building that we simply
marvel at it
© so majestic building that we simply marvel
at it
® a so jajestic a building that we simply
marvel at is

So+adjective+a/an+noun+that+ =
clause zwT 5w sequence | JoANR YFTRE T
TR expression T SO majestic a building
that we simply marvel at it.

The synonym of ‘conducive’ is ----- .

[@) helpful O hostile

@ favourable @® genuine
Conducive (rz) @3 helpful (raws;
ARRFIRT) A== T =177 | e hostile =g
ey, favourable si¢ sg@ ¢ genuine o<

S |

Which one is a plural number?

6 basis @ formula
arms ® dwarf
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Option et et plural number =gt
arms (IPHR) | ©=el 9=y word & singular
v plural Tet@EeT bases, formula @< dwarfs.
What do you mean by the word ‘Gesture’?
@ style ® walking
body movement @ talking

Gesture =< 2f3re 31 &R of LA |
o *Roa =g &< A body movement == |
Last night | watched a ------ .
@ touchy movie @ touching movie
@® touchable movie @ touch movie
Touching ¢ = =pf e @ et |
Touching movie Tt I fBa AT T TS WS
@3 f5 AT safea oreafe |
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English- 15
A philanthropist is a person ------ .
© who hates all
@ who loves all
®© who coopereates with all
@ who patronizes all
Philanthropist (e W) zeT Gam
Pe @ TP SIAIEET | ToAR HFEeT who
loves all T=7t3 |
The verb-form of ‘political’ is ----
@ politicalise @ politicalize
oliticise ® polititices
Political (arewafess)-«a verb form =z
politicise, T < FrEIfS oo T4 AT RS |

Fill in the blank: There are ----- parts oif
speech in English.

6 five O cight

seven @ six

Parts of speech a1 = w5 &w | F2l:
Noun Pronoun, Adjective, Verb, Adverb,
Preposition, Conjunction g Interjection.

Coward die ----- before death.

@ much time @ many time

® enough time [d) many times
Coward die many times before death
N G S TR S FAEE T @I
SRR WA |

He didn’t hurt the people, ----.

@ nor did he cheat them

@ he didn’t cheat them

®© he never cheats them

@ never he cheat them

Negative agreement <= c%ea 5 I
sub @8 =& structure:  nor+positive
auxiliary+sub+verb+object | JearR =
expression Ze& nor did he cheat them.

Sweet ---- the uses of adversity.

O is are

® had ® have

e wwee Adjective S verbfs
subject-az 7t¥ 37 @k verbfs subject A =7 |
2mg K subject =T uses | TSR WFIT are
P |
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7.

10.

11.

12.

The chemist asserted that ----.

@ he has conducted the test the previous day
® he conducted the test the previous day

© he did conduct the text the previous day

(d] he had conducted the test the previous day
SIER That-e3 ~=<st clause past perfect

tense- @ 7@, I A theprevious day IR |
Past indefinite tense-t& indirect narration-«¢
wreq et yesterday the previous day-te @
past indefinite tense, past perfect tense-«
Forefie 27 |

Can you tell me when ----- ?

@ the train leaves @ does the train leave

@© leaves the train @ does leave the train
Embedded question-«= ¢ structure
wh word+sub+verb | e 7 option-the
train leaves.

The verb form of ‘necessary’ is ----

@® necessity [li’necessitate

© necessitates @ necessarily
Necessary (wefa erarer)-«7 verb form
20 necessitate (WRM5<s/ wioifazd w6 (oreT) |
Fill in the blank: Give me a pen to write----.
[&) with Oin

®to © for

A pen to write with =% e e |
TeAR BT With T | With 3B 3= v
ACE GF(6 TR T ATS |

How long ----- English?

@ do you learn @ are you learning
you laearn ® have you been

learning
How long 3@ interrogative <5
sqEere  present  parfect  tense-a =

Interrogative 3= structure SEERT =FIZI
have you been learning 313 |

Many students are reluctant to study basic
science, but | wish ----.

® I candoso [6] 1 could do so

® Icouldnotdoso @ I am able do so

| wish-€3 /= sub ST sub-asr =1t
could 3 would 7T 93 ©=F verb-aa base
form w71 e ¥E | could do so |
Could do so @it Ierfoa wief-oree ia-zi@r Gifee
fae s wfags g iy af sk f[ee
ATOIT |
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13.

Find out the correct sentence-

@ Rahim acted upon my advice

® He was accused to theft

© RAfique is addicted for drinking

@ Students should abide of the rules.

+fé= a=7 ze= Rahim acted upon my
advice e act on/ upon somebody’s advice
o< FICT R TPAE FlS 4 |

Three-fourths of our work ----- finished.

© have been ® had

@ has been © were

Work ==f5 uncountable noun zeaw
verbfG singular 23 | et Fear @[T ¥ 2 [
I=mfs passive voice @ 7 | oA A5S ew had
bee |

One of the ----- his ability to lecture.

@ greater attribute of a professor is

O greatest attributes of a professor are

@ great attribute of a professor is

[d] greatest attributes of a professor is

EIMNEY one of the + adjective-a= superlative
form + plural noun &€ singular verb 37z =7 |
TodrR WU T IAFY  expression XA
greatest attributes of a proessor is.
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® Na ® Ca

Mg ® Cs
] T PPN G971y 3 @ft Areio™
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K3RT
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@ B ® wreETw
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® Biological Oxygen Demand
®) Biodegradable Oxygen Demand
Biochemical Oxygen Demand
® Biotic Oxygen Demand

Biochemical Oxygen demand =t
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FeAR 19 @ S AR

T MG AGE T2
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@ 18 ppm 56 ppm
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2.8x107* x1000
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=56 ppm
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Q0.

Q.

9.

R8.

Q€.

RV,

‘Annex’ *It¥ I ARG @FAG?

@ -ififiz @ are-fe

et @ s

Which of the following is a singular number?
® clifts index

crises ® mice

Which wor is the determiner in the sentence
“Will it take much time”?

®@ will ® take

much ® time
3 Determiner =t noun/ pronoun &x

fafaget, sfamest, 4t A #fwrsr foa=i= | Option
T Moy “will” 2oz Future Indefinite tense-g3
auxiliary verb; much z® time @3 =i
fm=rss; take == finite + transitive verb «3?
time zt= object + noun | o9k ‘much’ =R
determiner |
If a person cannot stop takeing drugs, he or she
is-
@ attached to them ®& committed to them
addicted to them ® devoted to them
3 QR Fieer weTe zeet addicted to =7
Dhaka is becoming one of the ---- cities in
Asia.
@ more busy ® busy
busiest ® most busiest
busiest, = busy adjective-ag fés
Superlative form.
Choose the correct indirect speech--- She
asked me, ‘Are you happy in your new job?
@ She asked me if | was happy in my new job

® She asked me if | have been happy in my new job

@ Shek asked me whether | am happy in my
new job

® She asked me if I had been happy in my new job

2.

.

Aal < Interrogative sentence =& wre if
371 Reported Speech-t& Indirect ssw A=
Assertive 3@ fite 2@ | Reporting Speech past
form-a szR, Gxg Reported Speech-Fe

=172 past form w=ce 23 |

Find out the femianine gender.

® Duck ® Tutor
Bachelor ® Price
Choose the word correctly spelt.

® Cellulor ® Cellular
Celloulur ® Cellolor

W.

Yo,

3.

O,

09,

8.

O¢.

Y,

09,

b,

5.

8o,

PR ©fE AFrwt : e

In the sense of dead body, we may use the
word.

@ Corps ®) Crops

Corps Cropse

Choose the correct senence.

@ Everybody have gone there

®) Everybody are gone there

Everybody has gone there

® Everybody has went thee

SR “Everybody” subject 5 singular zeary «
verb form 6 ===52 singular =3 |

Fill up the blank of the following sentence: My
mother gave me ----- one taka note.

®@a ® an

the ® no article
The synonym of ‘active’ is ----

@ busy ®) passive
mature ® averse

The opposite word of ‘violence’ is ---

® discord ® conflict
harmony ® sympathy

To complete the sentence ‘Call-a doctor’, we
need.

® in ® for

at @ by

The adjective form of the word ‘agree’ is-
@ agree ® disagree
agreeable ® agreement

In the sentence ‘copying is prohibited in the
examination’. ‘Copying’ is a/an-
@ adjective @) noun
adverb ® verb

To complete the sentence ‘I was there that
time’ we need-

@ in @ by

at ® on

The drama ‘Macbeth’ was written by-

@ G.B. Shaw William Shakespeare
Ben Johson ® Christopher Marlowe
Which of the following words is not related to

‘crying’?

@ weeping ® screaming
stinking ® lamenting
The phrase ‘out and out’ means—

@ thoroughly ® not at all

at the end ® always

@)wii-biQoo)
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X X
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9 9
- +C - +C
® 44" 22x°
9 9
- +C
® 11x? ®22x2
Itan2 Xdx @3 ST FS?
0
T T
1+ 24 1-Z
O+ 4
T T
1+ 2 1-Z
3 ®1-3
f(X)=v9-Xx* @z wmwer
@ {xeR:x>3 @ {xeR:x=-3}

@ {x<R:x=3}
{xeR:-3<x<3}

-8, 3 X — 2 T3 *RW T b= NI & FACT
Q_Ca'_

@ [8-x <3 @ 3-x>-8

B [3-x<-2 @ 78—x>-3
X+y<7,2x+5y<20, x>0, y>0

=S 2 = 3X + 4y 7S I @I Kgre?

@ (5,2 @ (7,0

@) (10, 0) @07

X=-1+i T X°+3x* +3X+7 97 77 Fe?
@ 6-i OF:!

DE ® 9+ 2i

Tl faare sTeeRelfs @it 7o /— 5 —17

® xX*+2x+6=0 @ x*+x+3=0
X2 +2x-6=0 @ X’ +x-3=0%

(L+ax)" a7 fgfore X° @ X' @g 7% Aa="

TN EET a =7
@ 5/4 4/5
16/5 ® 5/16

¢o.

@>.

@x.

@9.
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ce.

@Y.

eA.

eY.

e5.

Yvo.

TR oS ==l : e

y® = 9x “|Ires THiffEe p fagm @S 12 21 @

g Toesfs Ry Fo?
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cos8++/3sin 0 = 2,6(0° £0/360°) @ =
7
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Ry 3 Tl ©fF 1% 20d9-dv

0d. B-8 TYTENS $at g 9T T ms 2 | ARIAT
T APfen [og RA e wiees wom @ g
T A T2

(A) 49ms™2 (B) 9.8ms~?
(C) 19.6ms™2 (D) 2.45ms—
Ans:C

Solve: Wl A1}, g, = ganG =g

T oz, g; = TR (2p)G = 2 X

%anG o g = 2g = 19.6m/s?
oR. WTAMHS @I G (FAG?
(A) Qkg! (B) Om™?
(C) Qcm™? (D) Om
Ans: D
09, T© SR IFC® *THF (I 0°C SrHNAT ([T
G L EGH
(A) 818°C (B)810°C
(C)819°C (D) 815°C
Ans: D
Solve: Jolykoly Short Technique:
T, = (n?—-1) x 273 = 1092 K = 819°C
4. T A AN G Y FAT SAACE I -
(A) B (B) wIReRE
C) WZEIE (D) 2T
Ans: A
5. @36 fG-aeRe w9 TR AT Tt T2
(A) 3 (B)6
(C)7 (D) 9
Ans: B

6. ANTIT FIFA G 7 @9 AT 937
A2
(A) ~fe (B) <=
(C) wifFea@s (D) S
Ans:C
7. NS IET NS T 56T |
(A) e BT
(B)¥& o qead P @™o 1l /5
(C) 7ol Sg& el
(D) v I AWF PR @RI 74T 1

Ans: A

10.

12.

13.

Solve: *MITAR e A1 I FeT #ATEHeTq qi A1©

(T BT |
. @B Ay oraR I e, =T
(A) B
(B) Spiw
(C) =
(D) C a3 Oo@ I T o
Ans: C
. B oemEn Rew @, S e wErare
AMRZ AFCS ANTK?
(A)OK (B)273°C
(C)273.16 k (D) 32 k
Ans: C
Solve:if77 tg¥ 9z @t 273.16 k
I i SRR & R wfFaRre
(A) ™ B) e
(C) ==l (D) v
Ans: C
. TR &S Soo fiifer ate @ wfawrt CO,
ST st AfifRe =
(A) 1fufer (B)2 ffer
(C) 3 fifer (D) 4ffe
Ans: C

Solve:wG CO,- @ 34T 24 O FIICAT
Qe sifiifee =7 1 &fe oo e, wte Wz
sAfarer o fir.feor T & Lot SRR
a3 s f.for Fdfebame Az =)
TR ADH- 79 S0 ¢ofeet s =32

(A) AT eI ST

(B) #AIf& 2Fereiael @0e

(C) 3@ T=oAMs FCT Al

(D) T NETFE (TS [@0C AR

Ans: A

‘T TSRO 5T @I fifa afiEre
(A) Tubife sp.

(B) Musca domestica

(C)Lycosa lenta

(D) Pila ghobasa

@)\9{{-%»{Q00)
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Ans: C
Solve:Arthropoda ¢ Mollusca #t3 @it
& TeeTeg (il ¥ 1Annelida s
Chordata 733 &1fite 3% Iev@zTecd
A |

14. T faweiel @I 247 Aifts (TATs sineqr T?

(A) s ( B ) TI=IICBTeT
(C) Frefw (D) eioT
Ans: B
Solve: 23 gwifes A ¢ T 7o I, T,
SIFTS A AT 2 0T S QI fasoret
T |

15. rEmae Annelida *4ee aeife skt w72
(A)49 (B) 89
(C)98 (D) 102
Ans: C

16. TG U SIBRAET (@ (FITET T (ATF
TRCe S T

PR ©fE AFrwt : e

AITF JFE@> ¢o-¢8 TF
sl & (MR 88-85 TF

19, T BRE &F F@
(A) o
(B) “mE-syihaeE @re
(C) wnilie-refGFera e
(D) -fifeafes o€
Ans: C
Solve: wilie- eGP e (AVN) :
@t o i st@ssyiGE A g
4% |
OF THATST Y |
«ft SA Node Trolg =WaeE 9429 I |
T AR TH-[WAINEF 0T |

20. AT WTTSCH (FIF AP0 (7T A2
(A) FTPRUSF AEfOSTR AF
(B) g orr A
(C) «=fire a0e TG ity

(A) e B ) fembreiiza (D) ==PITe IR wgge =7
(C) g (D) e Ans: A
Ans: B Solve:{T#IHIF XTeld SO SHIEE IR FCT
Solve: f@BIsTIET (TR FCE WRCTT S_(ES | TR IR T FHRST (T AR |
FARCCITH AL A 78S TF | 21. AROMR TS WF (SR WS (A2
17 . IEAIE =fqre o I3 ¥ oI @i AffZfs (A) feacrmr (B) o™
tofd zre A2 (C) BT (D) TR
(A) =0 w3fres (B) Tyt Ans: C
(C) wufeEa (D) @t Solve: TR AT W AFhe:
Ans: B WS- U wigfeq
Solve: IRCF I& TAIARIEI (I LA (TTI- QRCATIGF— ST
AT quf) foere o fore r aee e AT AT
T OGS 2 | 22 . swlifge AR I I =72
18. oz A oz &S wARARGR we @fke (A) STTZIE (B) wfgs
TSN TGT For (C) it (D) =
(A) eo=T¥ (B) aqo== Ans: D
(C) se== (D) e Solve:saifgs gfefl iyiFar v a1 yIfes
Ans: A FAGFAIZE T2 R | TIFATEAT ST = AT |
Solve:ffoy wwrm TaTTR efs w7 ARG | 23 rwiaw wiRretoe WP I T G THLT?
WWWW{W: (A) W (B) RN
QMR bro-50 TTF (C) ‘C"T@@Ff (D) Y 7E
fremE— vo-q0 TF
@wgg-bQQoos ﬁ'éT@




Ans: B
Solve:F TREIEINGE (FIET AFZe! Al Y228
CHRIG 31 STt AT A ITIRC OIS F1
|
24. 73 foqme 3 ¢Fta erarey w12
(A) @35 TEF Mgl
(B) Tt33eTI@ Bfen (IR (@17l 38 F4C© TN
(C) RAN s DNA &< fg «if5e
(D) SRATHE e [BF &Me e AT
Ans: A
Solve:fEE— fEfes Wi ¢ «ta
TFe FHARTE A Affe @ GG AN
TFAOPTE 5 SR el |
feaae— forrre 2ot 99 Jeis RNA w9 |
fr— fere 2T @ @it wiREew |
25. T (TR AT IR '8 FF0?
(A) Poaceae (B) Malvacea
(C) Solanaceae (D) Cruciferae
Ans: B
Solve:Malvaceae ©it@d *Mreaar @2 -
T I St @ e freherer |
ALFHT  OPRAT, GFERF, ALIANT Tl
Toved S @S, RN AFATEBT @
IR | SRR ST |
26. 79 (AT 8 ICHT IR 2
(A) T (@IT SRR il
(B) e ot
(C) «Ig= ot
(D) TR o1t
Ans:A
Solve: BRfAH v wrFfea oy (G
TEF (FALADICTT T2 (T BICo 3B T OIS Bl
(oI AT HIfS B 0T |
27 TG R (17 & &S w32
(A) Isogamous (B)
Anisogamous
(C) Protononmic (D) Oogamous
28 TS AEfNC G (b FIFCRAMN (ATF &
FIFGRATT @ADS € ST I ©ItF I I
]2
(A) F-grefye

(B) R-zmefe

PR ©fE AFrwt : e

(C) Col- zrefie
Ans: A
29. 31 wfRefF?
(A) 91 ¢ TR TqTS (@ifo
(B) TR 8 AT ogye @ifbT
(C) TR 8 F9F I (o
(D) AR ¢ IR WS (@b
Ans: B
Solve:TF e s SRR (Fe-S)
@5 | 97 TR 3TTRGH AR FE ¢ foqe I |
30.¢feme b At efbwrs afgm B fofe s0e @@
AR T30 =T oftF F I =2
(A) Jfax (B) wifesre
(C) wifewf (D) “®e
Ans: A
Solve:RFEFERT w3 TR e
Hafe Pl @AfEeR TrRad |
31. 25°Cstom@ay 100cm3 et 5. 85 aiw
NaCl Ay SR 73467 (=ifafs Fo?
(A) 585M (B) 5.85M
(C) 1M (D) 05M
Ans: C
32. 7 @ v e e qe-sar?
(A) 3HCI+ HNOg
(B) H;PO, + H,SO0,
(C) 3HNO; + H,S0,
(D) 3HNO; + HCI
Ans:A

33.pH 2 97 FI0F BT pH 5 @7 5% T ¢ I
wifzs?

(D) D- grefie

(A) 3 (B) 10
(C) 100 (D) 1000
Ans:D

34 I SHN@AE 916 WIF Afe=IE =y 232
(A) 0°C (B) 173°C
(C) —273°C (D) 116°C
Ans:

@)wii-biQoo)
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35. +%w wafw = fofs e
(A) AeRE 7 (B) siwes oa
(C) wmfds o= (D) =g fReper
Ans: D

36. [Ag(NH;3), | CIdifbre & w@ea 39 =itz?
A) S
B) Gt
C) g ade s
D) i ARG «R Afgea!

Ans: D
37.4s%3d°wreAr oom TG [t Rf¥E aier
TR (I SfSH pere
(A) TI= Sgea e
(B) T apo-9 «3 oege
(C) T @EmE M 2 A1 3 7o Iits
(D) =t SI4g
Ans: D
Solve:4s?3d°R=rT [/f*2 i Fe, a1 @G
qy |
38.NH, CONH, Rt FRGEG e s Afe- 1

(A) 4.67% (B) 46.70%
(C) 4.60% (D) 0.467%
Ans: B
Solve: % of N= W%x 100 =
46.7%

39.N=3, I=1 Boers I3 IETRGT TS A2
(A) 8 (B) 18
(C) 6 (D) 32
Ans: C

40 .74 ARfATe 39 ~RNHRT RS G
g TE-1
(A) f- s (B) d- &=
(C) p- &= (D) s- 3=
Ans: B

41, TIM(G JIEACR FASIST (=T
(A) freT= (B) ol
(C) oo (D) =
Ans: A

8.

89

88.

8¢.

8V,

PR ©fE AFrwt : e

Solve: IR A ©F® @ NI «3 gfo
M e A0z | oFe ¢ e oM
G TS A TR TG ©, ade .
@ o fHfA | (@: MRS gooneT ¢ “fea)

(A) i (B) Fod
(C) faarersyea (D) =™
Ans: D

Solve: IIET FFFIEE (W SFCHT W RA
AT e @9 | w9 AR ey
e sifaifa 2wer @ af R ¢ sie | @9
ST e e o o i R Aawe s

0T &R A |

*fEw IfFeifs -

(A) 8 stewq (B) 8 frma
(C) 8 frma (D) o ewd
Ans: B

Solve: el WIfSTF (NG W FAIT & T
e REE 2i@iteT 38 fOrma y5q) AGFE @
eI RIS onfesif afSar @ G
TOIFT BT | Reice dfs I=g MaibrE Iaaiar
T R A 41 27 |

JIENTATIT 2T qOIRE T FIA ALY 2
(A) <M paAl (B) ¥fem Jererw
(C) earie Feas (D) fmire wgmm
Ans: D

TS G (I DI ST
BTCH egien aferra eiffe B ey
(A) TR oo <t (B) o cxitorrar
(C) zm@r (D) G 32 T
Ans: B

Solve:UNESCO wifte Iremed dgs
Sq@ Fes afery 8fFAe WS (R00v),
Gt *TER FA *@fe (059), T e
(05Y) @3 #rwe /167 FF7 T&fe (059)

R et =1 =7 fAoee @I ==30?
(A) fezas (B) @™
(C) =eq (D) tifes
Ans: A

@)w{{-bQQoo)
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Solve:ZTI ¢ T T (WZAT TS Fe37s
ST W WCARFE Ao ST BTy &

PR ©fE AFrwt : e

e o wrer FAoTwe AEFS TR S
(M WS ¢ =G e w4 |
@S. T @it BIMSTEC @3 w72

s’ o= | azel wifesaad we wemr ™ (A) e (B) =i
TR ety 9T = 98 T | (C) eFe (D) <AzH
84, YA (PN GBI (I G 0! WA IS Ans: B
.Tz(;?qiéaw
R Solve:Bay of Bengal Initiative for Multi-
(A) S0 GToe (B) > orea Sectoral Technical Economic Co-operation
(C) e (D) 50w (BIMSTEC)- 3 eifizmier sy w2t ¢ff |
Ans: A T AT, OIS, AT, BT @ Few |
Solve:IfErae 7 Y& AfEEE Ffamed o TSI 2009 I (A 8 YOI & RS
e 35 159 ¢ vefs T g Row w4t TE WAy MR afb |
Y | GF T ASTSAT (L S Y CHAFAT @R, BT &R AFAS (52
(SR '8 BIET) Wee feT 1fF® o T (IR (A) @Zp A FINESIT
A2 @I E157 SR foet 1 | (B) wioomi sigm
8br, JIETIATT HITHTH LACTST Tl (FIAG? (C) o o4 ferga 72T
CA) =t (B) = (D) WM <&ieel S7eTs
(C) wr=m (D) ai@% Ans: B
Ans: D Solve:do G Y5 AT A5 AT 2l
Solve:/Ffr TR Tedfezsr Rred fream S T AT RN T AL e
eSS AR ARG (AF | @fs Frewfs (e e o 4 SR TR @ SR e-agelfe
T I TP AT AR | fogerer 2oty oreee ST | STGTAIT SR Fozert
, RFT 8 GRETET | @0, TRFITICTT =7 ?
et e Fea ot Zeet- (C) vt (D) et
(A) & T4l Ans: B
E (B:; G; ﬁm@nn Solve:TIET FICH B @ AT 7
T TEAIE AN e AGToT A JGIE | &I @
(D) eesifes oifa <t TG IS JZST IS8T, AR, TIF @
Ans: B HeEeE CorETa S e |
Solve:FIo@I@ (@R FF TN GF < I | | 8. NAFTA &7 737 et 92
cSrifErFeT e FEiNe B @Il e (A) ¢ (B) v
PRI, RMiEny, T, RIS, FRW2S, B, (C) o (D) 8
ore, IR, TTERE ¢ el @ Taw Ans: C
3 oG <
QO.ETWW%?WE?;{%W{WW? Solve:North American Free Trade
(A) 17 (B) 14 Agreement (NAFTA) ;& wrse @ oft
(C) 16 (D) 15 T ISAE, FIAC 8 (R |
Ans: A ¢e. IENTATHT 2RT AT TF-
Solve: JIENTAC FILIT FICHT S q©F (A) 359 7T (B) 3va371et
e T (C) 599 (D) 548 3
ALHTLAT RS T b GEIR 05 | G TN
@wga-bQQoos ﬁ'éT@




Ans: D

Solve: AT AT LT TS TG
Y 5598 I QIR T Genifa @ oRoer
TS T 2033 AT | 2RAST A G @
PRI TS 20T 2003 AN |

@Y, JIETTATH T AT T AICGAIZGR T P
(A) &7 srar (B) I wc=at
(C) == s (D) T ss
Ans: B

Solve: TR LT T ARG JIF
A TS @Y T T 8 GA w0dAQ |
TR *TT FIAAIN, GRS FIMF @ AP 20T
RIS |

A GIR RRIIER Nog Ty At [{edrg @
I W fife zzre

(A) Permanent Court of Justice

(B) International Tribunal for the Laof the Sea
(C) International Court of Justice

(D) Permanent Court of Arbitration

Ans: B

Solve: International Tribunal for the Law
of the Sea(ITLOS) wrfifag zmgsifefes g
3 AT Seefes GIagare | [Reew @2
SIS QO - R ey Ty AR
T AT 58 B 053 |

@Y. JIENTHH IS FKF Afrer sl [feg o1y

€A.

s -
(A) SiF® Q= (B) B9 @&
(C) @Il (At (D) PmEeF =
Ans: B

Solve:ET* BIFF ACF A @ Srsmifey
F BT (AF G TR @ (WS @1 e

PR ©fE AFrwt : e

Yo, T FEAIfret 7 ('8 =R F)- «7 wefas

O TR J0R-
(A) ¢ (B) ©
(C) 2 (D) 8
Ans: B

Solve:Organization of Islamic Co-
Operation (OIC) &fsfos g7 3¢ FTHRS Soub |
FeFa efesrmas v feet ¢fB | T8I 71y
@ ¢aft | MR wed (o, e SeR | SR
ol oft | FU- W, WS ¢ e |

LY, TII G Wa?

(A) B (B) f5
(C) o (D) =fufos
Ans: A

Solve: A TSl : Aery, ML, Ffow, wify,
A, SIFRRT, S, BTSNy, SR, S,
TR, @, ST, TG, WIS, SN,
QFIey, Ao, T, 797, 1 |

3, I I/ wa?
(A) I (e fsfd =t @i T =i
(B) R I & Y Srsrfifrezem
(C) = woifzg wiwfas
(D) TONR *REroToR S Ieh

Ans: B

Solve: 33T saaae:

T IS o 1T

T o TR | | @i wemifee 2@ty |
o7 T TRCE | o7 Jffe ZCACR |
3T JRF 12 | 3T AT 2 |

YO, ‘T FLF W A1 FHT A& I@ @ TR 5
ST A CTH
(A) PE™RIgEwa (B) IF@ SEHH

I YSAG (AT | O JIECACHR JIETCACH (C) T 512 (D) AT
SR feey Tt a0 BT @ ©ires Y | Ans? D e R
@>. 03 I et fnret wfde 23- Solve: oo =1, TS @ T :
(A) 7a1Z (B) foree
o uic| EREN
(C)=rer (D) & AR ASF ... | N T
Ans: C TR 139, (AR ST | STga1eom (e
Solve: 2033 I el KRS 38N T Sefre T I (... Iy TgmE
TY-FIO | 20_Y I 20T PR SFS ZJ
IEAG, FAC! 8 RHH |
@)w{{-bQQoo) ﬁﬁ@




L8, ‘TRIAR ML ARCCRA (P62

PR ©fE AFrwt : e

U, ‘AmlS” MR ATHIC=A (P62

(A) S2+37 (B) 98+ (A) "M+ 4fs (B) o=+ 4fe
(C) =Rl +3% (D) ©R3+9R (C) *=~ +mfs (D) *Mm+2fe
Ans: D Ans: D
Solve: FEFH Reew foref Afea Tz Solve:s A ¥ €3 708 T AR J2F T 7 27 |
s + Afe = ©lg + I9 = OIFT @
vife TR + T© = Tge TR + 7 = Cwl
wRe + foell = SR | oz + W7 = wRER Te + 7© = Tge o + oo = ofare
YE. T WG AlHRA (FIH? A + 2f® = *@fe T + =99 = Taael
(A) fem (B) & qo0. ‘TER@!’ T TR BAiRF?
(C) =™ (D) =y (A) o sy (B) 8% oo
Ans: B (C) i oy (D) oflf seod
Solve: S$e’- @7 TAILF 1771 : Siferey, oF, 9K, Ans: B
wfer, BrFe, O, e, e, wgew | Solve: F7 7ol f[Tefe (=, &, e Teonfn)
Vb, T RAT TR Terty AR | G T AL GETITA (T ST T, SIS 5HAT SRAFF AT 04T |
ER? A GP(F OfE = GPOE, AT G (ST =
(A) 5= (B) wagge SRANCFAET |
(C) wawers (D) Wi Q). PR T TEI?
Ans: B (A) o2 GIgar (B) FNHaR I
Solve: IS GFFAT AT : ANF TS &F ! (C) wifReet Tgemr (D) AR T
TN = FoF; A TN I I 1 = S7ay; A B Ans: B
G T AR = Fefers; AT wfers = Solve: =GV ¢ &F© IV :
AfTEETE; T T (A = T, & QI 0 (T = REFIN oS TN | QAN e
T | TEAFE | T I | 9 HIMPT | WS 99
v, ‘Pita RS’ IR o Fie CEEEC I ok BIRIEC]
(A) S pmr (B) ST orCsiieT CoTgRT AT
(C) wFrg fom (D) e QR ‘IS’ *w A @G
Ans: C (A) <3+ oife (B) 7+ 4fs
Solve: Tl AT : *To =157 (<19 e 7T (C) v+ +fe (D) =+ ™ife
o), =few wHT (7:9T), *f 2 (wfewrs Ans: B
7(®), *Rred M (PEE TF), eR-E Solve: 3 + “fs = IF=ifs’ (Mo e ) |
(ST <), e ST (T AeD) TOGTET A (AT PRI P & A, GG
v, Corrigendum *=foa oig Jt? freIretT Ba A% 90T | N
(A) wfaea (B) st o+ 5 = Wl Sl + 7 = AT
(C) Zrer=e (D) wrags@ T + T = T W + ¥ = e
Ans: A R + wEleT = Y = 9 = ©F
Solve:swg e el : ouf
RO W sAfrerT | Rt = | SR 0, Q% LT =’ Ity ol Py
Coldwar |*R== | Catalogue | AR=® (A) wite < (B) iy =
sifersr (C) weal (D) g e
Concession | I« | Copyright | Taeg
@wgg-bae\om 15 €D




Ans:

PR ©fE AFrwt : e

Q5. A R 93T Topref fen e == @

Solve: 2rs g 11" qeI4IIGe W2 « ST el (A) g (B) =
AT | @R AT : QSR R AT T iC) :W (D) e
o 78 347, TSF o o1 (ITF ICa4 Jiferdl ns:

;?)?Tiﬁm)(qﬂw I, ch(o o (S51 o, Reafét Setore ficar afoe = o
T9), SRI-AS TF T (TEPrS T4 | (A) wwom (B) fe=m

48. TSR AN oL B2 (C) fomm (D) far

Ans: A
Eé; T&:’ﬁi‘? EE; ;Z%; Solve:F=RT Top1ef @ AT IR -
[Tt | wdomtesel | Smieaet

Ans: C iEh] SR ferranfer, o, e |
SO|V€:@W"I‘T JEYIET : FECE ATSAT (ATST m % o TGS, JeTS, R |
M), YIS T (s e ), = @ T R, e, (|
I (I red), F 2 (T Ife), vy, The passive form of ‘Don’t do Itis-
W@(@ﬂmﬂ@ o) | (A) Letitnot be done

9. AT TG AN Fereer? (B) Letnot it be done
(A) =i (B) TR o 72 (C) Letitbedone
(C) Tt cae=emt (D) o feer (D) Letitbe not done
Ans: D Ans: A
Solve: g (<X Y& TRACTR ST Solve: Imperative sentence «< passive
GG AT S0 (ATF So¢e AT 7S w9 s Let + object + be + V5 1 Negative
(7T 2K (0T iAo TAAR) oA sentence @ ¢%@ object €3 #It7 not I |
e AR | »_. Choose the correct spelling?

Q. “TFYS' = AfH{IC=A @2 (A) etiquette (B) ettiquettee
(A) T+ S (B) 4+ S (C) etiquete (D) ettiquete
(C) =4+ (D) F©+ S Ans: A
Ans: C Solve: Etiquette *=f noun Tw o< #2517 |
Solve:T-F7 T - 517 4 = - »9. In the sentence ‘Cycling is certainly
TRt TetH et ‘o 7 @R f @ () A healthier than driving’ The word
oS! et T TS T | T ‘certainly is a/an - .

T4 + A = TS ST + 9w = TS (A) verb (B) adverb
T + 4 = (e i T — (C) preposition (D) adjective
34 + AT = A oot + 9 = e | Ans: B

Ao + 4o = e[S @ + 4 = @ | T8 Cricket enjoys a huge- in Bangladesh.

Q4. ‘ST 1 T - (A) Follow on (B) Fall out

(A) =B (B) W@ ,f\C) DFoIIow (D) Following
ns:

(C) == (D) =F Solve: Following =T Cricket teSima

Ans: B QR = |

. TFIAT T el St <ot 2 v¢. Which of the following words can be

(A) Fefe (B) F== used as a verb?
(C) «r9 (D) Tooref (A) Mister (B) Master
Ans: C (C) Mistress (D) Mastery
Ans: B
@)wii-baQoob ‘ﬂ'éT@




b, — amazing song haunted for a long time.
(A) These (B) Those
(C) Thuse (D) That
Ans: D

v»a. Which is the correct sentence?
(A) He insisted on seeing her
(B) He insisted in seeing her
(C) He insisted for seeing her
(D) He insisted to be seeing her
Ans: A
Solve: Insist on =< fem =4 |
. Women are too often- by family
commitments.
(A) Confused (B) Controlled
(C) Contaminated (D) Constrained
Ans: D
Solve: Constrained- % |
5. Meager
(A) Merge
(C) Bright
Ans: B
Solve: Meager— =&pd |
do. Rage
(A) Anger
(C) Style
Ans: A
Solve: Rage - &Y
»3. Flout
(A) Crucial
(C) Diminish
Ans: B
Solve: AMRU — @+ 41, 97! 347 |
5. Impediment

(B) To small
(D) Partial

(B) Heavy
(D) Humid

(B) Disobey
(D) Flatter

(A) Anarchy (B) Distort
(C) Ominous (D) Barrier
Ans: D

Solve: Impediment *=f5 noun TR =g i<t |
»9. Emancipate

(A) Liberate

(C) Coordinate

Ans: A

Solve: Emancipate *mf5 verb a9 o< I

40|

(B) Complex
(D) Emulate

PR ©fE AFrwt : e

58. The word ‘expunge’ me

Ans:

(A) nationalise (B) purge
(C) remove D) inhale
Ans: C

Solve: Expunge *=if5 verb 3@ =i<f 0z &=r |
»¢.Which of the following word can be
used as both masculine and feminine?

(A) actor (B) gander
(C) spinster (D) spouse
Ans: D

Y. Select the right from of verb in the
beacket:you ever (be) to London?
(A) you ever been to London?

(B) Have you been to London?
(C) Heve you had been to London?
Ans: B

(D) Have you been to London?

4. Choose the correct option: After three
months of investigations, the - the
accident was still unclear.

(A) cause of (B) reason of
(C) demand of (D) because of
Ans: A

5. Choose the correct word to fill in the
gap. Tom looks rather ___ . What shall
we do to cheer him up?

(A) depressing (B) depeessed
(C) depressingly (D) depression

Ans: B

®».__ English are industrious.
(A) An (B) the
(C) A (D) None
Ans: B

Yoo.Select the Choice which gives the
correct spelling?
(A) Commemmorate
(B) Comemorite
(C) Commemorate
(D) Commemmoratte
Ans: C

@)wii-kaoo)
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PR ©fE AFrwt : e

=t 37 TR 20d9-03b

o).

oxR.

09,

7.

-+t TGFLIETS $a g 9T ¥ ms 2 | JRIJ7

T APfen [og RA fawar wiees wom @ g
a3 pic T2

(A) 49ms™2 (B) 9.8ms™?
(C) 19.6ms™2 (D) 2.45ms —
Ans:C

Solve: Wl oflR, g, = %anG =g

FEhe Ay, g = gnR (2p)G = 2 X
%anG o g = 2g = 19.6m/s?
HCAMFS @ITT 9 @FRio?

(A) Qkg?! (B) Qm™!
Ans: D

(C) Qcm™? (D) Qm

IS OMANAR IS *THS (@ 0°C oA (0

fagdt T@?
(A) 818°C (B)810°C
(C)819°C (D) 815°C
Ans: D

Solve:  Jolykoly Short Technique:

T, = (n* — 1) x 273 = 1092 K = 819°C

. TT 9T 2R ARG TRAT AN SIS e 2h-
(A) SEEIGE (B) wIZeiRE
C) SIZeIE (D) SIRGAGH
Ans: A
. 3 f@-ARERE 9T TRTOR TaF ML FO?
(A) 3 (B)6
(C)7 (D) 9
Ans: B
. ALY FIAPT 99 o7 @9 AT 93@q
A2
(A) f& (B) St
(C) Ws @™ (D) S
Ans:C
ATHT Tt NS I 56T |
(A) 5 T

(B)e 9 a9 @SN W2l /5
(C) 1 Sg& el
(D) = e qwe PR (@B 7L 1

Ans: A
Solve: “MITLR e AT T FeT #ATSfeTq Te0 o
CC BT |

. ¢ T o IR TS, TR

(A)

(B) =i

(C) ¥

(D) C 999 oW I @A Fo
Ans: C

9. W N fvm 7w, AN ¢ et

AMIZ AFCS A2
(A)OK
(C)273.16 k
Ans: C

Solve: & tqy 7@ sto@r 273.16 k

(B)273°C
(D) 32 k

10. I 2mrd TR @ R AR

(A) ™1 B) womr
(C) = (D) wm=
Ans: C

1. R &f% oo fifF 70E F@ 2wt CO,
T At ke <@
(A) 1fuf (B) 2 fafer
(C) 3 fafer (D) 4ffe
Ans: C

Solve:Tis CO,- «F *roF4l 9 S+ IR
@imeer +ifidiee 27 1 &fS Yoo e, 70w Wa
sfarer o firfer T & fL.for, SRRt
@32 S 7.f Ffcabamee sfiaifze =7

12. T=_taz ADH- 99 33 ¢l & =32

(A) =N ser=er T 7

(B) Ao sjeraimet (@0e am

(C) Y@ TeAm= S A

(D) QR TR (owre! (@0e I
Ans: A

@)\9{{-%»{Q00)

7 €



13.

14.

‘T{E TEIRTOT 6T (I ifaw afEre
(A) Tubife sp.

(B) Musca domestica

(C)Lycosa lenta

(D) Pila ghobasa

Ans: C

Solve:Arthropoda 8 Mollusca #t33 @it
& qeEzTed (7l T IAnnelida s

Chordata #Itds 2INte I TekzTorg Wl
RIE

W fe@sie (@I 37 TS \ITe “iewr e
(A) st (B ) t=ICoTe!
(C)frefam (D) w6

Ans: B

Solve: 23 gwifes A ¢ 7T W I, T,
SIS A AT +4F T ST (@ fadhoret
M |

. e Annelida 89 ewifes st w162
(A)49 (B) 89
(C)98 (D) 102

Ans: C

. qOTEfER- @3 SAIBRATTT @ @Ias F94 [T
TRTC e z3?

(A) e B ) fembreiiza

(C) oy (D) tafbere
Ans: B

Solve: f& BT @R 05 TFRCTIT SR_(FW |
RCSICT L AT 92 2 |

. IR (TS AT % T e @I AR
[AJEE ACA?

(A) =T e (B) =05
(C) e (D) wsifar
Ans: B

Solve: R¥F T& TRIAQARFE! (@ (N (TWI-
iAo @) feete v Pre 1 e sjfEa
T CRIT R |

19.

PR ©fE AFrwt : e

Ans: A

Solve:Rfeg TR0 WAz dfs 7 o™
e @Aifee e AP 7L :

AR o-D0 TTF

freTiz— Yo-90 TF

AITF JFE@> ¢0-¢8 TF

sfF & (M2 88-8% 7T
M FORE oF I

(A) sy

(B) Rcar-=uiae e

(C) wnilhe-tefGgera @e

(D) #ifsafe o8

Ans: C

Solve: wilye- eGP e (AVN) :
a6 T G S eSHIG i Jercace
S4E |

9T TVATST §F I |

«ft SA Node Trolg =WaeE 9429 I |
AT R T[NP A0 |

20. LTI WO (&I T (T T2

21.

(A) FIIHASF SR AF

(B) SN2 mer I
(C) «fce q0e TG My

(D) =<MITe R oiggs &

Ans: A

Solve: XA ¥t WSS AT FC
T Q32 T RS (7T T 7 |

TR JATSAT WY O AFS T2
(A) feacrer (B) wrerN
(C) vl (D) iR
Ans: C

Solve: TR ISR A WFho:
WS- U wigfeq

GIRCTIHE— SR

TR — ASIRI

22 . 57R8 FHACE It I TH?

18. *fawF & o &fS TG T @fke (A) TR (B) <M
TSHOIE TR F©? (C) WG (D) =
(A) eo=T® (B) qowm®
(C) sew= (D) e

@)w{Q-BQQoo) 5 D




Ans: D

Solve:sw i3 2fefb wfiFar ¥ A WFIfeF

TGRS I R | FIFAGCA ST A A |
23 . TR TIZTEBS T Fo0T T (T AT ?

(A) JREEIT (B) =3eIeIN
(C) wifges (D) o=ty <®
Ans: B

Solve:F REIEINCE (FITF AFZA A J2NIGET
CFITC T ST 2feT! I GeI2w ISR @
T |

24. 73 foqme O ¢Fta &raiey w12
(A) 930 RGFS 7@l
(B) Tt33eTI@ Tfen (IR (@17 38 F40© TN
(C) RAN ¢ DNA o< faeg «ffe

PR ©fE AFrwt : e

27 T3 R @ & Aafe w72
(A) Isogamous (B)
Anisogamous
(C) Protononmic (D) Oogamous
28 .T¥ I AEC GIf6 JFIFCGRAN (ACF A
JFERAT (EADT I8 ST ICF It I F
_q?

(A) F-zefle (B) R-zm&fe
(C) Col- am=fe (D) D- #refie
Ans: A

29.7Hf cefRefa?

(A) 399 8 @Y TG (@iiow
(B) TR ¢ e g & (T

(D) SiEHCH e [RBF #® FA0e 27 (C) AR 8 TR RS (1w
Ans: A (D) PRI € F97 w9 (@b
Solve:fsaam— EfEs wifte ¢ ats faw Ans: B
SRS FAFTE T oifde «F 9P TReEFTE Solve: T FeRi «3f SEw-sTewE (Fe-S)
TSI ) SIRAT I | BT | 97 TR TG 2= 0 @ Kol I |
feae— foawme 2@ aepas e RNA 19 1 | 30, 8w 3l 3t efbers wafiEm = ol vt &
forra— oz e @nfo w3k | ffRereT w3 2 o I 72

25.TIIN TR AT IR '8 F(©? (A) 3faw (B) wifers
(A) Poaceae (B) Malvacea (C) wifesta (D) ==
(C) Solanaceae (D) Cruciferae Ans: A

Solve:RTIFPERT G- e cfeferT

Ans: B afe Pl @ iAo TrRad |
Solve:Malvaceae i@ *Miewidr &2 :|31. 25°Cet@x 100cm? g3t 5. 85 AI¥
Teom I S @ e ek | NaCl Fge SR 7167 =it Fo?
AL SR, ;gwm%wﬁﬁwjﬁm (A) 58.5M (B) 585M
ToNCET BifiE @B, T 8
IFIR | TGN S | ,incs) éM (D) 05M

26. o (A S I0HA FA . wx1000  5.85x1000
(A) T (FCIF TRAR oI BOMOM —v = Sesxi0 — M
(B) o o1t 32. 1907 1 = @ftes R qe-esre
(C) e o1 (A) 3HCI+ HNO;
(D) ZaiEfem 1o (B) H3PO, + H;S0,
Ans:A (C) 3HNO3 + H,S0,
Solve: Trfefels wat e ey apraem| (D) 3HNOz +HCI
FEF (IR TR @ SR B W OF SR | ANS:A
e RIRTICI R Gl

@)wii-biQoo) gl 32¢)




33.pH 2 ¢ G0 TR pH 5 @3 739 S @9 I

wifZ?
(A) 3 (B) 10
(C) 100 (D) 1000
Ans:D

34 I SHEAN@AE 930 WeF A& W=y 2=
(A) 0°C (B) 173°C
(C) —=273°C (D) 116°C
Ans:

35. +%w stafaw e fofs ez
(A) cfFweRE 7y (B)  sReis o
(C) wife= ox (D) ZeeTage et
Ans: D
36. [Ag(NH;3), | CIeifbre & w@ea q9e1 wiitz?
A) SfeE
B) &t
C) g ade s
D) wWaf < TGt @3 Aot
Ans: D
37.4s%3doweatr e SrEge [{eer {2 cie
TR (I SRS e
(A) T Sged Gie
(B) TEM aF-9 «3 Sege
(C) T @EmE M 2 A1 3 7o Its
(D) G wahg
Ans: D
Solve:4s?3d°R=rrT [f*2 e Fe, ar @5
qe |
38.NH, CONH, w0t Fi¥@Gicea Afast- 1

PR o =R ; eRE
40.#4F RfATe 39 ARNHRS WUS G

SR TR-1
(A) f- 3= (B) d- 3=
(C) p- &= (D) s- 3=
Ans: B
41, TG JFNATHT SIS (T2
(A) frme= (B) o
(C) e (D) =
Ans: A

Solve: JIEWCF R ©iFe ¢ SR @B 76
@\ A 2 | oS 8 SEEwiEE
G TS A TR TG @, ade [,
8 Jpo [N, | (F@: MGfF grore ¢ wifiea=)

8%, TN AT Ruye @ wit w_fFe-
(A) e (B) &
(C) Wmaresea (D) AR
Ans: D

Solve: IENA FIFIED (W7 SF0HT A B
AR R @7 | FerE ARNaRE Ry
ffiear ifaeifa s2wer @ afF ¢ sRw | «@q
YICT AETR 08 0 ©F T e Iawelfis
OV LA A |

8 *fam IS f[7=1-
(A) 8 o7 (B) 8 ferma
(C) 8 for (D) 0 7towa
Ans: B

Solve: el WIfSCF (NG W FAIT & T
et REE 2i@ite 38 fOrma y5q) SR @
AT AR’ Al afedar @ @R
OIS BT | Aeice &ife q=e b et

(A) 4.67% (B) 46.70% frat fReattd e 1 =3 | .
(C) 4.60% (D) 0.467% SSWWWQWQW@W@?
Ans: B (A) I vl (B) ifet Fereiv
Solve: % of N= MN;mo%XmO: irc]:s? ;mwﬁ?mmﬁﬂ (D) fore Tgaw=
46.7% 8¢. IS AT (I DG SN
39.N=3, I=1 T 36 ARG AT A2 TOCH o AT ST T (oITaTR?
(A) 8 (B) 18 (A) IR gefe &F4r (B) o oot
(C) 6 (D) 32 (C) z=am@ (D) @FC 2 e
Ans: C Ans: B
@wu-waow 7 D




8Y,

84.

8b.

85.

Solve:UNESCO taifys Iienmee <¥gs
@ AFfor afoy sf6-ale e (00v),
T BT I &S (059), T rerEr
(205%) @32 Aeet AIfba F “afs (2059)

fRows Teit <=1 =7 fees @i “=ae

(A) ez (B) @™

(C) =& (D) tifes

Ans: A

Solve:ZTo ¢ 35 TAIT (e SfFe FNosTs
G WFH SCAREE AQToR ST BT &
e’ orFd | arer wifergas we W
Jifitens ety I &F 8 TR |

ST @ GI3F (@I (N FCS! a4 aifde
TrfReT?

(A) So ™ @3d (B) T ETET
(C) ST BT (D) > s
Ans: A

Solve: f&yrae 7= & “AfwEmE Ffqaed =
QA S5 ¢T59 ¢ w8l T (1B Row w4t
T | G W TPV (A 8 G SAFARN
(5B @ BIeT) WeeeT fe oifde So T2 GTaea
e @ar o137 TR oot = |

AT FICHTH LFCTST AT (I

(A) = (B) T

(C) et (D) efgher

Ans: D

Solve: a3 Thw Sesifezar srren ftesarw
JCee PR ARE @eF | @b Freit @@ M
QAT AT @ JeoPIoTe AAfee TR |
g TAE IS0 S@ARET TATAT T G,
B, el 8 QIR |

TSI e @ TN @RI e
Tofq fea P of =e=-

(A) T Tqyeaal

(B ) FIOITS T

(C) T&If® @

(D) wIREifss sifat @

Ans: B
Solve:FICHI @A T2 TN ST I T |
CSPfTFei e TG a2 @I Aretmer

¢o.

@>.

@R,

@9

@8.

PR ©fE AFrwt : e

e, Ry, Medl, AeifS, Twes, o,
o, I, ATERE ¢ e (wwEw Toaw
e SfowT IR |

JEACR T Fo9 e z0=?

(A) 17 (B) 14
(C) 16 (D) 15
Ans: A

Solve: IETACTT ALIYITT ALHT S9©T
FALLATLAT 2T T b TR 05 | T TN
T et sl ATma AEFe [ AP
(W Se ¢ I Jia A |

=9 @i BIMSTEC @3 w12

(A) e (B) #nfese
(C) si© (D) <3S
Ans: B

Solve:Bay of Bengal Initiative for Multi-
Sectoral Technical Economic Co-operation
(BIMSTEC)- ¥ afsorifer 5w vt feet eff |
T~ AFTCT!, ©S, Rl NS 8 HRIAA |
FITSITE 00 A (AT 8 WW’-Z@W
FEN 3Ty AL afb |

AR 2T AFAS 2

(A) @25 G FRPEEIA

(B) owewH STm

(C) g oM e 7ol

(D) W Toiee SHEN

Ans: B

Solve:so G2 s TN AfFe AT 22T
SFAT I A Yoo FAFIEE AGATS e
AT <1 Yo A 4 /o181
TR (7w Ter<Pe] SITEIN | SISTemie SZAW (RCeTe
JIETIACHT 2 efqiaa |

. TRGITACES e i e

(A) R
(C) vmae
Ans: B
Solve: R A A 8 Fgaifet 7
QAT A e SgAeR AT GG | &bl g
TG T JRGH TETT, AT, T '8
ferer@ cewetia S iAo |

NAFTA &3 W R F?

(A) ¢ (B) v

(C) © (D) 8

(B) 7&7d
(D) frezarr

@)w{{-bQQoo)

T,

7 €



ee.

€A.

Ans: C

Solve:North American Free Trade
Agreement (NAFTA) pfe =rsfe o oft
20T IS, P € @A |

JREAIAC SR VTSI =T~

(A) 59 AT (B) 5 AT
(C) 590t (D) %98 3t
Ans: D

Solve: HT JFTACR 2T WA SfTe
Y 538 AT IR TN G @ RoAT
SP® T 033 I | HRFE! aF G
PRI TS T(T 2093 AN |

. AT T AT T FICBAIRGT T Fh?

(A) & e
(C) I3 v
Ans: B

Solve: TR LT AT ARG JIE
A TS @Y T T 8 A w0dAQ |
R * 17 BT, Sl FifE ¢ RO 330
RIS |

e @R IR Sog Ty A [ @
MR Aoy fife =xe

(A) Permanent Court of Justice

(B) International Tribunal for the Laof the Sea
(C) International Court of Justice

(D) Permanent Court of Arbitration

Ans: B

Solve: International Tribunal for the Law

of the Sea(ITLOS) wrfifag zmsifefes g
e e Seeifes G2 | e «3
SIS QO -ReTIeas Xeey Ty M
AR (AT 58 B 05R |

(B) < wc=ar
(D) TS

@Y. JIETHH IS S 2Afrer s [feg o1y
it -
(A) SiF® Q= (B) B9 @&
(C) @I« (AF (D) FrEsF @
Ans: B

Solve:IET= BIFIF SICE A (@ srsmifey
FCI DI (AP I A @ RAE Jq1 S

e€>.

PR ©fE AFrwt : e

I IS (AT | OCF G AT
RS Afey et AR B ¢ SiTes A |

Q03 AT et fRatst s 2-
(A) T’ (B) Free
(C)=reR (D) ffq
Ans: C

Solve:2032 M fF KeFITaw 23o7 9P e

Yo,

L),

.

Y-S | 203 I 0T P DS ZJ
T&4lg, Il € @RS |

TR TRt A (8 WiR ) @7 el
O TR JR-

(A) ¢ (B) ©

(C) R (D) 8

Ans: B

Solve:Organization of Islamic Co-
Operation (OIC) &fsf® & ¢ ETHTS Spub |
767 efereae 7w et :¢fb | IS oty
@ ¢ afS | TR weR (o, i SR | Sifwlme
o oft | T2T- SRfR, 3Efe 8 e |

T3 IAG eae

(A) o (B) b
(C) (D) =ffoa
Ans: A

Solve: I TeFel : Toly, Toid, Ffog, Wiy,
AR, ST, SIAEW, BreTNTey, ST, SerEr,
AR, A, TR, TG, S, AL,
aFey, e, e, v, gz |
T I eT?

(A) T (I foF o9 Grie I «r

(B) ) 2 O S Srorifrozes

(C) = woifeies e

(D) TSINE *REFTeTSIT ST I2h

Ans: B

Solve: < sfaFaa:

O IR ¥ Iy

TN T TR | | S wemifee 2ty |
o I ZCACE | o1 IS 2R |
3T ARHF 2 | 3T ARHTFS! A2 |

@)w{{-bQQoo)

7 €D



VO, T I AR 1 FLF & P18 @ TN e’
& fercatee?
(A) PR g @ (B) Joe Sond

PR ©fE AFrwt : e

Ans: C
Solve:w7g=ef ATAT : *[ty *o7e (1 W= ot
=ger), = eIt (7:9T), e gfE (wfesrs
vf2), *ees Hf e (PNEE %), WFR-FE
(ST ), X0 TS (TOT HewB)

wbr. Corrigendum =g =i Fr?

(C) WuARoFT (D) TOF JCRAGR

Ans: D

Solve: 7R /I, THRMST @ FAFIA -

Rig} anfrer

G AT A0S QISR RG]

TS 139, (d LA (T

T

Ao ST (... T~ TR
V8. ‘TRIR ML ARCRA (P62

(A) I®R+3R (B) w®3+9R

(C) =+ (D) %3 +9T

Ans: D

Solve: I [oerg oot A Swrgae -

s + Sife = ©l% + 9 = ©O[FT

e

TS 4 Pl = S | oIR8 + 9 = @R
L, TET I AR @52

(A) = (B) ¢

(C) JwR (D) sy

Ans: B

Solve: Tew’- @I TLF * : Fifrrey, =K, 7K,
sAfet, oree, o, Mase, o, S |

LY, TR TR Ty TR | 9T 9T AT B
TA?

(A) <faog (B) ===y

(C) Zrreree (D) SgEH-@

Ans: A

Solve:swg #AfTomr :

ot == | sifverr | Rmt == | sfvemE

Coldwar | #§@@ | Catalogue | JR®
Siferet

Concession | <€ | Copyright | tTaeg

Us, ‘e’ *twg Al @Ai?

(A) °m+ «fs (B) #k+4fs

(C) *=+mfe (D) “m+3f®

Ans: D

Solve:s 1 7 €T 28 T AFCET Fad et & 27 |

@

T + 7@ = Tqo Te + 79 = Tm

T + 7O = THo o + f2® = sfare

W+ 2o =om@fe | T+ = = Taaet

o, ‘TGI@I’ THIF HANTHA THIRCA?

(A) oF o=FT (B) 8 weoFw

(C) er==oza (D) aft o=o=w

Ans: B

Solve: 37 vgdl [ef& (=, &, e Teni)
CTITA (AN 2, ©ICF SRR ORAFT AN 0T |
AT ST (P OfG = WFO(G, TR &) (U =
NPT |

Q). ‘ORI TEIN?

(A) wEgas (B) —@g®e
(C) wEgere (D) ST
Ans: B

Solve:Ffe?1T aFFAT T : T TS &F T4
I A = G A WA I AR A = Sy Al B
T 4 AW = FBIfere; Ay wfere =

(A) &g orgat

(B) Rw=e St

(C) twifgees JgemE (D) AT AW

Ans: B

Solve: TN 8 &F© I :

AT T I (AT = W, T [ I (T = QAT oFe AN | =waEw S okl
T | FEAFE | T ] | TG DM | 93 I
va, ‘P TS’ IrvrgEE ol e TRRE | e ok BIRIEC]
(A) SR 5T (B) IR et SR AT
(C) w7y fsm (D) S
@wag-quos 7 D




qR. IS’ o AR @

(A) 3=+ “fs (B) 3T+ fs
(C) I+ 4f® (D) 3T+ =fS
Ans: B

Solve: 3 + if = IT=Ife’ (e fora %) |
FOGTET Al (FICAT N SPACH T T, AT
fAeitets fra At qceT | @«

o + 5 = o T+ W = T
T + T = W W + v = Q@e
IO + Gl = Y = F9 = OFq
Toefer
Q0. ‘TS LT A AT =L 2

(A) TaCs ™ (B) wwifvzar
(C) wF (D) =g et
Ans:

Solve: TS 0¥ I IALRAIMHT = = ST Sp1or
T4 | @ AR : ZTS TR N (e
(Tt 78 F¥41), =IfeF W7 o7 (ITF IR ATt
3Y), QTS (I I, fere [efdre (T6r
o), QIS % AT (TGRS F40) |

8. ‘TFOGFS” IR oL Fi?

(A) =& (B) wowid
(C) =fzelf (D) #r&E_
Ans: C

Solve: g7 A4 : T ANSAT (oITet
A1), FEH e (et 0T A1t et
@A (FF (qeq), I @8 (75 TfF),
Fferd 7= (2 I g J@sirea) |

9¢. IAITA ST Q& (& Frrdrae?
(A) T (B) T e =0
(C) T el (D) oy fes
Ans: D
Solve: 75T (4 (e IR “STAS
GG AT SHR0 (ATF S AT HS
(NI 7F (AF AT To2RIR) TR
e A= |

Q. TS’ = AfH{IC=A @62

(A) =+ (B) =9I+ e
(C) Far+3¥e (D) o+
Ans: C

Solve:T-FF I A-FIFT 2T A© 377 d-FF

PR ©fE AFrwt : e

e STy e ‘oI =W W3k ©f @ () WA
AT 0T M T& 2T | (A

T + 4 = TS oHl + ¥ = pe

TS + S = (H[FTS T + S + TS

734 + AT = 73S TGIASATAT + 3 = forsIpTTe

e + 4 = Aol Tl + 4 = @US
99, ‘G *TH ANLE -
(A) st (B) widm
(C) ==t (D) et
Ans: B
-, ferarsions o1 e 36 =02
(A) fefe (B) ==
(C) 4«9 (D) Tomef
Ans: C
9. AR TR a3t Sopref T S == @i
(A) g (B) wreifed
(C) e (D) wIR=<
Ans: C
vo. Rt Borref foc aifde *1% @b
(A) &R (B) f=m
(C) fwm= (D) fw=
Ans: A
Solve: T[T o+ ¢ eifas g7 :
Soporef wdrTese! AAECE]
fag o1t e T, fersrc, fasrg |
™ % g TRIEIS, qe&Te, U |
W T o W, oo, (AT |

3. The passive form of ‘Don’t do It’is-
(A) Letitnot be done
(B) Letnotitbe done
(C) Letitbedone
(D) Letitbe notdone
Ans: A
Solve: Imperative sentence &% passive
19 fz: Let + object + be + V5 1 Negative
sentence ¥ ¢F@ object €< 2t not ICT |
R. Choose the correct spelling?
(A) etiquette (B) ettiquettee
(C) etiquete (D) ettiquete
Ans: A
Solve: Etiquette *f5 noun 9 wi< fHBHF |
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9. In the sentence ‘Cycling is certainly
healthier than driving’ The word
‘certainly is a/an - .

(A) verb (B) adverb
(C) preposition (D) adjective
Ans: B

8. Cricket enjoys a huge- in Bangladesh.

(A) Follow on (B) Fall out
(C) Follow (D) Following
Ans: D

Solve: Following @& Cricket taSima
(R =T |

re¢. Which of the following words can be
used as a verb?

(A) Mister (B) Master
(C) Mistress (D) Mastery
Ans: B

. —amazing song haunted for a long time.
(A) These (B) Those
(C) Thuse (D) That
Ans: D

4. Which is the correct sentence?
(A) He insisted on seeing her
(B) He insisted in seeing her
(C) He insisted for seeing her
(D) He insisted to be seeing her
Ans: A
Solve: Insist on &< f&m &4t |

. Women are too often— by family
commitments.
(A) Confused (B) Controlled
(C) Contaminated (D) Constrained
Ans: D
Solve: Constrained- s |

5. Meager
(A) Merge (B) To small
(C) Bright (D) Partial
Ans: B

Solve: Meager— =&pd |

PR ©fE AFrwt : e

do. Rage

(A) Anger

(C) Style

Ans: A

Solve: Rage - &Y
5>. Flout

(A) Crucial

(C) Diminish

Ans: B

Solve: AMRU — fwest 41, SIqee! <41 |
5. Impediment

(B)
(D)

Heavy
Humid

(B)
(D)

Disobey
Flatter

(A) Anarchy (B) Distort
(C) Ominous (D) Barrier
Ans: D

Solve: Impediment *®f5 noun TF =< 4 |
»9. Emancipate

(A) Liberate

(C) Coordinate

Ans: A

Solve: Emancipate *f5 verb 39 oi¢ y&
BN
58. The word ‘expunge’ me

(B) Complex
(D) Emulate

Ans:

(A) nationalise (B) purge
(C) remove D) inhale
Ans: C

Solve: Expunge =t verb 3@ si<f 0z &=r |
»¢.Which of the following word can be
used as both masculine and feminine?

(A) actor (B) gander
(C) spinster (D) spouse
Ans: D

v, Select the right from of verb in the
beacket:you ever (be) to London?
(A) you ever been to London?

(B) Have you been to London?
(C) Heve you had been to London?
(D) Have you been to London?

Ans: B

@)wii-kaoo)
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4. Choose the correct option: After three |&5.__ English are industrious.
months of investigations, the - the (A) An (B) the
accident was still unclear. (C) A (D) None
(A) cause of (B) reason of Ans: B
(C) demand of (D) because of Soo.Select the Choice which gives the
Ans: A correct spelling?
5. Choose the correct word to fill in the (A) Commemmorate
gap. Tom looks rather ___. What shall (B) Comemorite
we do to cheer him up? (C) Commemorate
(A) depressing (B) depeessed (D) Commemmoratte
(C) depressingly (D) depression
Ans: B Ans: C
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»R. He has a taste - reading.

@ for @ of

& with ® at ©:®)
vo. There is—— milk in the bottle.

@ very few @ a little

@ very little @ small @
»¥8. Slow and steady — the race.

@ win @ wins

@ won @ has won @
v¢. This is the house — | want to buy.

@ this @ whom

@ which @ those @
v»v. The eminine form of the word "Author’

is:
@ Authors @ Authorss
@ Authoress @ Authores @

4. Which one is the correct word?
@ Spelling @ Spalling
@ Sleping ®@Slepping

The most correct translation of the
sentence "SI &« SIAAT I WS’ iS:

@ Make place for him

@ Manage place for him

@ Make room for him

® Make accommodation for him  S&)
'He is rich but honest’ -which is the
complex form of this compound
sentence?

@ Although he is rich, he is honest.

@ espite being rich he is honest.

@ In spite of honesty he is rich.

® His accumulation of riches did not afect
his honesty.

SOS Stands for-
@ Sound of Sea
@ Son of Samson
@ Sunrays of Sunset @

Question (91-92): Which one is the closest

bb.

b .

Do,
& Save Our Soul

in  meaning to the word/phrases
underlined.
5. | used to travel frequently.
@ Seldom @ regularly
@ often @ lightly

PR ©fE AFrwt : e

5. He blew out the match.
@ caught up @ passed
@ picked ® extinguished

»9. 'May you be happy in life’-what kind of
sentence?
@ Imprerative @ Optative
@ Assertive @ Exclamatory @

1 SRR T sentence @R Zw=l, e, Swes T
@RITT el Optative Sentence T |
8. The boy said, " | shall go to school

tomorrow’, Change this into
indirect speech.
@ The boy said that he

shall go to the school the next day.

@  The boy said that he should go to school
the next day.
The boy said that he
will go to school tomorrow.

®  The boy said that he Would go to school

the next day.
M Ol Narration- @ ﬁ’l‘-ﬂﬂﬂ‘l@ Shall/will
*fqafee zm Would =@ 9 Tomorrow
sfsafee 2@ the next day =77 |
'l have a few riend's -Which one is the
corect negative form of this sentence?
@ | can't get any friend.
@ | have not many friends.
@ | hae many friends.
® | have a lot of friends.
7 SR ‘A few' og 1ears v e | ©1% a few @@

¢,

“fZ&CS not many 6T |
»b. Choose the correctly spelled word.
@ Nomini @ Nominee
@ Nominy ®@ Nomeeni @
M SR Nominee T @ =n Fy/wefTe
& |
®a. Which of the following statement is
correct?
@ The patient died before the doctor had
come.

@ The patient died before the doctor come.
@ The patient died after the doctor had
come.

@)\9{{-%»{Q00)
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® The patient died after the doctor come.

M SR wrerewi gft S @98 I T 2
2N @ FE FHIwe =W @6 Past perfect
Tense ¥ 77 @ e’ F=iifne g7 GG Past
Indefinite Tense =1 Past Perfect &g
gt before-«3 =est @ after- @3 It 07 |

st. Choose the correctly spelled word.

@ Radious & Redious
@ Radius @ Redius @
5. PBM &2

@ Performance Based Measurement

PR ©fE AFrwt : e

@ Performance Based Mark
@ Program Based Management @
soo. DSHE f&?
@ Department of Secondary and Higher
Education
@ Director of Secondaryy and Higher
Education
@ Directorate of Secondary and Higher Education
® Direct Secondary and Higher Education
M gy DSHE-as &<~ Directorate of
Secondary and Higher Education.

® Performance Based management
feram 39 7k Atk ¥ ResHZw of$ 43 20du-34

5. BSTI- «qofmiJte

@Bangladesh standard and Testing institute
®@Bangladesh Standard and Testing Intelligence
@Bangladesh Standing and Teting Item
®Bangdesh Standard and Testing Institute
Mt T TR g TEaeEE S
gt efsvm e (BSTI) afsfre =@
Sobe A | AFT o7 I CRF @Fe T €
sAfaanrer fafseaa e 8 weefes difarer
RSl 3 | Uit e *7@ 7 sefers Ffer

JCACE |
2. SRR St o (FIAbR A TR 2
@ GDP @GNP
®DC ®NNI ©:9)
MRt @F SRR (€@ (AT A30E TP
e T T Tedifre Aay ¢ o B
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RE.

VY,
2.

QY.

Give one word ‘Science of the structure
of animal bodies’.

@Biology @Psychology
@Physiology ®Anatomy
=it SRTates 218w @S e anatomy
T |

Synonym of ‘gaily’ is-

®@sadly ®happily

@eagerly @quickly
‘Indigenous’ means-

®@Foreign @Native

@Local @Remote @

Mt Indigenous == adjective Tw =&
Forere, oeiw  (internal, home-bread,

native, etc) |

In spite of my requests, he did not___.
@give in fall in

@get off ®give forth @

M=t ‘Give in’ phrasal verb B3 &< qre
(SN, G F4T |
One should be careful about duty.

®his ®her

@one’s ®the W
Three-fourths of the work____ finished.
®@have been ®had

®has been ®@were : @)

Murat:  Fraction 3 Sgiee® #tdd noun
pronoun SRR verb & | @3 7 I singular
noun 31 pronoun ATF ©IxeeT verb plural 26 |
N.B. stands for____

@Note before @No bar

@Non bearning ®@Nota bene
M=or<t: Nota Bene (N.B.) @fG Latin word
7 =i feew g8y (mark well, take notic) |
Botany is plants as zoology isto___

®@Flowers @Rivers
@Mountains ®@Animals
Credit Tk.5000__ my account.

®@in @with

@against @to
‘To do away with’ means-.

®to repeat @to start

@go get rid of @to drive off @

W.

vo.

).

°x.

09,

08,

O¢.
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Mat5t: “To do away with’ @36 phrasal
verb IF 9 @ T, @ F4 |

The word ‘Lunar’ is related to-
@Moon @Sun
@Earth ®@Mars @

Msrt: Lunar 7@ oi¢ 5/ A SHRES |
seare lunar *f5 noon « AT TIF |
‘Maiden speech’ means-

®a speech by a woman ®the main speech
@the first speech  ®the last speech @
MI<st5t: ‘Madien speech’ = @36 phrase,
T wg-emy el (first speech)

The girl was reclining - the couch.
@on @by

@in ®@to

Choose the correct sentences-

®@If he works hard, he succeeds
@If he works hard, he will succeed
@If he would work hard, he succeeded
®@If he worked hard, he succeeded

[M=m: First conditional @3 =13+ If clause &
present indefinite @3k main clause & future
indefinite tense =T |

He went to bed after learning.

®@he will learn his lesson

®@he would learn his lessons

@he learns his lesson

®@he had learnt his lessons
Mot sTiRe after @3 otdw Wi past
indefinite tense @3r #itaw W past parfect
tense 2T |

‘A bolt from the blue’ means-

@An unexpected reward

@ An unexpected calamity

@An unexpected blue colour

®An expected person of blue wear @
[=5145t: ¢ A bolt from the blue’ phrase 57 i<
=1 e qgete (an unexpected calamity) |
The antonym of the word ‘Benign’ is-
®Tenfold @Peaceful
@Blesed ®Malignant

@)\9{{-%»{Q00)
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80,
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Msrast: Benign =G adjective I wi¢f wfewa
q Rormae 99 @9 @7 REEe ww zeE
malignant I7 =< TG, FoFE |

‘it foasin Tt TafeeT - @3 va TeAfen

®@He was dishonoured

@He was brought to brim

@he was brought to book

®@He was punished @
M=5rat: ‘Bring to book’ @3fG phrase T =i
[SEEIEEIN

We helped him- the work.
®@to finish @see out
@to and for @to the quick @

he fought- to defect the enemy.

®tooth and nail @see out

@to and for ®to the quick g
M=1t: “Tooth and nail’ 2= @%fG phrase T

wg-  Ffoeid, e (tried  hard,
completly)
[SIUACAIN e‘iﬁzma@?
iy v
& e
: @ v:9)
=t E = 0.4
@ = o.uy @ =093 >2
¢o 3 V)
®§ =0 @5—: = 0.8V
1x.01x.001 _ ?
.2><.102><.002 - .
o o
8000 ®§

0.1x0.01x0.001 1x1x1 1
E1=pte: = =

1 0.2x0.02x0.002 _ 2x2x2 8

3¢ TATF @& 9T 4T et TG ?
@sfs Qufe
Dafs @5 ©: @)

MR 3¢ (ATF ¢ O 047 (WifeTs 7T =0
3, 93, 09, 85, 89, 89, ¢ IR qfb |

153 5
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¢ i

D3 93 ©:0)

89,

88.

8¢.

8V,

84.

8b.

PR ©fE AFrwt : e

1,5,3,5 12+20+18+10 0
[y SR A TRV
4 4 4 2 4

5

8

T SR - S L 6 TP 0T 1T 24
@2

@54 @44
36 @38 ©: D)
MI=aret: e 9, 72 = X
emr,§+6=24=>§=18 ~x =36
72 @fire opf stera Iofa wew 8 q 70 et 1S
‘{@n‘_

@10 8 38 CIRPICINNY

D33 € 0 @38 @ 3¢ ©:9)
Msrit: Option zrs, tfa w@d = (28)° —
(20)*

= ¢qY — @3 = 89

TG TR ¢TFT S@ov | AN TR/ AR Sy
A A TS 2

@38 @wx
Dsv @53 a)
=gt or 5T = % =3

V25 TR SPATS @ : b | e 72 BT AR L @Y
A LA R = © TF | A 2 T2
@a 8 @52 8 3
@0 8 38 @30 € »y
M=t S0 <19, 3201 96 ¢F 8 b |
TS, GF +:bF +3=2:9

T+ _ R

S T
A, NNF + 8 =3¢F + Y

T, ST — T =Y —8

ST =R
T (€ X Q) 8 (b X ) =30 € Y
1 2136 T F© 3 EFBRGR?
©0.0929 @7.32
©6.45 ©64.50 ©: D)
log, 5 =2
®3 o
1
D3 ®; 59

1
BARImT: log; V5 = log, 57 = zlogs 5 =
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@S,

eR.

X X
x-5 + x+2 2 » X =

@2 @

10 20

o5 93
x(x+2)+x(x—5)_2
x=5x+2) B

= x% 4+ 2x+ x% — 5x

= 2(x? + 2x — 5x — 10)
= 2x% —3x = 2x%> —6x— 20
= 2x% —3x — 2x% + 6x = =20

= 3x = —20
__20
px=-2
1° 3 F© @R
180
@E @T[
D @21 @
a—-=37at+5=?
a a
@109 @119
@129 @116 G 9)
2
BRI (a—2) = (3)°
1 1
=a’—2.a-+—==09
a a

1
=a’+—5=9+2=11
a
1 1
:>a4+2.a2.a—2+a—4= 121 (?SfW)

1
cat+—=121-2=119

a
X+y=128x—y = 2 JEA Xy @I I[F F©
?
@25 @30
@35 @45

2 N2

ey = (5) - (7)

_(12\% 2? i
=-(3) -0

= (6)" — (1)’
=36—-—1=35

@8.

ce.

eA.

PR ©fE AFrwt : e

b:c=(:6)x7=35:42
~a:b:c=20:35:42
> e ooy © TBRfF#2 I T 8T % «©,

PO F b X0 WA TE TS ?
@ v @q
Dy @5 ©: Q)
3= 2 e e e
y+1 y—2
@- @—10
@! ®10 59

3 _ 4

y+1 -2
=24y +4=3y — 6
=>4y —-3y=—-6-4

y= -10
2x+4_4‘>(2x+1
2x+2;2 =
@4 @2
D6 @8 ©:9)
x+4 x+1
M 222 ZX;ZZZ
2X.2% —4 x 2x.21  2%(16 —8)
= 2X—2—1 = 2x+1
2¥*%x 8 8
C2xx21 2

i fagrem foqt I2te Iffe Fa0 Booiy IR:7
et feaog e F© 7| ?
@180° &270°
360° ®540° ©: D)

M=o s ife, 2A + 2B + 2C = 180°
IR, IRZ @ sx =
ZA+ 2B

v Ly = LB+
£C
VY zz =LA+
£C
A & VAL P/
= 2(¢<A+ 4B
+ 20)

=2 x180° = 360°

@. a:b=4:7aRb:c=5:6=a:b:c|er. 3T e T wP© 3 : 2 -, 3@ R_oA
El- CFAT APATS TS J(?
@4:7:6 @20:35:30 @2:3 @9:4
24 :42: 30 ®20:35: 42 D4:9 ®6: 4 5:Q
Mt a: b= (4: 7)x 5=20: 35
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Disease) w72 &7 |
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TAGT IO | AT @ (WE S0 @I |
QU (P G Afese W' ©f &b 78]
JACR |

‘Chancellor’ @3 «f¥eRy @62

@< Q@TADIE

QoL @raT

OGP AR NS FeZR A1 52

Qfpw eI @AY AW
Ofirr wfimes @I GFICERT
TR IR To TR @ FTACIT TGS ?

@ fcag ¥ QEERE]

@R O Frgfaewr ©: D)
T (@ SEE *=?

@R Qfefn

DS @il ©: D)
“SifoT *wa g fee

@@= @ve

Ofay @ ©: D)
@ g @y i

Ofirm g ® comTVEIR
@ @A e @t efeas I =12
@=F-]fe, Terge Qe 54, U

@v, oW, BT, es  @wg, WeT, ¥4, fewr
5 @ Fe (I OO g AfsieT snear
qr?

@fBifsT ‘@’
@i 7

QfeBIfe ‘T
O feBife ‘e’

100 m o= @36 T (ATF SfegeTa AT AfS
G 100kg =1 @oiet =7 | 3 2femoa =t
42% w8 T, O U THHI(S| 67

@37.75H.P @27.36 H.P

©39.73 H.p ®47.73HP S
0.4 m A=W It @R F© SrN@y @ AeR
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®60-70 mm ®70-90 mm
[=st=a:
ATF qZ WA Fevifers siol— 3d0-380
mmHg

RTF qF VAT SRIGHIRRE 51— Yo-do
mmHg

AT I e iSre ffawpietes feaifor 2 FiffRe (Itt ©fS =1t 205u-34

S,

®11.2 ms? @11.2 mh™"

®11.2 kms ™! ®11.2kmh' g
vo. IZ &Ale INF NIA TGS b7 T ARVRIET

A2

@®100-140 mm @150-200 mm

I am looking forward — you.

@ to seeing @ seeing

@ to see @ to have seen @

9,

M Sl Look forward to-«3 == verb @
At ing & 2T |

‘Blockbuster’ means.

@ a large solid piece of stone

@ a device to cut off of a person's head as
a punishment.

@ something
difficult

® a book or film that is very successful,
especially because its exciting.

M G 'Blockbuster' *mifba ¢ wiceeT
I | T (FICAT T2 A DG WS 2
R Tedl AT Sreee I T, O O
‘Blockbuster' 7t |

A person who has come to live
permanently in country from his own is
called —

@ an immigrant @ an emigrant

@ a foreigner ® atraveler @
M S Immigrant @ e e SfeaE |
SfSIPT FT = |

"How do you do' is —

@ an inquiry about somebody health

@ merely a formal greeting

@ a formal question when one meets one's
friend

® use to know the profession of a person

that makes movement

M g 'How do you do' &5 i€ of e
gy GF T AT I B O T A |
'How do you do’ 59z =7 |

¢.

S0,

The addreviation GRE stands for —
@ General Reading English

@ Graduation Reading Examination
@ Grade Reading Examination

® Graduate Record Examination

M ZNE CRE =

Graduate Record

Examination.
The Good Earth deals with —

@ lrish life @ English life
@ Chinese life ® Japanese life

[ S The Good Earth =Tt Pearl, S Buck
Ffo® AT AT | Bt qFew AT Gk
I few 7o @ TorymiG @RI Svob T
IR 2T O TR |
Which one of these sentences is a
compound sentence?
@ Owing to weakness | can not walk
@ As | am weak | can not walk
@ | am weak but I can walk
@ | am too weak to walk ©: D)
M Skl Compound sentence-« and, but,
or, yet, so 5w 7= ¥fG I I AT |
A synonym of ‘resentment’s is —
@ fear @ indignation
@ panic ® anger
M MR 'Resentment- ¢3 @ fafe | aa
swE =% indignation (SPMIBRCER  FECeT
CFIS/t&FY) |
Which type of noun is kindness?

@ proper & common

@ abstract @ material @
The king left — heir.

@ the @a

@ an ® two @

@)\9{{-%»{Q00)
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29,

o8.

€.

o,

sA.

M Qs H @3 Swer 3 'H' @3 xeet =1 =0
T LI S -9F ACST THIFTS T, SR
H & *=f57 =iest article a = 7 an I67 |
His wife reminded him —

@ of his appointment

@ to go his appointment

@ to his appointment

® his a appointment @
M En Remind somebody of something
FICE @I g el SR @R F@ J37©
EX

Change the verb ‘lose" into noun.

@ lost @ loose

@ loss @ losing ©: @)
It's impolite to break — when someone
else is talking.

@ in @ on

® into ® off G: 9|
M SaE Break in- @3 =g s 972 41/ (@
T G 40, break into ¢ (st o F4r
@32 break off =gt A=I/ceiTsr AT | MR (ST
T YA FA9 CF@ break in 997e =

What do we call a man who controls a
game of football?

@ Captain @ Coach

@ Goalkeeper ® Referee
Choose the correct spelling.

@ etiquet @ ettiquettee

@ etiquette ® etiqutte
M S Etiquette =z Correct spelling
¢ T ABae/EmeT |

What is meteorology?

@ to measure with a meter

@ the scientific study of weather and
climate

@ branch or geography dealing with ocean

® the scientific study of a mountain

M il Meteorology *f53 widf sI=reat
TR NEE e | i [w@ew @ e
TRRGA TR W Sl FCE, St
Meteorology =T =7 |

The customer gets what he pays —

@ off @ at

@ for ® form

ob.

.

0.

D,

QR

.

PR ©fE AFrwt : e

71 SR AT e @ 1y Grd TS pay's
for a7zs =7 |
When a writer writes the story of his own
itis called —
@ an autobiography @ a biography
@ a diar ® a chronology
M SR T4 AT (T4 O ey G FifEar
1 feycers (pesT ST e et e Tede o ol

Autobiography =1 Ser&ia <o =0 | SRS
The antonym of the word 'benigh’ is —
@ tenfold @ peaceful

@ blessed @ malighant

M Sy Benign =mfos o wg W@, 2w
(TeCeE, WAl | Srafde  option TR WeHy
tenfold =< meeer, peaceful =i fem, blessed-
wiffeme® @3 malignant =wfssq/ wfs
SoFIE | feR. Benign *wifoa et =
Malignant |

The "Protagonist’ means —

@ the villain in a play

@ The central figure of a drama

@ the clown in a play

® the stage director of a play @
M QR 'Protagonist’ e TR @i
HRACE MO I | AFeTS 92, oS AT HALEd
2YI bfR@ I SfetTeic 'Protagonist’ 31 =3 |
'‘Out and out' means —

@ not at all @ man of outside

@ to be last ® thoroughly
I SIas 'Out and out' =i sTsyefReet | eIt
ewa not at all =< =eat =11, to be last- w<e<w
g thoroughly- s[arf/sm=sefmee |

No sooner had | reached the station —
the train left.

@ then @ while

@ than @ when @
4 Sias No sooner had + subject + verb a=
past participle + object + than + second
sentence 6 |

‘Justice delayed is justice denied" was

stated by —
@ Disraeli @ Emerson
@ Gladstone ® Shakespeare 5@

@)\9{{-%»{Q00)
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38. 'All the perfumes of Arabia will not sweeten | ©q. =% 9B @M (F{0?
this little hand' is a quotation from — @ Tt T =13 @ 4t 135
@ Hamlet @ Othello @ wcerar @ wEF e e
@ King Lear ® Macbeth
x¢. The relationship — poverty and|ey, sEEEIRPRT @FET @ W DS T2
resourcc_as'is a political, as well as an ® RS @ B2
economic issue. e
® of ® among 5 géw o mww@wmmww@
@ with @ between o R o
Q. TG N @I Tweae SARMELLER D T IR
& i 2o © waE 80. TFMMD WITCATS IV Sfew?
29, T B S SR GRITY sfhewt T Sl D
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@ CH,COOH and CH,COONa
® CaCl and K,CO,
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@ CH,=CH,  ® Citric acid @
IR 0T 7 @S Toifger

@ Ethanoic acid & Lacic acid
@ Tartaric acid ® Toluene

TSI 711 Teoiy a1 =W e @i @i
AF?
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@Tartaricacid ~ ®Toluene @

100mL 0.01M Na,CO, g3z exfie waF
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foete
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R,

YO,

u8,

(e

LY,

L9,

@ % ® 9%

0B AT @I AT G356 T #11© Fea?
@ 2000 @ 200

@ sous @ Sonbr ©:®)

UNO (=ifeoee) @3 sma 1e7 @we

® fee @

& el @ Arifzer ©:®)
s @t Gy ety w2

@ T @ (oG

D agfos o= @ A
ST (I TG fRre Femivet fcaifere:
@ UNESCO & WHO

® FAO ® UNICEF
‘Lingua Franca' means-

@ French

@ Latin

@ A mixed language

® Translated version

The antonym of '"Repulse’ is-

@ Reside @ Emphasize
@ Impulse ® Attract
Choose the correct sentence:

@ | wish | were you

@ | wish | was you

@ | wish I am you

@ | wish I are you ©:®)
Choose the correct prepositoin in the
sentene '"He hankered -- fame:

@ for @ to

® from ® after
Which form of the word is adjective?

@ Resolute @ Resolve

@ Resolution @ Resolutely @

The door opened automatically. The
verb in his sentence is-

@ Transitive verb @ Linking verb

@ Intransitive @ None of these @
'Man cannot live alone' the world alone
is used here is-
@ Pronoun

@ Adjective

@ Perposition
® Adverb

Y,

Y.

qo.

®.

ar.

Q9.

q8.

qe¢.

qu,

PR ©fE AFrwt : e

Correct passive form of the sentence.
The boy pleased us' is-

@ We were pleased by the boy
@ We were pleased with the boy
@ We were pleased to the boy
® We were pleased at the boy

Choose the correct spelling-

@ Asesment @ Asessment
@ Assesment @ Assessment
Identify the correct meaning of "To keep
one's head'.

@ To save oneself

@ To keep calm

@ To be self-respectful
@ None of these ©: Q)
Blue chips are-

@ Securities issued by the Government

@ Industrial shares considered to be a risky
investment

@ Industrial shares considered to be a safe
investment

@ Nopne of these ©: D)

What is the antonym of ‘Delete’?
@ Injure @ Insert

@ Delay ® Trap
'Neglect" *=foa synonym Tr=-

@ Care @ Carelesness
@ Attention ® Watchfullness &)
'I-- to meet you ever since | read your
first novel' *ArgIes 3d< =13 T

@ have been hoping

@ have hoped

@ hope ® am hopping @
'Feed the baby-- milk' = *FZ Féw
I P2

@ to @ in

® on ® with ©: D)
Report the following in "Indirect speech;
He said to me. ""How did you do it".

@ He enquired of me how | had done it

@ He said to me if | had done it

@ He said to me that I had done it

® He enquired of me if had done it

@)\9{{-%»{Q00)
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qq,

av.

PB.

bo.

b,

R,

b8.

be.

bQ.

He said to me Do you like music?" the
indirect form of this is-
@ He said if I lek music

& He asked me do | like music
@ He asked to me if | music
@ He asked me if | iked music

MER 9F (FC SPNET W (FG -a8 I/
Fé< translation & G?

@ A stitch in time saves nine
@ Always save the time

@ Time and tide wait for none
® Time flies very fast
Correct negative form of the sentence
Everybody hates a liar.
@ Nobod loves a liar

@ Anybody loves a lair
@ None loves a lair

® All do not loves liar

When NOble Prize on literature was started?

® 1911 @ 1891

® 1901 ® 1891 ©:9)
I @ 12

® Tore @ Tfes

@ FrSre ® wfes 5:®
I =6 Aow?

@ e @ e

D SreeAN ® wrerEdw ©: Q)
AR oA g Fhe

® ey wie @ TR

@ Tt ® fifern wic
® aol @ fagren

@ fediy @ ST ©: @)
TR @7 Refrerds 1% 2

@ fey @ gorm

® femm ® fast ©:9)
GRS ST =13 -

@ wEq QRN

& e ® et ©:®)
g *w1 e -

@ fvey @ 1y

@ ve ® ey
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DfiarTe SRIEEE G:9)
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ST AT TR 59 @ (¥ 95 5aet CRTAa
Jifers 3foe |

T qF oo *=7 @2

@fw QfFsa

Ofar @eror

Mt: e =

A | RAfe W% | e | Reidfe =

ERE] Bl bl il
B TEN/AERT | A |
Tage  [Regr  [me | e

Teyafefes TAmT @Hi?

PNEIR G QTN

@f = T @ <R

[=G11: TRW * T 2034 FooF AfRert:
fffm @R,  F IZeTE =,
SN e, ST RIS, e v,

i =gfetry, Yo, FErcw, i,
CHETIN CRTeT AT |
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Which of the following sentences is
correct?

®@He neither speaks English nor French
@He speaks nor english or French

@He speaks neither English nor French
®Neither he speaks English nor French

Q0.

Q0.

QW

9.

Q8.

RE.

QY.

RA.

PR ©fE AFrwt : e

M=rst:  Positive  @ite  either......or,
negative RIS neither......... nor pattern
ST IS T |

Fill in the blank with the correct choice:

How much did you .....the book.

®@pay @paid

@pay for ®pay on @
Another word for prejudice is--

@fear @disease
@loneliness ®bigotry
[=51R0T: Prejudice o= FoRFIS, IHAE LT A<
TS *1¥1 bigotry (¢ireify ar «sferer)

A review of the patient’s eating habits
showed that her diet was____in vitamin
B.

®@lacking ®absorb

@overly ®@suffering @

M=srit: Lake in - =@/, lacking in vitamin
B (fSBifid 2 3 w7 IR 1)

The bus is the expensive way toe get
around.

®less @lesser

@least @more @

VIR stire the + superlative degree =% |
Little - less - least
Which one is the subject in the sentence?

@fridge @to defrost
@frost ®@to  defrost the
fridge

We must buy the tickets next week.
®@object ®noun

@adverbial phrase ~ ®complement @
What is all this noise? The underlined
word is a/an.

@Adverbe @ Adjective

@Noun ®@Pronoun
The house is building, The passive form
is-

@A house is beeing built by us

@The mansons are building the house

@It is the house which is being built
®The house is being built

@)wii-biQoo)
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R,

RW.

Vo,

).
oR.
0O,
08,
oe.

Y,

Neither jane nor___ have been to the
opera.

®me Dl

®he ®him ©:9)

M=sr<:  Either.......or, Neither.....nor @3
*FES! pronoun A @I subject pronoun
A I |

_____Nelson is a British warship. Put an
article in the gap.

@A @The

@No article ®An

M=st: Nelson @6 36+ gmerzrs, e s
@RIEE & @9 7t definite article ‘the’
T |

Which one is correct.

®@The ship was drowned in the ocean
@The ship sunk in the ocean

@The ship goes under the ocean

®@The ship was sunk in the ocean ©:9)
Mgt e @ ST ¢F@ drowned, T
I TR TG SR CF@ SUNK J9Ze T @R
317 active voice @ 2T |

What is the antonym of ‘Apex’?

®top @peak

@base ®@pinnacle ©: D)
The word ‘ecological’ is related to-
®@atmosphere @pollution
@environment ®demography

Which spealling is correct?
®@layeing @lieing
®@lying ®lahying
‘Handy’ is the synonym of-
@comfortable Quseful
@convenientto us  ®necessary

Which one is a singular number?
®lice @errata
@phenomenon ®@mice @

‘The negative form of the sentence, “It
always pours when it rains” is

@1 always does not pours when is does not
@It never pours when it does not rain
@1t never rains but it pours

@It never pours but it rain

09,

b,

0.

8o,

PR ©fE AFrwt : e

Mrt: - Affirmative aitsy always  Q1=see
negative 9 N never JIXF FACO I AR

fas AT negative & |

32@3 € T W @ﬂﬂﬁv‘?\:ﬂ?

i %

o e ©:®
=gt = = o.4¢, Q_os 2= o0.3v4, —_O\‘R(Z'
z%mWWQ b G I A 8 &
TRAT 7S I FO?

@ Yoo @320

®seo @svo ©: Q)

MRt «f, 37201 9o TR ¢F 8 uF
T 8 UF T T ALY = WoP
CFQUF AT AANS =F

AAACS, T =8
S EANL® = 9o X 8 = 30
0.3X0.0)X0.008 ‘QQ'WW?

0.0X0,00%
@ 0. ®o0.0d
@o.0x ®o0.00) @
M 0.5X0,05X0,008 _ 0.5X5X8

) 0.0X 0,00 - =o. >

a@F MPTE S¢ BT 8 Qoﬁ?ﬁ@frwmﬁ’
@ B SPHATe G [ide s v ofs

(& SY BIFT ¢o 2T A2
@ ¢:Aa @q: 9
@e: q @8:¢

MIR5IRTT: o (9, S¢ Bl Wed X TS of fNfEre war
el
qR R0 ,,

2 y 2 2 2 2 2

~RATS, S¢X + R0y = db.¢o (X+Y)
=3¢X + Y + dv.€oX + Sv.¢oy

83.

=5.6X = 0.¢Y
SXIY=90@:e=9:9

9, 8, 9, 3, b, W...... HIHT *7IST RIS
Fo?
@ 8o @814
Dee @vo @
M © +8 = 9q

8 4+9=1>5>

A+ 5> =3

N4 =23

Sb + 35 =89
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83, X2 —8x—8y+ 16 +y? &7 TR F© Q@M
FACT @APFE e =@
@ —2xy @8xy
@6xy @2xy
Mt x> — 8x — 8y + 16 + y?
= (=0 + -+ @+ 2(-x)(-y)
+ 2.(—y). 4 + 2.4(—x) — 2xy
=x% +y?+ 16 + 2xy — 8y — 8x — 2xy
=(—x—y+4)? - 2xy
iR 2Xy T TS (A |
a* + 4 937 T fF 52

®(a®+2a+2)(a* —2a+2)

@(a? +2a+2)(a* —2a—2)

@(a? —2a+ 2)(a% +2a—2)

®@(a? —2a—2)(a*—2a+2) ©: 9

BTt at + 4 = () +2.22.2 + (2)° —

432
= (a? + 2)? — (2a)?

= (a%? +2a+2)(a® — 2a + 2)

88. x2—11x+ 304k x3—4x%—2x—15

89,

A A0 -
®x—1) Dx—2)
@(x +5) ®(x—5)

M=t 37 iff= x%2 — 11x + 30

x%? — 6x — 5x + 30

X(x—6) —5(x—6)

=(x—6)(x—5)
T A =x3 — 4x% — 2x — 15
= x3 —5x? +x%>—-5x+3x—15
=x?(x—5)+x(x—5)+3(x—5)

=x-5+x+3)

feefa siae = (x — 5)

8¢. @I BIFR I 4.2 fioE | oS 330 [ o=

S FACS FAIT T2
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The rise in world temperature may
affect —

@ food production @ food distribution

@ food management ® food adulteration

A paragraph deals with —

@ one theme @ double themes

@ no theme @ many themes@
The environment is made up of many
things which are —

@ independent @ interdependent

@ unrelated ® interwoven

The word ‘rearing’ means —

@ producing @ giving birth

@ bringing up ® feeding @

People acquire their mother language —
@ consciously @ by learning

@ unconsciously ®  subconsciously
Greenhouse effect may cause the — of

wildlife.
@ eradication @ elimination
@ improvement @ extinction
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The correct translation of — ®w @&«
P et is —

@ The moon is, as it were, the lamp of the
sky

@ The moon is as the lamp of the sky

@ The moon is the lamp of the sky

® The moon is similar to the lamp of the

sky @
An antonym of ‘Generous’ is —

@ parsimonious @& ceremonious

@ hilarious @ conscious @
The person who sacrifices his/her life for
the sake of his/her country isa —

@ Patriot @ Soldier

@ Lover ® Martyr
Do you know the solution — the
problem?

@ of @ to

® with ® about ©: Q)

'‘Birds of a feather' means —
@ helpful persons
@ persons of same nature
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@ birds of same nature

® birds of same brhaviour
Select the right passive form —
@ | was seized at panic

@ | was seized with panic
@ | was seized by panic

® Panic was seized by me
Which one is correct?

@ Where have you born?

& Where were you born?

@ Where had you born?

® Where are you born?
Who wrote ""Ozymadias™?
@ William Shakespeares

@ P.B. Shelley

@ James Joyce

® Jane Austen

The word "feudal' means —
@ fertile & with
@ colonial @ aristocrat @

Which one is the correct spelling?
@ aristocrat @ aristocrate

@ arestocrate @ aristicate IS
Which one is an Example of
"Homophone'?

@ right, right & some, sum

@ no, knew ® water, drink %)

Which one of the following days has got
recognition of UNESCO?

@ 26th of March @ 21th of February

® 16th of December ® 17th of April )

The word 'massive’ is a/an —

@ noun @ Verb

@ Adjective ® Adverb X9
The phrase 'stands for' means —

@ symbolizes @ locates

@ works ® unties

He hardly belive me, —?

@ dosen't he @ does he

@ hardly he @ none of them@

Which sentence is not correct?
@ If he went there, he may find the man.
@ Simi prefers reading to writing.

.
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@ | was used to having a glass of milk daily
@ | wish | flew in the sky.

The cuckoo sings-spring.

@ at variance with & at
sevens

@ at the adventof @ at the foot of @

Which one is correct?

@ | never mind go there

@ If you help me, I could help you.

@ We had better to prepare our lessons

® He speaks as if he were a scholar.
I said to the boy, ""Are you Akib?"" — the
indirect form of this sentence is —

@ | said to the boy if he is Akib

@ | asked the boy that he was Akib

@ | asked the boy if he was Akib

® | told the boy if he was Akib ©: D)

Ao @I @R YT GO AN 9
ETRQUT & T8 T2
@n=2L=1m=0,s=+1/2
@n=3L=1m=2:s=-1/2
@n=2L=0m=0,S=-1/2
®@n=2L=0m=0,s=+1/2 &

7 @9 @S cis — trans I ewdT a2
® C4HsCHBrC(l ® CICH = CHCl

® CH, = CH,

® CH;CH(OH)COOH ©:9)
Rpifs awfa e

@ T Bl @ TH SreNEr

Q@ = 517 ¢ % Srommar

@ 9= BIof ¢ T @l

® T v 8 % Srormar

o @I e AT e CofR wea?
@ CHI @2 NaOH

& CH,COOH «3: NaOH

® CH;COOH @32 CH;COONa
® CaCl, @ K,C O

fem 387 =tife PH @ 6 | a7 &y wilt oS <o-—-
@ Carbon dioxide & Oxygen

@ Nitrogen ® Sulphur dioxide
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Riraifor oro@r st MREE FE @ @ Zero-Order reaction
wsw? @ Fractional order
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